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Is dynamic meteorology for everyone?

Geostrophic adjustment

Synoptic-scale motions in mid-latitudes are in approximate geostrophic balance. In fact, the tendency of
winds outside of the tropics, to approach this balance, is a very strong process in the atmosphere. When
it happens that the actual winds are not in geostrophic balance with the pressure systems then both the
winds and the pressure act together to bring the winds back to geostrophic balance. We now investigate
the dynamical adjustment process by which geostrophic balance is achieved. In order to accomplish this
objective we consider a continuously stratified atmosphere as a simplified shallow water system. As before
we utilise a linear perturbation approach for disturbances about a basic state of no motion with a constant
Coriolis parameter. A reasonable value for the Coriolis parameter, fy, is —10~%s~! at about 45°S.

Consider the horizontal momentum equation and the continuity equation in vector form

%ﬁﬁﬁ;%, and
Ow
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The horizontal momentum equations become
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Since the disturbances occur about a basic state of no motion with f = fj
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Expanding the variables into their average and deviation from the average values leads to
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The mean meridional flow is zero (mean flow is zonal), and w and H are constants
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Recall that the shallow water wave speed is /g H,

PN, <82h/ 0!

" o2 +

72 82)+f0HC—O

with ¢ = gH.

Imagine wind field initially in geostrophic balance. Suppose an external process increases the horizontal
pressure gradient that leads to a faster geostrophic wind speed. The result is that the pressure gradient force
becomes greater than the Coriolis force and the wind is subsequently slightly turned towards low pressure
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and accelerates the air. This unbalanced flow eventually obtains geostrophic balance again. We next consider
the mathematics describing the evolution towards geostrophic balance.
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which implies that —— — — is a constant over time.

Jo

Consider an idealized shallow water system on a rotating plane, i.e. fo # 0, with the following initial
conditions:
u' =0,v" = 0and h' = —hgsgn(z),

where sgn(z) = 1 for x > 0, and sgn(z) = —1 for z < 0.
Atz = 0, we have initially A" with the fluid motionless.

Owing to the conservation relationship above, we have

(o™ )= 0=,

because ;) = 0 with a motionless fluid.
¢ W ho
S H \H sgn(x)
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G () B (1) ]

0*h' 0*h' O%H
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R’ is initially independent of y, and due to conservation remains so for all time (i.e. 0%h//0t?> = 0).

Therefore, the equation reduces to
271
9d*h
dz?

Since b/ = h/(x), assume the following wave equation for h/(x), namely

2 = —(f2ho)sen(a).

h' = Aexp(ikz).



Given that the amplitude, A, is represented by hg
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— (ho exp(ikz)) = —k*hg exp(ikz) = —k*H
L=k + [ = —(fgho)sgn(x)
Consider the homogeneous case of hg = 0, we get

R = —f3

i fo

AR
where A\p = \/goiH is the Rossby radius of deformation.
.k = hgexp (z (Z> x)
AR
= hgexp (—)i)
Since this solution depends on the sign of x, ' = hg exp <_;R|> .

Consider the previously derived perturbation horizontal momentum equations. Since 4’ # h/(y) and v’ and
v’ are constant over time

v =0, and

_99 _r
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Since this solution also depends on the sign of z,
JoAr AR
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Because f— oG (the conservation relationship) is constant over time we are able to determine the steady-
0

state geostrophically adjusted velocity and height fields without performing an integration over time. How-
ever, if the evolution of the adjustment process is needed, we need to solve for

Q
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subject to the initial conditions specified above.



To further investigate the evolution process, consider a simplified version of the horizontal momentum
equations and the continuity equations for the case of no y dependence:

ou’ , on'
o v =95,
a /
8711}5 + fou' =0
on’ o'
g —
ot T, =0

Such differential equations can be solved using intrinsic functions of a programming language with the
following initial conditions

u =0
v/ =0, and

h/ represented by a sinusoidal function.

@/
Since h/ = — the solution is for a sinusoidally varying height field.

The figure below shows the results for latitude 45°S for various wavelengths, and for a time evolution of 10
days. Take note that the final balanced wind only has a meridional (v) component, i.e. all the «’ velocities
stabilizes at a zero value, and that the geostrophically adjusted heights’ stability is dependent on wavelength.

Latitude: 45° South
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We have already explained in simple terms how geostrophic balance is reached when an external process
acts on the horizontal pressure gradient. Another very important example where geostrophic adjustment



plays a role is in the initialization process of numerical weather models. If the initial conditions are not in
quasi-geostrophic balance, an unbalanced portion of the initial field will project onto inertia-gravity waves.
These waves disperse quite fast, and after a while the amplitude of the inertia-gravity waves becomes much
smaller, so that all that remains are fields in quasi-geostrophic balance.

Equatorial Kelvin waves

Equatorial waves are eastward as well as westward propagating disturbances, in both the ocean and atmo-
sphere, that are “trapped” about the equator, acting as a waveguide. Equatorial Kelvin waves, which are
waves that move only towards the east, play an important role in the dynamics of ENSO by transferring
changes in conditions in the western Pacific to the eastern Pacific. For example, tropical convection can give
rise to atmospheric equatorial waves, which in turn can cause the effects of convection to be transported
over large longitudinal distances.

Since we are interested only in the tropics for this discussion, we consider an equatorial S-plane. In such
a case, B = 2Q/a with € the angular velocity of the Earth (7.292 x 107°s™!), a the radius of the Earth
(6.37 x 10%m), and the Coriolis parameter f is approximated by 3y, with y the distance from the equator.
The approximation f ~ By (.. y ~ f/f) is mainly restricted to latitudes of 30° north and south of the
equator, which is just beyond 3000 km north and south of the equator. For 20° of latitude, the distance is
about 2000 km.

In order to obtain an understanding of the dynamics of Kelvin waves, consider this set of equations that
represent the horizontal momentum equations and the continuity equation

o ok

ot V= 9%

ov oh

e + fu= —ga—y, and
oh ou Ov

with h (= h(x,y,t)) the thickness of a layer of fluid, and H the mean depth of the layer.

Because Kelvin waves tend to get trapped in a zone around the equator and move only towards the east, we
can simplify the above equations by assuming that v is small enough to ignore entirely. The equations then
become

ou n oh 0
ot Jor T
oh
fu+g=— =0, and
dy
oh ou
—+H—=0.
ot + ox
) ou Oh . . . : :
From the first equation we get % ga—. For the remaining two equations we differentiate both with
x



respect to t:
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Equatorial Kelvin waves as travelling waves, propagte in the zonal direction and decay in the meridional
direction. We therefore consider an elementary solution of the form

h(z,y,t) = y(y)e ket

where k is the zonal wave number, v the frequency, and 7 (y) decaying as |y| — oo. Take note that the phase
speed, ¢, of the travelling waves is related to the frequency so that

&
v=—.
k
Next, we apply the operators of the partial differential equations for h:
0%h . Oh
= —iv—
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0h
— = —k*h
Ox?

o —v*h —gH(—k?h) =0

v =gHE?
Also,
h
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Sy (mei(lm—ut) +7 X 0) — Byikh = 0
dy



Multiplying throughout by ~:

0
—i (’yez(kz ”t)> ~vByikh =0
oy
0
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dy
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d
Since B > 0 and k > 0, and if v > 0, it follows that dl < 0, which is in agreement with the assumption
Yy
that y(y) decays as |y| — oc.
A solution for y(y) = e 2V~ , because
Bk,
dy _ 2k 5o
dy 2u
_ Pk
=—— )

Therefore, in order for (y) to decay, v > 0. However,
v? = gHE?
SV =+\gHEk

Since ¢ = v/k, and the wave group speed, ¢, = Jv/0k
c=++gH and ¢, = +/gH

Because ¢ = ¢, equatorial Kelvin waves propagate without dispersion. When waves are dispersive, their
phase speed varies with &, and the various wave components of a disturbance that originated at a given
location are found in different places at a later time. For non-dispersive Kelvin waves, a group of such
waves will preserve its shape as it propagates in space at the phase speed of the wave (¢, = ¢).

We can now finalize the equation that describes the thickness of the layer of a fluid:

h(z,y,t) = y(y)e'ke=rD)

(%)
| — y2
—¢ 2v pi(kz—vt)

5. )Y .
—e 2c ezk(aﬂ—ct)

Because of the importance of Kelvin wave sin ENSO dynamics, we discuss the application of the above
equation in h(z,y,t) as a component of ocean waves. In fact, h is considered here to be the layer thickness
variation (thickening counted positively and thinning counted negatively) over time.

Consider the dispersion of a perturbation generated by a prolonged (i.e., more than a week) wind anomaly
imposed on a stretch of equatorial ocean. The figure below shows the results from a finite difference method
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for the equatorial shallow water model that uses the leapfrog numerical scheme. Only the first 10 days of
the integration are shown. Shallow water waves can also occur at interfaces within the ocean where there
is a very sharp temperature gradient called the thermocline. The figure displays the temporal dispersion
of a thermocline displacement that came about because of the said wind anomaly. One can clearly see
the one-bulge equatorial Kelvin wave propagating eastward, and the much stronger double-bulge Rossby
wave propagating westward. Next we evaluate mathematically when such an eastward propagating wave
encounters an eastern boundary such as the west coast of South America.

Equatorial Kelvin waves: thickening/thinning height in meters

-20 -15 -10 -5 0 5 10 15 20
km x 10°

Figure 1: Numerical evolution of the height field on an equatorial beta plane at the times indicated. The
Kelvin wave moves eastward and the off equatorial Rossby waves move more slowly westward.

Upon making impact on the South American west coast, the equatorial Kelvin waves split up and the result-
ing coastal Kelvin waves propagate poleward into the Northern and Southern Hemisphere. For these coastal
Kelvin waves we ignore zonal wind speeds (u = 0) and assume a constant Coriolis parameter, fy. This
configuration means that the momentum and continuity equations become

oh

—fov + ga—c = 0, with h, the thickness of the layer along the coast
x

0 oh 0 oh
a—;’ +g%,0 =0, resulting in 8—: =05
Oh, ov
d H—=0

and 5 T,



Differentiating with respect to ¢:

o\ ot oy
2h, 0 [ Oh.
. H— (- —_
o T ay<gay> 0
%,
ST

2 (% u2)

2
ke _

Oy? 0

For the coastal Kelvin waves that propagate only in the meridional direction, we consider a solution of the
form
he(x,y,t) = ye(a)e =)
Applying operators:

9%h,
ot?

9%h,
Oy?

= (—iv)*h. = —1°h,

= (il)*he = —*h,

o —V?he — gH(—*h.) =0

P = gHP?
cov=+\/gH(
Sincec:%:j: gH
v

and ¢, = gﬁ =++\/gH

Therefore, coastal Kelvin waves are also non-dispersive because ¢ = ¢,.
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Pressure as a vertical coordinate

Transformation of the horizontal pressure gradient force from height to pressure coordinates:

z
A

Po

(1/
O 0 >

{(po + dp) POL _ {(po + dp) poL <5Z>p

ox 0z

Limit as 6z — 0 : [Wp)_po] o <ap>

o0z 0z
Limit as dz — 0 : w — @
ox . oz ),

o). (2).(3),

0
Hydrostatic equation: a—p = —pg
z
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L _Y(opN __ (9=
T op \ Oz Z_ g 8xp
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Isobaric: Characterised by equal or constant pressure, with respect to either space or time.

1 /op\ 82
() -)

_1 51’) :_(3‘1’> 1.26
p(f?y . 9/, (120

= In the isobaric coordinate system, the horizontal pressure gradient force is measured by the gradient
of geopotential at constant pressure.

Recall the geopotential

and

Advantage of isobaric system: density is not explicit in the pressure gradient force.
1/0 1 /0 1=
HERTGR
p\oz/), p\dy/, P

(), (3), -
z p Y p

Note:
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A generalized vertical coordinate

Aim: To obtain a general expression for the horizontal pressure gradient; which is applicable to any vertical
coordinate s = s(z,y, z,t)

z
A
s = constant
Pc
0z
ox l
>
PA PB
Gradient: M
o

Pc—Pp PC—PBCLZ
ox - oz ox

Pc—Ps Pa  Po—Ppdz Py

Sz or 5z dxr Oz

Pc—PB—PA_Pc—PB(SZ PA

ox N o0z ox Ox

Pc—Py Pg  Pc—Pgéz Py

ox or 0z ox  Ox

PC—PA_PC—PBciz_’_PB—PA
ox - 0z ox ox
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Po — Py
0z
oz

Pp — Py

Taking the limits as dx, §z — 0

=

ity: 0 _ (93 (9p
Identity: 9 (8,2) <83>

@)

o\ _op 0=\ (%
&L‘S_@z@xs or ),

: along diagonal where s is constant

: its diagonal is constant s

: along x where z is constant

(1.27)

“(2:) () (52).~ (52).

dp 0s [0z dp
(axl = <ax>s (as) (128
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Basic equations in isobaric coordinates

The horizontal momentum equation

2 o= —;gg (2.24)
%’ 4 fu= _;g?y” (2.25)

In vertical form: .
%‘t/+fl€xx7:—;ﬁp 3.1

where V = ju + jv is the horizontal velocity.

L fopN (9% g i[9\ __(9®
p \ Oz Z_ szpa p \ Oy Z_ 8yp

DV I .
%Jrkavz—vpcb (6p < 0)

From page 12:

ﬁp: horizontal gradient operator (p held constant)

D_0 Drd Dyo Dpo

Dt~ ot Dt ox Dt dy = Dt dp
0 0 0 0

Dp . . . . .
where w = Flt) is the “omega” vertical motion, the pressure change following the motion.

Consider equation (2.24) again:
Du 10p
— = fu=-"2%,
Dt pOx

10p

the pressure gradient force (Pgf).
p Ox

with fv the Coriolis force and
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On the synoptic scale, the order of magnitude of the meridional wind speed, v, is about 10ms~!. Therefore,
the order of magnitude of the Coriolis force, | fv],is (10™*s™!) (10ms™'), which is 107> ms ™2

10
Also on the synoptic scale, the Pgf, fa—p has a scale of approximately
p O0x

1 10hPa _ (kg”'m?®) (1000Nm~2)
1kgm—31000km 1 000 000 m
=10"3kg 'kgms 2

=103ms2

I _ . Du :
The Coriolis force and Pg f are, therefore, of similar scales. We can thus infer that — (acceleration) must

be small, provided that significant flow curvature is absent, in order for the two forces to be in balance.

Geostrophic wind
‘_/;] = fug + fvg

Vectorial form of the geostrophic wind:

L. 1
Vo=kx —V
I of 7
fVg=kx=Vp <—16p:g5z:6<1>>
p
———

No density term!

Thus, a given geopotential gradient implies the same geostrophic wind at any height, whereas a given
horizontal pressure gradient implies different geostrophic wind values depending on the density.

From the vector form of the geostrophic wind and the definition of ageostrophic wind:

L Op and
Vg = — — Vg =V — U
Y pf ox ¢ I
) —v—i@
.. a — pfax
190p
..fva— U—;%

Ageostrophic flow must therefore also be small on the synoptic scale.

As aresult of the approximate balance between the Coriolis force and Pg f, both acceleration and ageostrophic
motion are small on the synoptic scale.

Additionally, it can be shown that for constant Coriolis parameter (f = fj) that the geostrophic wind (179)
is non divergent. This implies that the flow is purely horizontal (i.e., w = 0).
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Exercise: The definition of the geostrophic wind in vector form is
V) = F 0

Derive the divergence of the geostrophic wind for BOTH a constant and variable definition of the Coriolis
parameter. For a variable Coriolis parameter, first show that

then consider

where a (= Rp) is the radius of the Earth, ¢ is the latitude and y the length along a latitude circle, to show
that for a variable Coriolis parameter the divergence of geostrophic wind is equal to

w cot ¢
g RE
Solution:
For constant Coriolis parameter:
7, = F x 90
- ~ > (- 0- 0=
Vy) = k —i+—3|®
T (0 =9 (Fx (574 57)0)
R - A P
Vs (396‘7 8y2>

For variable Coriolis parameter:
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We have shown above that V - [1_5 X ﬁ@} =0

V- (fVy) =0
V- (fugi + fog)) =0

a_.’ a_’ - re
. (z—i— a—y] “(fugt + fvgj) =0

v
=Ly, (A)

From the figure

oy = adgp
L _1n
oy ado

_of

g = 3y

1of

adg

= iaa(b(QQsinqﬁ)

202
= — cos ¢
a

oV V, = == cos $(2Q2sin ¢) o,
a
Uy cos ¢
a sin ¢
cot ¢

cot ¢ B)

Equation (A) can be analysed in order to show the variability of divergence with latitude. The divergence
of Vj is directly proportional to 3 and indirectly proportional to f. Figure 2 shows the variability of the
Coriolis parameter, f, with latitude. Many features of f become immediately apparent. Firstly, as we know,
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the Coriolis parameter is negative in the SH and positive in the NH. The magnitude of the Coriolis parameter
reaches a maximum at the poles and is zero at the equator. Values of the Coriolis parameter are of the order
10~%s~!. From Equation (A), it can be seen that the equation is undefined at the equator where f = 0.
However as |f| — 0 close to the equator, it follows from equation (A) that the divergence becomes large

and ‘V : Vg‘ — 00. Conversely, as | f| increases towards its maximum value, the divergence of V;; becomes

smaller such that ‘6 . ‘_/;]‘ — 0. For completeness, the -term is also shown in Figure 3. The magnitude of

the S-term increases to a maximum towards the equator and decreases towards the poles. Note that (3 is very
small and of the order of 10~ m~'s~!. The contribution of /3 to the amount of divergence is therefore
similar to that of f where it contributes to a greater magnitude of divergence towards the equator whilst a
lesser magnitude of divergence close to the poles.

Coriolis Parameter
T T T

60 - b

201 1

Latitude

-1.5 -1 -0.5 0 0.5 1 15
X 10%s™

Figure 2: The variability of the Coriolis parameter with latitude.
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Beta = df/dy
80 b

40 - 1

Latitude

X 0.1618
Y -45

1 1 1 1

0 0.05 0.1 0.15 0.2 0.25
X 1010 ms

Figure 3: The variation of beta with latitude. Take note that the value of 3 is of the order 10~ "' m~!s~! at
45°S.

A calculation of the divergence term in Equation (B) provides corroboration of our analysis of Equation (A).
The variability of divergence as given by Equation (A) is plotted in Figure 4 below for a number of different
vy values.

Divergence of Vg = -(cot(phi)/R) x Vs

-10
-20
-30
X 0.1256
-40 Y -45

Latitude

50 i (Poleward flow) ¥ (Equatorward flow) |
60 =T
5
70T _ 107
Vg (m/s) = 20
-80 40|
— 80
_90 Il 1 1 1
-1 -0.5 0 0.5 1

X104 s

Figure 4: The divergence of the geostrophic wind for a Coriolis parameter that is not constant.
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As shown mathematically above, Figure 4 shows that for any v, the divergence of 179 — 00 as the latitude
— 0. Conversely, the divergence of V;, — 0 as latitude — —90°. For equatorward flow (v, > 0), divergence
occurs, whilst for poleward flow (v, < 0), convergence (negative divergence) occurs.

Importantly, the amount of divergence is small for the majority of the hemisphere, with the exception of flow
near the equator. Near the equator, the Coriolis force is very weak or close to zero and thus the geostrophic
flow is divergent (i.e., the geostrophic approximation does not hold here since the Coriolis and pressure
gradient forces are not in balance). The lack of Coriolis force at the equator is the primary reason why
Tropical Cyclones cannot form close to the equator.

The continuity equation

Lagrangian control volume: §V = dxdydz

Hydrostatic equation:

P _
S0z = —iép

Py
S0V = —iéxéyép
Py

Mass, conserved following the motion:
oM = péV

1
SOM = —§5x5y5p

Thus,

1 D g D [éxdydp\
WE@M) - dxbydp Dt ( g =0

1
The last expression follows from the conservation of mass where Dgt((SM ) =0 = 5—MD£t(5M ) = 5LM
Therefore,
g D dxdydp\ 0
dxdydp Dt g N
g ozoy D g ozop D 9 %P D5 0 (Chainrule)
dxdydép g Dt b dxdydp g Dt 4 Szoydp g Dt =~
LD e Ly L 5= 0
5z Dt°" oy Dt 4 op Dt p=
1 Dx 1 Dy 1 Dp
s =) s (2 ) =5 (22 =
ox (Dt>+5y (Dt>+5p (Dt) 0
Iy I Iy
b, b G _
St oy Op
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Taking limits as dx, oy, dp — 0

And dx, 0y are evaluated at constant pressure

ox 8yp op

~
No density, no time derivative!

Ow A
L vV
op v

- o 0
Horizontal divergence: V-V > 0 — 8—w < 0, vertical squashing.
P

¥ ..o % -0

e e RV

Figure 5: Algebraic signs of w in the midtroposphere associated with convergence and divergence in the
lower troposphere. [Source: Wallace, J.M. and Hobbs, P.V. (2006). Atmospheric Science: An Introductory
Survey, 2nd Ed. Academic Press, pp. 483]

The thermodynamic energy equation

First law of Thermodynamics:
DT Dp
— a2t = 242
“pr D7 (2.42)
Dp . ) ) . ) . ..
where — = w and J is the diabatic heating rate; the rate of heating per unit mass due to radiation,

conduction, and latent heat release.

c 8—T+u8—T+va—T+wa—T —ow=J
P ot Oz y Op N

Equation of state: pa = RT'

( or orT or ) oI RT J

T\ ot Ox oy cp Op) o
WH?.ﬁT_w(m“_aT) _J
ot cpp Op Cp

22



RT 0T
Static stability parameter for the isobaric system: S, = — — —
cpp Op
_or
ot Cp

ry-r
Py
For observed lapse rate equal to the dry adiabatic lapse rate, S, = 0

It can be shown that .S}, =

— —

T
T yer- 2

ot Cp
If the motion is adiabatic, J = 0
or - =
S.—+V-VI'=0
ot

f—&-v-ﬁT—Spw:i

Exercise 1: A frontal zone moves over Tshwane overnight so that the local temperature falls at a rate of

1°C - h™!. The wind is blowing from the South at 10 km - h™!. The temperature is decreasing with latitude

at a rate of 10°C per 100 km. Neglecting diabatic heating, and for the case of the observed lapse rate being
equal to the dry adiabatic lapse rate, use the thermodynamic energy equation to describe the local rate of

temperature change, and the advection of temperature over Tshwane.

Solution: o7 ;
— +V -VT - Spw=—
ot p
oT -
L— =V .VT
T \%

T
Left hand side: %t =—1°C-h!

Right hand side:
- > = T~ T
—V VT = —(ui + vj) - (gz + gyj>
__,or_ T
N Ox oy
T
= _U?)y (since u = 0)
—10°C
— _ bl
=—(10km-h™") (100km>
=1°C-h7!

In order for the left and right hand sides to be equal, the right-hand side must be reduced by 2°C -h™!. Such
a reduction may be caused by adiabatic cooling due to vertical advection.

(v>0)
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.. Right hand side = 1°C -h~* —2°C - h !
=—-1°C-h!
= Left hand side

Exercise 2: Explain in words what this form of the thermodynamic energy equations represents:

or - =
el VT =
at—H/V 0

Solution: It represents the balance between the local rate of temperature change and the advection of tem-
perature.
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Balanced flow

Assumptions:
1. flows are steady state (i.e. time independent)

2. no vertical component of velocity

Natural coordinates
Defined by the orthogonal set of unit vectors #, 77 and k

¢ : parallel to the horizontal velocity at each point

S

: normal to the horizontal velocity; positive to the left of the flow direction

o]

: vertically upward

Horizontal velocity V = Vi where V is the horizontal speed, non-negative scalar

<
1
Sl

where s(z, y, t) is the distance along the curve of parcel.

Acceleration following the motion:

DV _ D(Vi)

Dt Dt
DV . Dt
= t4+ =
Dt +DtV
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According to the figure: ds = |R|d7) (“s=r0"),

where R is the radius of curvature following the parcel motion.

0s ot
oY =—=— (considered small triangle)
IRl ]
il =1

0s

— = |0t

lof _ 1

§s |R|

In the limit s — 0, 6t becomes parallel to 77

Dt 7 . . .
— 5. = = (because 7 is a unit vector: |7i| = 1)
DI _ DiDs i _bs
Dt DsDt R - Dt
DV DV it
— =t—+V(=V
=~ ot o t (R )
DV DV _V?
=t— 4+ fi— (3.8)

‘Dt Dt R

where:

—

DV
D is the acceleration following the motion.

DV
tﬁ is the rate of change of speed of the air parcel.

2
! 3 is the centripetal acceleration due to curvature of trajectory.
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Acceleration due to Coriolis force:

=—fkxV
= —fkxVE
= Vi

-

N

Horizontal pressure gradient = —ﬁpq)

0
Change of geopotential along the curve = s
S

Change of geopotential perpendicular to the curve = an

n
= 8@ d 8@
In natural coordinate system: = V,® = —t 4+ —n
ds on
DV S oo Db 0D
(3.2)
DV DV _V?
And — =t— 4+ 11—
“Dr "Dt "R
DV 0P V2 oo V2 0P
i os W R VeG = gtV Eg,
— ~~
(3.9) (3.10)
D o
—V = —a— : force balance parallel to the direction of flow.
Dt 0s
V2 P I
N + fV = o : force balance normal to the direction of flow.
n

For motion parallel to geopotential height then ® remains unchanged:

0D
= _0
0s
DV
Dr =0

— Speed is constant following the motion
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If the geopotential gradient normal to the direction of motion is constant along a trajectory

0P
%—0
V2
..E—I—fV—O
_V2 _
v f

— radius of curvature, R, is constant.

Geostrophic flow

Geostrophic motion: flow in a straight line (R — +00) parallel to height contours.

2

For R — + — =0
or oo,R

In geostrophic motion the horizontal components of the Coriolis force and pressure gradient force are in

exact balance, thus V' =V,
o®

S0+ fV = fV, :*%

@3.11)

The balance

Coriolis force

Co
//\\
Py + 0P
> Vg
%)
\Vd
P

Pressure gradient force

The actual wind can be in exact geostrophic motion only if the height contours are parallel to latitude circles.

Although the geostrophic wind is generally a good approximation to the actual wind in extra-tropical
synoptic-scale disturbances, in some special cases this is not true!

In the Southern Hemisphere, the geopotential values are smaller on the right side than on the left side relative
to the direction of the geostrophic wind. The pressure gradient force is therefore directed towards the right
of the wind. In order to manifest a particularly simple balance of horizontal forces on the flow, the Coriolis
force associated with this wind is directed to the left.
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Inertial flow

If the geopotential field is uniform on an isobaric surface so that the horizontal pressure gradient vanishes

555

(3.12): Coriolis force and centrifugal force are balanced.

2
% +fV =0 (3.12)

v
R—=——
/

NOTE:

1) In the atmosphere motions are nearly always generated and maintained by pressure gradient forces

2) The condition of uniform pressure required for pure inertial flow rarely exist

Balanced flow

Consider the natural coordinate system where the unit vector 7 is normal to the horizontal velocity and is
positive to the left of the flow direction. This configuration applies to both hemispheres.

NH R >0 for cyclonic flow

R < 0 for anticyclonic flow

R > 0 for anticyclonic flow
R < 0 for cyclonic flow

R > 0 when the centre of curvature is in the positive 77 direction.
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0o
Regarding —:

on
For the NH:

For LOW pressure system

0P <0 (geopotential decreases towards centre)
on >0 (71 pointing towards centre of low)
0P

T=— <0
on

For HIGH pressure system

0® >0 (geopotential increases towards centre)
on <0 (7 pointing towards centre of low)
0P

L— <0
on

For the SH:

0P
For LOW pressure system 6® < 0, dn < 0 therefore an >0
n

0P
For HIGH pressure system 6® > 0, dn > 0 therefore I >0
n

Cyclostrophic flow

If the horizontal scale of an atmospheric disturbance is small enough, the Coriolis force may be neglected
when compared with the centrifugal force and the pressure gradient force:

V2
Centrifugal force T > fV

0P
Pressure gradient force n > fV
n

From Eq. (3.10):
v:__ o
R 0On

9o\
V= <_R8) , the cyclostrophic wind speed.
n

i)
Casel:R>Oand8—>O
on

0P
Ra—n>0

0P
..—Ra—n<0

—> Negative root, V physically impossible
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CaseZ:R<0anda—¢>O
on

0P
R%<0

0P

= Positive root, Vphysically possible

i)
Case3:R>Oand8— <0
on

oo
R%<O

0P

—> Positive root, V physically possible

Case4:R<Oanda—(I)<O
on

0P
Ra—n>0

oL
..—R%<O

= Negative root, V physically impossible

The mathematically positive roots of the speed of the cyclostrophic wind correspond to only two physically
possible solutions:

0P
R<0and% >0 (Case2)

and

0P
R>0and% <0 (Case3)

Consider the figures on the next page. Since the Coriolis force is not a factor, around lows, cyclostrophic
winds can turn either clockwise or counterclockwise. As discussed in the balanced flow section, 77 is positive
to the left of the flow direction, R > 0 when curvature centre is in 77 direction.

Therefore,
NH: Cyclonic flow R > 0 and anti-cyclonic flow R < 0

SH: Cyclonic flow R < 0 and anti-cyclonic flow R > 0
0P

Regarding —:
on

Since we are dealing here with (intense) low pressure systems §® < 0 for cyclonic and anti-cyclonic flow,
and for both hemispheres.
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0P
NH: Cyclonic flow én > 0 therefore an <0
n

0P
SH: Cyclonic flow én < 0 therefore n >0
n

0P
NH: anti-cyclonic flow dn < 0 therefore I >0
n

0P
SH: anti-cyclonic flow dn > 0 therefore o <0
n

Cyclostrophic wind classification:

0P

% (+ / —) R>0 R<O0
Positive Case 1: unphysical Case 2: physical

NH: anti-cyclonic; SH: cyclonic
Negative Case 3: physical Case 4: unphysical

NH: cyclonic; SH: anti-cyclonic

CASE 3

Cyclonic

R>0,82 <0 R>0,%2 <0

NH
L

Anticyclonic

CASE 2

v

R<0,22>0 R<0,22>0
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Exercise: By means of drawing circular symmetric motion figures, explain why there can be no cyclostrophic
balance around a small high pressure centre.

Solution:

Regular LOW Regular HIGH

- - -9 Co

Pgf f— 3 Ce

vy

Balanced forces Forces not balanced

For cyclostrophic flow, the Coriolis force becomes negligible compared with other two forces. For a LOW,
there can still be balance. In this case between Ce and Pgf. However, for a HIGH, Ce and Pgf point in the
same direction. So no balance is possible here.

The gradient wind approximation

Gradient Flow: Horizontal frictionless flows that is parallel to the height contours so that the tangential

. . . DV
acceleration vanishes, i.e. Dr =0.

Gradient Flow is a 3-way balance among:
1) The Coriolis force
2) The centrifugal force
3) The horizontal pressure gradient force

A gradient wind is just the wind component parallel to the height contour that satisfies:

V2 oD
§+fv_f% (3.10)

the gradient wind equation

For a quadratic equation ax? + bz + ¢ = 0, solving the equation for

_ —b+ (b — 4ac)%
e 2a
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For geostrophic flow

od
Wo==%,
0P
" On —1V

- fR f2R2 %
vt (PR )

Determining the mathematically possible roots of (3.15)

2 p2 3
V:—fZRi<ff +fRVg>

the gradient wind

109 . .
— — i.t.o the pressure gradient

By the geostrophic approximation V, = —

1
__fR fQRZ_ aﬁ 2

Objective: Determine the cases for which the solution of (A) is both positive and real

The gradient wind approximation: SOUTHERN HEMISPHERE (f < 0)

0P
Casel: For R >0and — >0
on

R
fR <0, —%>O
0P oo
Ra—n>0, —R%<0

(3.15)

(A)
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22
liiJ
Since V has to be real, fTR — Rg >0

_ fR (PR 0%
V__2i<4 Ran

For positive root:
. fR .
V' = Positive value —5 + positive(+,/)
.. V' > 0, and therefore physically possible.

2R2
>0

For negative root: First consider

2 P2 2 P2
. Ll IR 8(1) <smce — Ra—@ < 0)

4 - 4 8n on
' F2R? 1/2 y F2R? Raq) 1/2
’ 4 4 on

But we are considering negative roots:

2p2\ 1/2 2 2 1/2
()" ()

4 4 on

1/2 1/2
"_fR_<f2R2> < fR (fQR2 RE)@) v

2 4 2\ 4

T - 5] A
. o (Lmy

R N

f <0fr0m>l<

..V > 0, and therefore physically possible.

*
lz| =2 for x>0
lz|=—2z for x <0
CaseZ:ForR<0anda—q>>O
on
fR

fR>0, —7<0
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Rg(:<0, —Rgi>0
f2R2 87‘1)
1 R6n>0

For negative root:

Forreal V,

v _f7R B <f2R2 _Ra(I,)l/Q
2 4 on
= negative value — positive value
.. V' < 0, and therefore physically impossible.

2R2
>0

For positive root:

1 1 o since — R— >

on
. f2R2 1/2< f2R2_R8£ 1/2
o 4 4 on

But we are considering positive roots:

F2R? 1/2 F2R? 83 1/2
+< 4 <t 4 R@n

2 P2 2 P2
[PR* PR 0% < o O)

O fR (PR fR (PR _0o\'?
~‘2+< 1 ) <‘2+< 1 ‘Ran> =V
. fR (PR fR |fR| fR [R
~~V>‘2‘( 1 ) - 2“2*2

..V > 0, and therefore physically possible.

Case 3: ForR>Oand8—q) <0

on N
fR <0, —% >0
oo o
Ra—n <0, —R% >0
2 P2
Since V has to be real, fi - Rgi >0

For positive root:

R
V' = positive value <—'g> + positive value(+,/)

.. V' > 0, and therefore physically possible.
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2 p2
>0

For negative root:

_ f°R?  f’R? 0P . od
] < 1 _Ran s1nce—Ran>0

. f2R2 1/2< f2R2 Raq) 1/2
4 4 on

But we are considering negative roots:

2p2\ 1/2 2 P2 1/2
-(57) - (5
4 4 on

2p2\ 1/2 2 2 1/2
IR (PRNV R (PR e\
2 4 2 4 on

2 ()" 42|22 ()

V<=5 2 2 |7 2

..V < 0, and therefore physically impossible.

Case 4: For R < Oanda—(I> <0
on

R
fR >0, —%<0
od od
R— >0 —-R—<0

8n> ’ 8n<

2 P2

ForrealV,fR —Ra—q)>0
4 on

For negative root:

yo IR _ (PR 0w\
2 4 on
= negative value — positive value

.. V' < 0, and therefore physically impossible.

2 p2
>0

For positive root:

1 - 1 on n

. f2R2 1/2> f2R2 Raq) 1/2
4 4 on

2 p2 2 p2
el el R8<I> (since — RZ—(I) <0

(since % < 0)



But we are considering positive roots:

f2R2 1/2 fQRQ 9 1/2
+<4 >4 (I g2

2p2y\ 1/2 2 2 1/2
2 4 2 4 on

. fR f2R2 1/2_ fR
V< 2 4 a 27L 2 2 2

..V < 0, and therefore physically impossible.

fR|_ fR IR

The following table is a summary of the four cases

Gradient wind classification in the Southern Hemisphere

0P
o (+/-) R > 0 (anti-cyclonic) R < 0 (cyclonic)
n
Positive Case 1 Case 2
+ root : physical + root : physical
— root : physical — root : unphysical
Negative Case 3 Case 4
+ root : physical + root : unphysical
— root : unphysical — root : unphysical

For cyclonic flow (R < 0) the only physically possible configuration is:

R<0Oand — >0 (similar to result in the cyclostrophic wind classification section)

on

n > (0 makes sense since 6® < 0 and dn < 0. Also consider the geostrophic wind equation
n

10d
Vv, = =% %m (3.11)
1
Vg = _(neg) (pos) >0

0P . .. .
For anti-cyclonic flow (R > 0), o can be either positive or negative.
—_— n

0P 1
So, for > 0:Vy = —@(pos) > 0 as was found for cyclonic flow.

o)
Case 3: However, for a— <0:V,=—

1
on g (neg)

(neg) < 0, which is anti-geostrophic.
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Again consider:

V2 0P
— V=- 3.10
7/ 7 (3.10)
The geostrophic wind is defined by
0P
=—— 3.11
Vo= (3.11)
V2
1 [V? 1
— V)=V,
v (7t v) = i)
|4 Vy . L . .
fiR +1= A the ratio of the geostrophic wind to the gradient wind.

From the balanced flow section:

Northern Hemisphere (f > 0):

R > 0 for cyclonic flow
R < 0 for anti-cyclonic flow

.. Rf >0 for cyclonic flow
Rf < 0 for anti-cyclonic flow

Southern Hemisphere (f < 0):

R < 0 for cyclonic flow
R > 0 for anti-cyclonic flow

.. Rf > 0 for cyclonic flow
Rf < 0 for anti-cyclonic flow

Typical values for V,f and R: 5m-s~!, 10~*s~! and 500 km.

] L _ 5m-s1 _ o1
T fR O 1074s71500000m

For cyclonic flow (both hemispheres):

Vg
< =1+01=11
=1

S Vy=11xV
= Vj, >V, sub-geostrophic
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For cyclonic flow, the geostrophic wind is stronger than the gradient wind.

For anti-cyclonic flow (both hemispheres):

Vo
—=1-01=09
V

Vyg=09xV

= V, <V, super-geostrophic

For anti-cyclonic flow, the gradient wind is stronger than the geostrophic wind.

Therefore, the geostrophic wind is an overestimate of the balanced wind in a region of cyclonic curvature,
and an underestimate in a region of anti-cyclonic curvature.

Next we want to illustrate the force balances for the permitted solutions. For this purpose we want to
determine

1) the direction of these forces
2) their relative sizes
Take note of the following:
1) the centrifugal force (C,) always points outwards,
2) the pressure gradient force (Pgf) is always from a high to a low pressure system,
3) the Coriolis force (C,) is to the left of the motion in the Southern Hemisphere, and
4) the vector 71 is positive to the left and perpendicular to V.
First, determine the sign of R: R > 0 = anti-cyclone, or R < 0 = cyclone.
Second, draw a circular flow structure with 77 perpendicular and to the left of V.

Example, for R > 0 (anti-cyclone):

1%

)
Third, consider the sign of g
n

0P
For example, for — > O:
on

For the circular flow above, n > 0 in the direction towards the centre of the circle. Therefore 6® > 0 in
the direction of the centre of the circle, which means that here we are dealing with a high pressure system.
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Now we can complete the circular flow structure above by including the appropriate forces:

0P
This flow represents Case 1 <R >0, o > O)
n

Take note: For now we are not concerned with the relative sizes of the vectors that represent the three forces,
but only with the direction of these forces. The discussion of the relative sizes is still to follow.

C, : Coriolis force
Ce : Centrifugal force

Pgf : Pressure gradient force

ForCaseZ,R<Oand8—(I) >0
on

Owing to the sign of R (< 0), the circular flow will be cyclonic:

e

. . od )
In the direction towards centre of circle, n < 0 and 5 > 0, therefore & < 0, which means we are
n
dealing with a low pressure system.

Now complete the circular flow structure by including the appropriate forces:
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0}
For Case 3, R > 0 and 8— <0
on

Since R > 0, the circular flow is similar to Case 1 (anti-cyclonic) and dn > 0.

0P . . .
However — < 0, therefore 0® < 0, which means we are dealing with a low pressure system that rotates
n
anti-cyclonically.

ForCase4,R<Oand8—(I) <0
on

Since R < 0, the circular flow is similar to Case 2 (cyclonic) and dn < 0.

0P
However — < 0, therefore 6® > 0, which means we are dealing with a high pressure system that rotates

n
cyclonically.

vV

This configuration leads to an unbalanced circular flow structure (all the forces are in the same direction)
that is not physically possible.
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We have now managed to determine the direction of the three forces for various circular flow structures.
Next, we will attempt to obtain insight into the relative sizes of the forces associated with the flow structures.

Consider the following parameter values representative of extra-tropical circulation in the Southern Hemi-
sphere:

f= —107*g7!
|R| = 10°m
P
g =10"3ms?
n

Calculate the gradient wind speeds by using (3.15) of Holton 4 for each of the four cases.

Casel:R>Oand5—(I)>0
on

Remember that for this case, V' has two physical solutions, one associated with the a positive root of (3.15)
and one with a negative root.

R R
The first term on the right of (3.15) is —%. Since for this case —f? >0,

R ..
V>-— % for a positive root

R
V< - % for a negative root, as shown with the calculation of V' below.

By using the parameters above

fR —(=107*s7!) (+10°m)
2 2
=50ms*

1
2

(=10~*s71)? (+106 m)®
4

SV =50ms "+ ( — (+10%m) (1073 m82)>

=50ms ' +38.73ms"!

R
For a positive root, V' = 50 + 38.73 = 88.73 m s~ > 50, an anomalous high and confirms that V' > —%

This very large speed associated with a positive root makes the circular anti-cyclonic flow anomalous. The
high speed of the gradient wind will result in the centrifugal and Coriolis force becoming large.
v? 0P

To demonstrate this point, consider (3.10): — + fV = ——
R on
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V2 . . . .
— = centripetal acceleration or centrifugal force per unit mass (C.)

R

fV = Coriolis force per unit mass (C,)

0P

T = horizontal pressure gradient force (per unit mass; Pg f)
n

Take note that centripetal force and centrifugal force are the exact same force, just in opposite directions

because they are experienced from different forms of reference (i.e, inward vs. outward).

Next we will calculate the absolute strength of these forces by using the parameter values presented above.

For Case 1’s positive root:

(88.73ms™1)?

C, = =7873x102ms 2~ 10 2ms?
106 m
Co=(10"%s71) (88.73ms™") =8.873 x 10 *ms™? ~ 10 *ms 2
P
8— =10"3ms"2, given
on

Therefore, by using representative numbers we demonstrated that for Case 1 and positive roots, the centrifu-
gal and Coriolis forces are similar in strength, and about one order of magnitude stronger than the pressure

gradient force.

The circular flow structure for an anomalous high may take the following form:

AV

R
For Case 1’s negative root, V = 50 — 38.73 = 11.27m s !, a regular high and confirms that V' < —%

o _ (11.27ms™1)?
106 m
Co=(10"*s7") (11.27ms™ ') = 1.127 x 10 *ms 2 ~ 10 ? ms >

=1270x 10 *ms 2~ 10 *ms2

Pgf =10"2ms™2, given
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The much more realistic gradient wind speed associated with a negative root does not make the centrifugal
force large as was the case with the positive root, but results in the Coriolis and pressure gradient forces
becoming of similar magnitude.

The circular flow structure for such a regular high may take the following form:

For Case 2, only a positive root is associated with a physical solution for the gradient wind.

0P
Remember that for this case R < 0 (cyclonic) and n >0
n

fR 1

Therefore, —5 < 0 and is equal to —50ms™

104 =12 (106 )2
'.V:—50msl+<( 1077s )4( 10 m) —(—106111) (103m82)>

= -50ms ! +59.16ms "

=9.16ms™ !, a regular low
fR

.'.V>—7

o - (9.16ms_1)2
© 105m
Co=(10"*s71) (9.16ms™") =9.16 x 10 *ms > ~ 10 *ms >
Pgf =103 ms™2, given

=8390x 10 °ms 2~ 10 *ms2

The circular flow structure for a regular low may take the following form:
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For Case 3, only a positive root is associated with a physical solution for the gradient wind.

0P
For this case, R > 0 (anti-cyclonic) and o <0
n

R
Therefore, —% > 0 and is equal to 50 ms~*

1
2

(—10_4 s_1)2 (+106 m)2
4

.V =50ms" + ( — (+10°m) (—10_3ms_2)>

=50ms ' +59.16 ms~!
=109.16ms™!

. R
V> 5

Take note that for this case we are dealing with a low pressure system that rotates counter-clockwise (anti-
cyclonically) in the Southern Hemisphere! This flow orientation and high gradient wind speed makes this
circular flow an anomalous low.

109.16ms—1)?
C. = ( W) 109 % 102 me-2 o 10-2 ms=2
106 m

Co=(10""s7") (109.16 ms™') = 1.092 x 10 *ms > ~ 10 *ms™>
Pgf =10"3ms™2, given

The circular flow structure for an anomalous low may take the following form:
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C, C.
_>
L
Pgf
SUMMARY:

Pgf —C,
L= po
Vo
Regular LOW v Regular HIGH
Vv
C, C,
L Pgf
Anomalous LOW Anomalous HIGH
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VA<VB<VC

ACo H

(super-geostrophic)

Consider a highly idealized trough-ridge system in the Southern Hemisphere at an isobaric level, say the
level at 500 hPa. We have shown above that for a regular low pressure system the Pgf > C, > C, and for
a regular high pressure system C, > Pgf > C.. Moreover, we have already shown that for cyclonic flow
Vy >V, and for anti-cyclonic flow V;, < V. The gradient wind speeds at the locations marked A (on trough
line), B (in between trough and ridge lines) and C (ridge line) have gradient wind speeds of respectively
V4, Vg and V. Since the gradient wind speed is less than the geostrophic wind speed at the trough and
is greater than the geostrophic wind speed at the ridge, we have V4 < Vg < V. The gradient wind
speed therefore increases from the trough line towards the ridge line. However, in the absence of curvature
(typically at point B on the idealised flow structure) C. is absent and therefore perfect geostrophic balance
is achieved before the gradient wind accelerates further towards the ridge.

Next we will try to obtain insight into the behaviour of the gradient wind speed for regular high (Case 1,
negative root) and regular low (Case 2, positive root) pressure systems when only the pressure gradient
force is allowed to increase incrementally (1% increase over 250 iterations), while the other two forces are
kept constant. Such an increase in the pressure gradient is reminiscent of a strengthening high pressure
system and a deepening low pressure system, respectively. Figure 6 shows the respective gradient wind
speeds obtained by using the parameter values presented above. The gradient wind speed of the regular high
pressure system becomes imaginary after 93 iterations. This result suggests that for a regular high pressure
system, there may be a limit to the intensity of such a developing system. Moreover, gradient wind speeds
increase indefinitely for the case of a regular low. This result, on the other hand, suggests that there may not
be a limit to the depth of a low pressure centre.
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Gradient Wind Speed for Increasing Pressure Gradient Force

70 | | m— Regular High'
Regular Low

0 L | 1 L
50 100 150 200 250

lterations

Figure 6: Gradient wind speed of regular high and regular low pressure systems by incrementally increasing
the pressure gradient force by 1% for 250 iterations.

 fR . [(fR*  0d\?

V—‘2i< 1 ‘Ran> &)
V2 0P
"= ®)

An increase in the Pgf on the RHS of (B) implies that the Coriolis force and Centrifugal force on the LHS
of (B) must also increase for the forces to be in balance. For a constant f and R, it follows that V' must
increase if the Pg f were to increase. A regular high is associated with R > 0, Pgf > 0 and a negative root

0d ZR?
in (A). Since the term —Ra— < 0 and the term / > 0, it follows that if the Pgf increases substantially
n
f?R? od . . . S
whereby < —Ra— , the term under the root will be negative resulting in V' becoming imaginary
n

or undefined. This is depicted in Figure 6.

Figure 7 shows the results when the pressure gradient and Coriolis forces are kept constant, but the radius of
curvature, R, is allowed to respectively increase and decrease incrementally (1% change over 250 iterations).
The figure shows that there is a limit to how small a high pressure system can become, since the gradient
wind becomes imaginary after only 92 iterations of decreasing K. When R is allowed to increase, the
gradient wind speed decreases. This result indicates that high pressure systems are generally large and have
light winds. High pressure systems with small R and the resulting large gradient wind speeds are unstable
and seldom occur in nature. For a low pressure system, Figure 7 shows that the effect of a varying R is
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likely quite small in increasing the gradient wind speed of this type of weather system. Since & < 0 in a
regular low, it follows from (B) that the centrifugal force actually counteracts the work of the Coriolis force
to balance the Pgf. An intense weather system such as a tropical cyclone therefore relies primarily on the
Coriolis force and Pgf to initiate its development. However, once the tropical cyclone has reached maturity,
the Pgf and centrifugal forces dominate. The following example illustrates this notion.

Regular High Regular Low

20

10

Gradient Wind (m/s)
Gradient Wind (m/s)

10 ' ) ; : 8 ' ' ' '
20 40 60 80 100 20 40 60 80 100
Iterations lterations
s Decreasing R == Decreasing R
e |ncreasing R = |ncreasing R

Figure 7: Gradient wind speeds of regular high and regular low pressure systems by incrementally changing
the radius of curvature, R.

Consider the case of a strong tropical cyclone in the Southern Hemisphere with a central pressure of 950 hPa
and a maximum wind speed of 60 ms~!. Assume that the normal pressure outside the tropical cyclone is
1010 hPa. The centre of the storm is at 15°S. To calculate the Pgf of this cyclone requires evaluation of

0P . . . . .
the o term in the gradient wind equation. Since
n

P _ pg; 0P = goz
o0z
o
569 = P9
1
0 = ——dp
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5o — 15}) _ (1010 — 950) x 102 Pa
p 1.2kgm—3
= 5000 Pakg ™! m3
=5000Nm2kg ! m?
= 5000kgms ?m ?kg ! m?
= 5000 m? s>

A tropical cyclone can be considered an intermediate size system since its typical length scale of 500 km is
larger than that of a coastal low, but smaller than that of a strong mid-latitude cyclone. Therefore, the length

scale of a tropical cyclone is the vortex radius. Therefore TZ’ where R is the radius of curvature.

on " p
0% 5000m?s?

S — ~——— " =0.01ms~2, which is an order of magnitude stronger then the value used before.
on 500 000 m

Since a tropical cyclone always rotates clockwise in the Southern Hemisphere it cannot be an anomalous
low as one of the physically possible solutions of the gradient wind equation. Therefore, tropical cyclones

are regular low pressure systems with 2 < 0 and — > 0. In order to estimate this cyclone’s radius and the

n
importance of the centrifugal force relative to the Coriolis force, consider the gradient wind equation:

V2 0P 0P
=+ fV = R<0,— >0
V= <% an
f =2Qsin(—15°)
=2-(7.292x107°s7") - sin(—15°)
=375 x 107°s7!

V2 0P
R (an t V)
-1
S R=-V? (a(b + fV>
on
= —60% (1072 + (—3.775 x 107°) (60))
= —4.654 x 10° m

= —465.4km, a realistic length scale!

1

V2 60%(ms1)?
Centrifugal force: = =1 65(?5 10)5 m

= 7735 x 10 3 ms2

Coriolis force:  fV = —3.775 x 107°(60)
= —2.265 x 10 ms2

51



Therefore, —~ = 3.4. This result is in contrast to the previous calculation of the relative sizes of the three

forces where,o for a regular low, the Coriolis force is larger than the centrifugal force. Notwithstanding,
for a tropical cyclone presented here, the centrifugal force dominates the Coriolis force by a factor of 3.
However, such a cyclone is still not cyclostrophic for which the centrifugal force is expected to be an order
of magnitude larger than the Coriolis force.

Exercise 1: Consider an anti-cyclone and the case of positive pressure gradient forces. At a radius of 100 km
and associated geostrophic wind speed of 2.4 m s, calculate the gradient wind speeds. Is the ratio between
the given geostrophic wind and the calculated gradient winds in agreement with super-geostrophic flow, i.e.,
Vy < V7 Next, redo the gradient wind calculation, but this time double the geostrophic wind speed and
interpret this result. The Coriolis parameter is —10~% s,

0P
Solution: For anti-cyclone: R > 0 and (given) o >0
n

R =100 000m
V,=24ms!
f= —107%s7!

2 4

(—107%)(100 000) N <(—10—4)2(100 000)? N
2

= 54 (25— 24)2

=5+1ms !

2 p2 3
vz—fp”i<fR +fRVg>

N[

(—107%)(100 000)(2.4)>

For positive root: V = 6ms™*

For negative root: V = 4ms~!

For anti-cyclonic flow, it has been demonstrated that:
Vo<V

Since both V' solutions are greater than 2.4 ms™!, the given geostrophic wind speed. Therefore, the ratio
between the geostrophic wind and the gradient wind is in agreement with the result.

For double geostrophic wind, V;, = 4.8 m s~1

1
V =54 (25— 48)2
= 5+ (negative value)%

Therefore, 4.8 ms ™!

for V.

as a geostrophic wind is unrealistically high since this leads to an unphysical solution
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Exercise 2: When the two terms under the square root of the solved quadratic equation (3.10) are per-
fectly balanced (their sum equals zero), determine the ratio of the anti-cyclonic gradient wind speed to the
geostrophic wind speed for the same pressure gradient.

Solution: .
v (T )
Given : foZ +fRV;=0 = V = —fTR
Ry
A
SV =2V
V
" Vg =2

Exercise 3: Show that as the pressure gradient approaches zero the gradient wind reduces to the geostrophic
wind for a normal anti-cyclone [Hint: make use of this approximation: when variable x approaches zero,
the square root of 1 + z is equal to 1 + = /2].
. . . 109
Solution: Since the pressure gradient approaches zero, so does V;, because V,;, = —?6—.
n

The following approximation has been given: when z — 0, (1 + ac)l/ 2=1+ g

We therefore consider the square root term of the gradient wind equation:

22 : 2R2 [ aV,\]®
S(5 ) =[5 (o )

fR AV, \ 2
3 (14 72)

/R 1 4V,
j:2(1—|—2-ng>

v IR IR 2V,
V= 2i2<1+f§>

For this case, we are only interested in the positive root.

v IR IR
V=4 TE4y,

V=V,
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An alternative view on balanced flow

The gradient wind equation can be expressed in terms of the geostrophic wind:
V2 . .
= + fV — fV, =0, f <0 in the Southern Hemisphere
—> Centrifugal force + Coriolis force 4 pressure gradient force are in balance.

The radius of curvature, R, can be obtained from this equation:

V2
f =f (Vg - V)
V2
V=)
The balance of forces equation divided by the Coriolis force, fV, leads to
2 %
LA R A
fVR 1A%
v V,
s tl-Z=0
JRTTV
Y _Y%
fR V
The last equation represents a straight line of the formy = mz + ¢, withm =landc=-1: y =2 — 1,
ith 4 and Yy
w =— T = —.
YT IR %

Consider the following values of = and then calculate the corresponding y-values:

1
me{—1,0,2,1,2,3}.

Forx = —1:
Ve
e
Vv
..V = =V}, defined here as anti-geostrophic flow.
y=x—1=-1—-1=-2
& V
R= ———— = —— > 0, anti-cyclonic flow
f=v=v) 2f
For x = O:
Y
hap—
V
S Ve=0
y=0—-1=-1
V2
R pu—

Vv
= —— > 0, anti-cyclonic flow
fo=v)y
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F 1
orr = —:
2

For x = 1:

For x = 2:

For x = 3:

Vo _ 1
Vo2
V=2V,
V' >V, anti-cyclonic flow
1 1
o 1=_=
Y73 2
V2 2V
R= S 3 > (, anti-cyclonic flow
1(v-v)
Yy
-9 1
%
V=V,
y=1-1=0
V2
R = ————— is undefined.
fv=v)
Vo _
T
1
-V < Vg, cyclonic flow
y=2—-1=1
V2
R=

————— = — < 0, cyclonic flow
fev-v) f

Yy
-9 _3
|4

1

Vo<V, cyclonic flow
y=3—-1=2
V2

R=

m 2f < 0, cyclonic flow

Also, f = R < = obtained from x = 2. Therefore, with x increasing, f

decreases resulting in the Coriolis force becoming smaller.
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We have now calculated the y-values of the straight line, resulting in the figure below:
VI(fR) = VgN - 1 (Southern Hemisphere)

2 AN =
y = VI(R)

0.8 4

1
For the x-value cases above, where y < 0, the flow has been found to be anti-cyclonic | e.g., x = —1,0, 2) .

Conversely, where y > 0, the flow is cyclonic (e.g., x = 2,3). Defining the flow to be sub-geostrophic
where V' < V; and super-geostrophic where V' > V,, sub-geostrophic flow is found where x > 1 and

super-geostrophic for 0 < z < 1. For z < 0, the flow is considered to be anti-geostrophic since V' = —V,.
V
Near point A (r = 1,y = 0), trajectories are nearly straight since V' ~ V, and Vg ~ 1. However,
Vv V Vv Vv
since — = 2 — 1, — ~ 0. Moreover, — is a Rossby number with R, the radius of curvature, the
fR |4 fR fR

length scale. The smaller the Rossby number, the more dominant the Coriolis acceleration in the dynamics
becomes, resulting in the Coriolis force and the Pgf becoming approximately balanced. So geostrophic
balance is a good approximation near point A.

1% v
AtpointB(z =2,y=1),R = 7 therefore f = 0
V2 VZ v
— + fV — fVy =0becomes — + =V — fV; =0

R R R

Therefore, the centrifugal and Coriolis forces are equal and together balance the Py f.
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1 1 2V 1
At point C ($ =5 ——>,R= ——and Vg = oV

2 f
Vif—i-fV—ng:ObecomesV2 (—%) —|—fV—f<%V> =0
A v _
"_7+fv_7_0

Here the centrifugal force and Pgf are equal and together balance the Coriolis force.

At point D (z = 0,y = —1), V; = 0, therefore the Pg f(= — fV}) is zero, and the Coriolis and centrifugal
forces must balance.

At point E (z = 3,y = 2) and with an increasing x-value, the Coriolis force becomes negligible compared
with the centrifugal force and Pgf. For this scenario, the centrifugal force must balance the Pgf alone,
which is the definition of cyclostrophic balance.

Over the area on the graph where z < 0 (including point F), the flow is anti-geostrophic (V' = —V) which
means that the flow has anti-cyclonic curvature around a low-pressure system, i.e. an anomalous low, which
is never observed.

The figure below summarizes these findings:

Geostrophic and Gradient Wind Balance (SH)

Co becoming negligibl

V<V , cyclonic
R=V/f<0, cyc

Ic Ce=Co to

balance Pgf
o0 (regular L)
V=V _, R undefige€d, V/(fR)~R <<1
0 g o > |
Co and Pgf balanced ~
;f\(g%ggtrop ic f?o?)ce X = VgN

4 anti-cyclonic i
=-2V/f>0, anti-cyclonic

Ce balanced (inertial flow) —

R=-V/f>0, anti-cyclonic

V<Vg: sub-geostrophic
V>V : super-geostrophic |

geostrophic
anti-cyclonic (afound low)

1 1

-1 -0.5 0 0.5 1 1.5 2 2.5 3
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A summary of the force balances at each of the points (A-F) is given below:

A

C

I

2 C,

-V

vPgf

Geostrophic flow

Flow around a regular High

L

v
N

Pgf

Cyclostrophic flow

F

L< » 0

ng — (.

Flow around a regular Low

> (.,

Inertial flow

Pgf

Flow around an anomalous Low
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Variation with height of the geostrophic
wind: The thermal wind

Isobaric coordinate form of the geostrophic relationship:

f ‘7}; =k x ﬁpfb ® : geopotential

—> geostrophic wind x geopotential gradient.

— geostrophic wind directed along the positive y-axis that increases in magnitude with height requires
that the slope of the isobaric surfaces with respect to the x-axis must increase with height.

po*28p -

po *Bp

Pa
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For thickness dz corresponding to a pressure interval dp

= thickness of the layer between isobaric surfaces oc temperature of the layer:

0z = —lRT(S Inp
g

T(dzl) < T<622)

= increase of height of a positive z-directed pressure gradient is associated with a positive z-directed

temperature gradient

—> the air in a vertical column at x5, because it is warmer (less dense), must occupy a greater depth for a

given pressure drop than the air at z;

1-

From V; = —k x V,,®, in isobaric coordinates:

S~

Equation of state for an ideal gas: pao = RT orp = pRT

where o = p~1

1
Geopotential: 0 = géz = dz = —-6P
g

. .0
Hydrostatic equation: P _

0z

6z _ 1
d pg
100
g op
5> 0%

(1.17)

(3.27)
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Differentiate geostrophic wind components with respect to pressure:

ov, 10 (99 10 ( RT
dp  foxr\odp) fox P

00 R (OT
“Pap T 7o),
vy R [O0T
—— (= 2
Olnp f <8x>p (3:28)
ug _ 10 (34)) __ 1o _RT>
Op foy \ Op f oy P
dug R <0T>
. _ 3.29
Olnp  f\9y/, 629
As a vector:
W, R- o=
onp —71@‘ x V,T (3.30)

the thermal wind equation

Here we have shown that the geostrophic wind must have vertical shear in the presence of a horizontal
temperature gradient.

Vr=—=| kxV,Tdlnp (3.31)

(T) is the mean temperature in the layer between pg and p;.

=g (%), e
_ _? <88<§>)p [—In(p1) + In(po)]
()
and vr =~ <3<f>>p/pjl dlnp
0

|

/7
Q| ~
GRS
S~
S

=

7 N
|3

) (3.32)
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Thermal wind is the vector difference between geostrophic winds at two levels:
Vi =V(p1) = Vypo)  (p1 < po)

10 10
also up = ug, —ug, = —5 = (P1) — ( (‘I)O)>

foy f oy
10
(- @) (3.33)
10 10
U = Vg, — Vgy = }(,7(@1) - }%(%)
10
= Fou — (@1 — Do) (3.33)
R a<:r>) <p0> 10
Ly (A B P L AT S
= f(ay s fa“ o)
Po oy [0 o
— &, — Py = R(T)In (?) (3.34)
1
Per definition: ®; — &g = Zrg, where Z is the thickness
Also
R (O(T >> <P0> 10
= n(2)=-%(@ -
f( o) T Fact T )
Rln < ) ax :/81‘((1)1 —@o)dx
— &, — By = R(T)In <§°> (3.34)
1

The thickness is therefore proportional to the mean temperature in the layer.
— lines of equal thickness are equivalent to the isotherms of mean temperature in the layer.

(3.35):

— 5 o R—* .
X V(P — Bg) = %k; «zr = kx V(T <z?)

From (3.33) From (3.33),(3.34) From (3.32)

Vr =

| =
ol

Exercise 1: The mean temperature in the layer between 750 and 500 hPa decreases eastward by 2°C per
100 km. If the 750 hPa geostrophic wind is from the southeast at 20 ms~!, what is the geostrophic wind
speed at 500 hPa? Let f = —10~*s~! [Hint: remember Pythagoras when calculating the geostrophic wind
components].

a(T)

Solution: The mean temperature decreases eastward, so there is no north—south component: 5y = 0 and

y
9{T)

0
8w<

C.ur =0
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5

R=287TJK 'kg™!
=287NmK kg !
= 287kgms ?mK 'kg!

where R is the gas constant for dry air.

=9287m?s 2K !
287Tm2s 2K ! 2K 750
LU = - In{ —
—10-4s1 100 000 m 500
=923.27ms !

At 750 hPa:

c=20m/s
a
southeast
202 1/2
02—a2+b2—2a2:>a—(g> =b
=14.14ms™ !

U = Ug, — Ugy = Ug(500hPa) — uy(750 hPa)
0= uy(500) — (—14.14)
. ug(500) = —14.14ms™!

VT = Vg, — Vg, = Ug(500 hPa) — v,(750 hPa)
. 23.27 = v,(500) — 14.14
. vy(500) = 37.41ms !

- V,(500) = (—14.14, 37.41)
Therefore, geostrophic wind speed at 500 hPa = “79(500)’

= ((~14.14)% + (37.41)2) "/

=39.99ms !
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Exercise 2: Consider the values in the previous exercise (Exercise 1) above, what is the mean temperature
advection in the 750 to 500 hPa layer?
or or 2°C

lution: Only west—cast V-Vl =us— =—
Solution: Only west—east component: V' - V u@x’ Ep 100%m

. . . T
But temperature in the layer is decreasing = u—— <0

ox

Since we are considering a layer, we use mean values:

oT
Temperature advection in the layer = —Ha—
x
where bars denote the means.
—14.14 — 14.14
o (ug(500) +u4(750)) _ ( ) 414ms-]

2 2

oTr 2
LTl = (—14.14) | — TKm™!
gy = )( 100000)Hls o
=2828 x 107*Ks™!  (x3600)
=1.018Kh™! (°ch™h

or
Therefore, temperature advection in the layer = —ﬂa— = —1.018Kh™!
x

Bonus Homework: Describe the relationship between turning of geostrophic wind and temperature advec-
tion in terms of backing and veering of the wind with height for the Southern Hemisphere.

Barotropic and baroclinic atmospheres

Vs

Barotropic atmosphere: p = p(p); thermal wind equation a1
np

= 0, which states that the geostrophic wind
is independent of height.

Baroclinic atmosphere: p = p(p, T'); geostrophic wind has vertical sheer, related to the horizontal tempera-
ture gradient.
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Vertical motion

In general the vertical velocity component of synoptic-scale motions is not measured directly, but must be
inferred from fields that are measured directly.

Two commonly used methods for inferring vertical motion:
1. Kinematic (based on continuity equation)

2. Adiabatic (based on thermodynamic energy equation)

w = w(p) vertical velocity in isobaric coordinates.
p_Op 9dp 9p  Op

“=Dr T s Ty T Vos
_Op 5 o= Op
_Op S o o . Op
=5 T (Vg +Va) - Vp—gpw (Smceaz = pg)

V.,: Ageostrophic wind, |V,| < |V,| the geostrophic wind

O 4 = 4 o
.'.wz%%—Vg-Vp—l—Va-Vp—gpw
Lo . 1 - -
Bonus Homework: Show that V, - Vp = 0 (VQ = ﬁk X Vp)
op - -
w= 2+ Vo - Vp—gpw (3.37)

Scale analysis:
dp
5" 10hPa / day [1hPa = 100 Pa]
V- Vp~ (1m-s~1)(0.01hPa/km) ~ 1hPa / day
gpw ~ 100 hPa / day

Therefore, a good approximation is
w = —gpw (3.38)
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Kinematic method

0 0 0
One method of deducing the vertical velocity. Integration of the continuity equation ot + & + 2=
dr Oy » dp

0 with respect to pressure from a reference level p, to any level p, yields
i) = A2ele)_pe—p (900, D)),
p(z) p(z)g \ Oz ~ Oy

where z and z; are the heights of pressure levels p and ps, respectively.

(3.40)

Derivation of (3.40):
ou Ov ow ow Ju  Ov
(3-5) <3x+8y>p+ Op op <6$+8y>
Integrate this expression with respect to pressure from a reference level p; to any level p:
P ow PrOou  Ov
e f ()
ps OD p. \O1 0y

sow(p) —w(ps) = — [ai /p udp + aé; /pp vdp}

Define a pressure weighted vertical average:

(A) = (p— po) " / " Adp

Ps

/p Adp = (p — ps) (A) = —(ps — p) (A)

s

) = ) = = [~ =) ()} + (e =) ()]

= (ps — 1) 8{;? +(ps — p) 8a<;j>
sow(p) = w(ps) + (s — p) <aa<§> - 88<:>>

Since w = —pgw, we get —p(2)gw(z) = —p(zs)gw(zs) + (ps — p) <3 (u) n 0 <v>>

Ox oy
w(e) - A0S pe—p <a<u> L0 <v>>
p(2) p(z)g \ 9z Oy
To infer the vertical velocity from the equation above requires knowledge of the horizontal divergence:
ou v
dr Oy

Consider the table below showing the u and v components of the wind (m -s~!) for the 200 hPa level, on a
2.5° lat-long grid:

66



Using finite difference approximations:

% = [(U12 + U22)/2 — (Ull + U21)/2]/(5$
gz = [(Ull + U12)/2 — (1)21 + ’022)/2]/(3@

Sy = 2m6.37 x 10%/144; 6z = by cos(21.25°)

Typical values for v and v:

u=[28.8 28.7; 34.6 37.4]
v=1[-20.5 —182; —-26.9 —25.0]

An error in one of the wind components can lead to an exponential growth in the estimated divergence. See
figure below. For this reason, the continuity equation method is not recommended for estimating the vertical
motion field from observed horizontal winds.

3

2.5

Div / Div2

0 10 20 30 40 50
% error
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Adiabatic method

The adiabatic method for inferring vertical velocities, which is not so sensitive to errors in the measured
horizontal velocities, is based on the thermodynamic energy equation:

oT oT oT J

If J, the diabatic heating, is small:

Y= 5, Vot Tar T oy

1 /0T
S<8t+v VT>

The temperature advection V - VT can be accurately obtained from geostrophic winds, and so this method
can be applied.

or . . . . . . L
However, — is difficult to estimate accurately since observations are not typically at close time intervals.

ot

This method is also inaccurate when .J is not small (i.e., strong diabatic heating) as is the case of storms in
which heavy rainfall occurs over a large area.

Exercise: For a high altitude station located near the 750 to 500 hPa layer, the temperature is decreasing at
a rate of 2°C per hour. Compute the vertical velocity in cm/s using the adiabatic method. Suppose the lapse
rate at the station is 4°C/ km, temperature advection is —2.828 x 10~*Ks~!, and that the dry adiabatic
lapse rate is determined by gravity and by the specific heat of dry air at constant pressure.

oT
Solution: v —2°Ch™! (decreasing)

Adiabatic method: w = L <T +V.VT > Sp = Ta—T and w = —pgw
S\ 0 Py
oT
(t o )
Py 9o 98ImSE g 10 ms 2K kgl

¢p 1005 JK 1kg™!
= 9.771 x 103 ms 2 (kgms 2 mK 1 kg~1)~!
=977l x 102 Km™!

I=4Km'=4x103Km™!
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w =

2
—— ) Ks1-2828x10%Ks!
(( 360()> S 828 x 10 S )

(4x1073 —9.771 x 10~3) Km~!
=0.1453ms™ "
=14.53cms™ !

69



Surface pressure tendency

The development of a negative surface pressure tendency is a classic warning of an approaching cyclonic
weather disturbance.

D
(8“ + av> dp (3.39)
y

Ds
where lim = 0 = w(ps) +/ <au + 8U> dp
p—0

o \Oxr Oy
Ps (Ou  Ov
..w(ps)—/o <x+8y) dp
Ps .
_ _/ (V- V)dp (3.43)
0
w = % + Va . ﬁp — gpw (3.37)

Assumption: w at the surface = 0, and vV, - ﬁp can be neglected (scaling considerations)

~ 0P
Ds
Hrnia —/ (V- V)dp (3.44)
0

In words: The surface pressure tendency at a given point is determined by the total convergence (negative
divergence) of mass into the vertical column of atmosphere above that point.

The utility of the tendency equation is severely limited due to the fact that V-V is difficult to compute from
observations because it depends on the ageostrophic wind field.

Bonus Homework: Describe qualitatively the origin of surface pressure changes and the relationship of
such changes to the horizontal divergence.
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The circulation theorem

Circulation about a closed contour in a fluid:
C= 7{ U-dl (df is the displacement vector locally tangent to the contour)
= 2Qn R? R: radius of circular ring of fluid

—> the circulation is 27 times the angular momentum of the fluid.

By integrating Newton’s second law, we can obtain the circulation theorem in an absolute coordinate system

o DC, D 1
¢ — = ﬁa-df:—jfdp
P

Dt Dt

1
The solenoidal term is — 7{ —dp
p

In meteorological analysis it is more convenient to work with the relative circulations C.

C=0C,—C, [C : due to Earth’s rotation]
=C, — 2QA, [A : area]
DC  DC, DA,
bt~ bt i
1 DA
=— ¢ Zdp—20——=
% o7 Dt
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Vorticity

Definition: The microscopic measure of rotation in a fluid. It is a vector field defined as the curl of velocity.
Absolute vorticity w, = V x lja

Relative vorticity w =V x U (U is the relative velocity)

Sow = <;8x +;’8+E8Z> x (i + ju + kw)

(P ) (0w 0w\ (00 o
~ \ oy 0z J or 0z or Oy

(oo dw ooy

For large-scale dynamic meteorology, the concern is only with the vertical components of absolute and
relative vorticity.

Absolute vorticity

n
Relative vorticity ¢ =

Regions of ¢ < 0 are associated with cyclonic storms in the Southern Hemisphere.
The distribution of ( is an excellent diagnostic for weather analysis.

Planetary vorticity: the local vertical component of the vorticity of the earth due to its rotation

k-V x U, = 2Qsin ¢ = f, the Coriolis parameter

n=qC+f
- (20w Ov -(0u Ow - (0v Ou
(15 -5) (5 -5) (5 -5))
_Ov Ou
_%_87/
ov  Ou
77_%—87/4']0
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Exercise 1: What is the relative vorticity on the side of a current which decreases in magnitude towards the
south at a rate of 10 m /s for every 500 km?

ov
No west—east component: Fe 0
T

(oo
0x Oy
g; <0 (towards the south)
-1
COu _ 10ms— =-2x10°s7!

"0y 500 000m
S C=0—(=2x10"%s"h)
=2x10°s7!

Exercise 2: An air parcel at 30°S moves southward conserving absolute vorticity (the initial absolute vortic-
ity is equal to the final absolute vorticity). If its initial relative vorticity is 5 x 107°s~!, what is its relative

vorticity upon reaching 90°S?

Solution:

(¢ =+ finitial = (¢ + f)fina

1
finitial = 22 sin(—30°) = 29 (_2> -0
ffinal = 2Q2sin(—90°) = 2Q (—1) = —20Q

Ginitial = 5 x 107°s™! (given)

Cinat = (€ =+ f)initial — ffinal
=5x107° - Q — (—20)
=5x10"°+Q
=5x107°+7.292 x 10 °rads™*
=12.292 x 107°s7!

Bonus Homework: Determine the relationship between relative vorticity and relative circulation (macro-

scopic).
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Potential vorticity

Definition and characteristics of potential vorticity

The potential vorticity (PV) is the absolute circulation of an air parcel that is enclosed between two isentropic
surfaces (a surface in space on which potential temperature is everywhere equal). If PV is displayed on a
surface of constant potential temperature, then it is officially called IPV (isentropic potential vorticity). PV
could also be displayed on another surface, for example a pressure surface. Note from the relation below, that
PV is simply the product of absolute vorticity on an isentropic surface and static stability. So PV consists,
in contrast to vorticity on isobaric surfaces, of two factors, a dynamical element and a thermodynamical
element.

PV = (G + f) (-g;f)

where,
f is the Coriolis parameter
g 1s the gravitational acceleration
p is the pressure

PV is the potential vorticity

D R/cp
0 is the potential temperature: 6 = T’ <S)
p
(p is the relative isentropic vorticity [the vertical component of relative vorticity evaluated on an isen-
tropic surface]

Within the troposphere, the values of PV are usually low. However, the potential vorticity increases rapidly
from the troposphere to the stratosphere due to the significant change of the static stability. Typical changes
of the potential vorticity within the area of the tropopause are from 1 (tropospheric air) to 4 (stratospheric air)
PV units (PV unit: 1 PVU = 10~%K kg ! m?s~!). Today in most of the literature the 2 PV unit anomaly,
which separates tropospheric from stratospheric air, is referred to as dynamical tropopause. The traditional
way of describing the tropopause, is with use of the potential temperature or static stability. This is only a
thermodynamical way of characterising the tropopause. The benefit of using PV is that the tropopause can
be understood in both thermodynamic and dynamic terms. An abrupt folding or lowering of the dynamical
tropopause can also be called an upper PV-anomaly. When this occurs, stratospheric air penetrates into the
troposphere resulting in high values of PV with respect to the surroundings, creating a positive PV-anomaly.
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In the lower levels of the troposphere, strong baroclinic zones often occur which can be regarded as low
level PV anomalies.

It must be stressed that this other way of looking at the dynamics of the atmosphere will not necessarily
result in new conclusions. However, it may give new dimensions to things that, in fact, were already known.

The two main advantages of potential vorticity (with certain assumptions) are: conservation and invertibility.
The two advantages will be discussed briefly:

Conservation
With the following assumptions PV is a conserved parameter:
1. Adiabatic stream (no diabatic heating or cooling)
2. No friction
3. Homogenous
4. Non-compressing

A first mathematical consequence of the conservation can be derived from the definition of PV: A parcel
will keep the same value of PV if it moves along an adiabat through the atmosphere thus the equation for
PV can be written as:

PV =((+f) ( 80) = constant (4.12)

9 ap
Due to the conservation of PV, there is a close relationship between absolute vorticity and static stability (the
ability of a fluid at rest to become turbulent or laminar [flow taking place along constant streamlines, without
turbulence] due to the effects of buoyancy). The diagram below shows a parcel (cylinder) that is confined
between potential temperature (isentropic) surfaces 6 and 6 + §6 which are separated by a pressure interval
op. Difference in potential temperature between the top and bottom is the same for the two cylinders. If
PV is conserved, and the cylinder is stretched, then static stability is decreasing and absolute vorticity must
increase. Alternatively, if one goes from the stretched cylinder to the squashed cylinder, then static stability
is increasing and absolute vorticity must decrease.

g8 + &8

Bp

'-_.-'—-—E

Due to the conservation of PV, significant features that are related to synoptic scale weather systems can be
identified and followed in space as well as in time. This is a very powerful characteristic of this property.
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Especially the case of a lowering of the dynamical tropopause, the upper PV-anomaly can be followed in time
and space rather easily. PV anomalies are well related to a lot of dynamical processes in the troposphere. A
distinct example of this are cases of Rapid Cyclogenesis where PV-anomalies play an important role.

The sudden creation or destruction of PV means that diabatic processes are involved (release of latent heat,
friction, radiation). This fact can be used as tool to identify or even quantify the influence of these processes.

Invertibility

The second advantage of PV, invertibility, is a very important tool, because it allows one to obtain familiar
meteorological fields, like the geopotential, wind, temperature and the static stability, when the distribution
of the PV and the boundary conditions, potential temperature at the surface, are known. Further with the
help of the invertibility it is possible to quantify the importance of PV-anomalies and the strength of their
associated circulation and/or temperature pattern.

Inverting the PV for the entire atmosphere is interesting, but a more insightful diagnostic technique is piece-
wise PV inversion (PPVI). This involves dividing the atmosphere into significant layers and independently
inverting the PV in those layers. This technique allows for analysis of the influence of discreet portions of
the total PV field on the flow throughout the domain.

PV-thinking in the real atmosphere

The dynamical tropopause

The tropopause separates the well-mixed troposphere with the highly stratified, statically stable stratosphere.
The tropopause is conventionally thought of from a thermal point of view and is based on the vertical tem-
perature lapse rate. However, since high-PV values are generally associated with highly statically stable air,
the tropopause can also be defined by the isentropic (contours of constant potential temperature) gradient of
PV. The PV definition of the troposphere is known as the dynamical tropopause. By convention, the dynam-
ical tropopause is usually defined by a constant PV contour which separates tightly packed PV contours of
the stratosphere and low vertical gradient PV contours of the troposphere. A value between —1.5 and —2.5
PVU is most commonly used.
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Figure 8: Cross-sectional PV in an idealised, mean atmosphere.

PV anomalies

Mathematically, an anomaly is the departure of a value from the mean distribution. A high-PV anomaly
will thus be where there are anomalously high values (large negative values in the southern hemisphere) of
PV compared to the mean distribution. Conversely, a low-PV anomaly will have anomalously small values
(smaller negative values) of PV compared to the mean distribution.

Upper level PV anomalies

As seen in Fig. 8, there exists a reservoir of high-PV air in the stratosphere. Thus, stratospheric air is a
source of high-PV anomalies in the troposphere. Upper-level high-PV anomalies can therefore be viewed,
from a cross-sectional point of view, as tongues of high-PV stratospheric air intruding into the troposphere
towards the surface. An idealised example of this is shown in Fig. 9. We recall that the circulation can
be inferred from the PV distribution by the power of PV inversion and recall that PV can be represented
by equation (4.12). The high-PV (negative PV anomaly) induces a negative vorticity anomaly. Flow is
cyclonic around a negative vorticity anomaly in the Southern Hemisphere and hence cyclonic around the
high-PV anomaly. Since the atmosphere is in thermal wind balance, the velocity of the circulation above
and below the anomaly will also be cyclonic but the flow will be weaker.

The fact that the atmosphere is in thermal wind balance allows for us to decipher the temperature structure
of the sectors. Recalling that the definition of the thermal wind is the difference between the upper and
lower wind vectors (V= Vi (p1) — Vy(po)) and that the cold pool lies to the left (right) of the thermal wind
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Stratesphere

Tropesphere

Figure 9: A cross-sectional view of an idealised PV intrusion in the upper troposphere inducing upper-level
cyclonic flow around it.

vector in the Northern (Southern) hemisphere, it follows that there must exist a cold pool below the high-PV
anomaly. Similarly, there must exist a warm pool in the stratospheric sector above the high-PV anomaly
with cold air surrounding it. Thus, the potential temperature structure will look as below.

Stratesphere | .
I |
COLD —WARM. -~ COLD
/ -
e O 1 A
——
| Vi
! 0+ 40
V|
1
I| Vi Troposphere
1
¥
1y P
1
|
S WARM
1 @ —A@

Figure 10: Cross-sectional view of the thermal structure of an idealised PV intrusion in the upper tropo-
sphere inducing upper-level cyclonic flow around it.
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Low-level and surface PV anomalies

PV anomalies are not confined to the upper troposphere. High-PV structures can also be found in the low
levels, often associated with diabatic processes. The PV anomalies act in a similar way to their upper-level
counterparts, stimulating cyclonic flow around them. Similar arguments with respect to the thermal balance
of the atmosphere can be made in order to understand the thermal structure surrounding the anomaly as well
as the cyclonic flow that is induced throughout the atmosphere.

You will recall that for PV to be conserved, the flow must be both frictionless and adiabatic. At the surface,
this is not strictly true. Thus, PV cannot be directly used on the surface and we need to use a PV-like
parameter to analyse the surface is in a PV-thinking framework. It has been shown that surface potential
temperature (¢) anomalies can act as PV-like anomalies. Warm # anomalies behave in a similar way to high-
PV anomalies on the surface where cyclonic flow is stimulated around a warm 6 anomaly and anti-cyclonic
flow results from cold § anomalies.

Stratosphere: 1 1
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I 1
1 1
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1 ;:/_ A

Figure 11: A cross-sectional view of an idealised PV intrusion in the lower troposphere inducing low-level
cyclonic flow around it.

Interaction of anomalies

As can be shown schematically in Figure 9 and Figure 10, cyclonic circulation around the upper-level in-
trusion of high-PV stratospheric air into the upper troposphere is not confined to the upper troposphere.
Mirrored, although weaker, cyclogenetic forcing is also present on the surface. As a result of the surface
temperature gradient, the low-level cyclogenetic forcing results in warm air temperature advection ahead of
the upper-level PV intrusion axis. This results in a warm potential temperature anomaly ahead of the upper-
level PV axis. Recall that warm potential temperature anomalies on the surface can be interpreted to be
similar to high-PV anomalies whereby they can induce cyclonic circulation around them. The cyclogenetic
forcing is induced throughout the troposphere above the anomaly, with mirrored cyclogenetic forcing stimu-
lated ahead of the upper level PV intrusion in the upper-levels. Whilst the surface anomaly lies ahead of the
upper-level anomaly there is positive feedback between the two anomalies and thus are mutually beneficial
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to one another. Low-level anomalies induced by diabatic processes can further add to the development of
the surface cyclone. The phase-locked alignment of all 3 of these anomalies is known as a “PV tower” and
can lead to explosive cyclogenesis.

In the atmosphere, these processes lead to the development of baroclinic weather systems such as mid-
latitude cyclones or cut-off lows that extend to the surface, where the system leans westward with height.

O~ e AR

~ s
WARM /_4Warm air advection WARM
. &
COoLD coLb

Figure 12: Adapted from Hoskins ez al. (1985). Interaction between an upper air intrusion of high-PV air
and an induced surface high-PV anomaly.

PV on isentropic maps

Isentropic surfaces, lines of constant potential temperature, are frequently used in the dynamical meteoro-
logical analyses. The analysis of isentropic PV has many applications including the identification of Rossby
wave breaking (RWB) in the upper troposphere. Upper-level PV intrusions are easily identifiable on isen-
tropic surfaces. Potential temperature contours slant surface-ward from the poles to the equator. Thus, an
isentropic contour will cut through the quasi-horizontal dynamical tropopause at some point between the
pole and the equator. High-PV values (stratospheric air) will be found towards the poles whilst low-PV
values (tropospheric air) will be found towards the equator. A PV anomaly in the upper troposphere can be
seen in the isentropic PV field as a tongue of high-PV, stratospheric air extending towards the equator.

/ TroposphericPV (Low PV values) / TroposphericPV (Low PV values) /

/ /

/ -2 PVU/
/ /
/ /

/ Stratospheric PV (High PV values) / Stratospheric PV (High PV values)

/ Upper Level Isentropic Surface/ / Upper Level Isentropic Surface/

Figure 13: Left: Climatological mean isentropic surface of the upper troposphere. Right: An idealised PV
intrusion in the upper troposphere as seen on upper-level isentropic PV surface.
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Useful additional reading:

Lackmann (2011) - Midlatitude synoptic meteorology: Dynamics, analysis and forecasting (Chapter 4)
Hoskins et al. (1985) - On the use and significance of isentropic potential vorticity maps
Barnes et al. (2021) - Cape storm: A dynamical study of a cut-off low and its impact on South Africa

For more information on PV, follow this link: http://www.zamg.ac.at/docu/Manual/SatManu/
main.htm?/docu/Manual/SatManu/Basic/Parameters/PV.htm

For real world examples related to the material above, follow this link: https://weathermanbarnes.
github.io/UPDynamicalForecasts
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The vorticity equation

Objective: Derive an equation for the time rate of change of vorticity without limiting the validity to adia-

batic motion.

Cartesian coordinate form

Approximate horizontal momentum equations:

Du 10p .
oy =TV oo [zonal component equation]
% =—fu-— ;gz [meridional component equation]
0 (Du) 0 0 (109p
7 (51) = 5300~ 35 (o)
o (Dvy 0 0 (10p
e (51) =200~ 52 (o)
0 (Ju ou ou ou 0 0 _10p
o (5 + 03 05 o)~y =g (75
and
2 @—FU@-F’U@-F 81)>+8(f)__8<p18p>
Ox \ Ot Ox oy 0 Ox Oz oy
] 0%u  Oudu Ov Ou . ow Ju 0%u Ov
" Oyot Oy Ox Oy Oy 0y 0z 0yoz " Oy
_8p_1@_1 0p (1)
dy Ox pOxdy
and
=0
0%v  Ouodv ov Ov ow v 0% Ou
" oz0t Tomor 0 Tazay T T R W L
_ _%op 1% @
dr Oy pOxdy

82



(2) — (1): LHS

O (9v _Ouy . 0 (Ov Ouy 0 (Ov Ou) O (Ov Ou
at\az oy) " Mor\or ay) oy \oxr ay) T Voz\or ay

L p(Pu, 00)  [0u0v  0vdu Oudu o] Owdv 0w 0f
or Oy Ordr Oxdy Oyodx Oyady

+ Or 0z Oy 82+v87y

azP 8p'0 ox
_,20p
=P o

(2) — (1): RHS
_O0p~'op 1 0°p  0p'op 1% —(~1) —2@@+(_1) —20p 9p

ox 87/ B ;Bxay Oy Or  pOoxdy - dx Oy

Consider
Oudv Odvdv OJudu OJvdu Ov (Ou v ou (Ou Ov
axaﬁaxay‘ayax‘ayay—ax(ax*ay)‘ay(m*az)
_(0v  Ou ou Ov
~(5-m) (@ 5)
) ov Ju
S1nce§:<ax—8y>

¢ ¢ o¢ ¢ (&L+&;>+C(&L+0U>+ <8w8v 8w8u)
0 or Oy

at T e, T e 3y 9r 02 0y 02

of 1 <(’3p8p 3p8p>

+vz=

oy p2 \0dzdy Oyox
ince f — Df _ of
Since f = f(y), Dt —O+0—|—Uay—|—0
. D¢ Ou  Ov\ (Owdv owdu\ Df 1 (0p0p 0Op0p
"Dt+<<+f)(6x+8y)+(8xaz 8y8z)+Dt_p2(8a:8y 8y8x>

D Oou Ov Owdv OJwdu 1 (0p0Op Opdp
= — =— —t— - === == - =—= 4.17
Dt(C+f) (C+7) <8x+8y) (833 0z Oy 8z> +p2 (6w8y Oy Ox 17)
The rate of change of absolute vorticity following the motion is given by the sum of the divergence, the
tilting or twisting, and the solenoidal terms.
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Scale analysis of the vorticity equation

Characteristic scales for the field variables based on typical observed magnitudes for synoptic-scale mo-
tions:

U~10ms~! horizontal scale
¥V ~1lcms! vertical scale
L~ 10°m length scale
H~10*m depth scale
dp ~ 10hPa horizontal pressure scale
p~ lkgm™ mean density
Splp ~ 1072 fractional density fluctuation
LIU ~107s time scale
o~ 1077 s~ ‘oriolis parameter
fo~ 1074571 Coriolis p
B~10"Hm1s1 “beta” parameter

Use an advective time scale because the vorticity pattern tends to move at a speed comparable to the hori-
zontal wind speed.

v 0
First, the relative vorticity equation ¢ = 8—v — a—u < 7™ (105s)"t =10"9s7!
x

[< means less than or equal to in order of magnitude]

The magnitude of the terms of the equation below will be evaluated:

006 O 06 gy (00 O0) (Oudo _Duduy | 1 (9000 0n0p
ot ey T T I e ey ) T\ ar s avar ) Tay T 2 \aray  awor
The Rossby number Ro = L
Y ~ foL
and since ¢ < —, £SJLMIO_I [10m-s™ /(10*s71 10%m)]
L fo™ foL

1
--Cwﬁfo

ou Ov ou Ov
(C+f)< 3y)%f<5fv+3y)

Note: Small Ro signifies a system which is strongly affected by Coriolis forces, and a large Ro a system
in which inertial and centrifugal forces dominate. In tornadoes Ro ~ 10?; in low pressure systems Ro ~
0.1-1.

Near the centre of intense cyclonic storm ‘;’ ~ 1, the relative vorticity should be retained.
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0( U/L U? (10ms~1)?

~10-10 g2 — 101042
ot T L)U I (106 m)2 °
8( Ugl _U?
837 LL L2
¢ Ul U?
v U = =
oy " LL 12
ag N ng 102ms ' 10ms™! o112
Yo, LH 106m 104 m
d
U—f ~UB~10ms 1107 m st =10710g72
dy
(. [Ou Ov v U U
gu 9 < =)~ fo=~ 107451 10ms 110 m~! = 107952
f<8x+8y>Nf0<L+L> for s ms m s
Owov _dwouy WU 0 ms W0ms ™ _ 14y o (%)
Ox 0z 0Oy 0z L H 106m 104 m
1 (0pdp 9pOp\ _ 1 (dpdp\ _dpdp 1072 10hPa 1072102 Pa,
22 \dzdy oOydz) ~pP\L L) p2L? p 102m2  1kgm—3102m?
Consider
1Pa=1Nm™?
=1(kgms ) m2
5/) op i kgmT's™? —11 -2
~1 — =1
2 72 0 kgm- ] 07" s

(*): The inequality (<) is used here because in each case it is possible that the two parts of the expression
might partially cancel so that the actual magnitude would be less than indicated.
ou

0
If e and a—v are not nearly equal and opposite (i.e., divergence > 0) the divergence term would be an order
x Y
ov

0
of magnitude greater than the other terms (because f <au + 6) < 1072572, followed by terms < 10719
z Y

and smaller).

Therefore, scale analysis of the vorticity equation indicates that synoptic-scale motions must be quasi-
nondivergent. The divergence term will be small enough to be balanced by the vorticity advection terms

ou  Ov : ou Ov
e ) < 10" 6g1 : ~ 1 —4 -1 ~1 —10 —2
<8m+8y> S107°s since fo ~107%s7, fo ((%—1—8)‘ 07"s

= The horizontal divergence must be small compared to the vorticity in synoptic-scale systems.

only if:

Retaining only the terms of order 10~? s=2 in the vorticity equation:

a¢ o¢ ¢ ou  Ov af
ot T Y a+f<ax a>+ ay "
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df Df df  Duf

Remember that vd—y =D and for horizontal motion v@ = Dy
. DhC ou ov th o Dh . 0 0 0
: Dt+f<8x+8y>+ ot =0 DT o ar oy
Dy, ou Ov
= 5+ f)=~f (Om + ay> (4.22a)
for synoptic-scale motions.
In intense cyclonic storms |/ f| ~ 1:
Dy, ou Ov
—h = — 4+ = 4.22b
— N =+ (5t 5) (4.220)

Equation (4.22a) states that the change of absolute vorticity following the horizontal motion on the synoptic
scale is given approximately by the concentration or dilution of planetary vorticity caused by the conver-
gence or divergence of the horizontal flow, respectively. In (4.22b), however, it is the concentration or
dilution of absolute vorticity that leads to changes in absolute vorticity following the motion.

The form of the vorticity equation given in (4.22b) also indicates why cyclonic disturbances can be much
more intense than anti-cyclones. For a fixed amplitude of convergence, relative vorticity will increase, and
the factor (¢ + f) becomes larger, which leads to even higher rates of increase in the relative vorticity. For a
fixed rate of divergence, however, relative vorticity will decrease, but when ( — — f, the divergence term on
the right approaches zero and the relative vorticity cannot become more negative no matter how strong the
divergence (This difference in the potential intensity of cyclones and anti-cyclones was discussed in Section
3.2.5 of Holton 4 in connection with the gradient wind approximation).

The approximate forms given in (4.22a) and (4.22b) do not remain valid, however, in the vicinity of atmo-
spheric fronts. The horizontal scale of variation in frontal zones is only ~ 100 km and the vertical velocity
scale is ~ 10 cm s~ 1. For these scales, vertical advection, tilting, and solenoidal terms all may become as
large as the divergence term.
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Vorticity in barotropic fluids

The barotropic (Rossby) potential vorticity equation

The velocity divergence form of the continuity equation:

1D — e
;F’t)Jrv-V:o 2.31)

D
For a homogenous incompressible fluid 4 0

Dt
V-V =0
ou v ow
T oxr Oy 0z
ou Ov ow
e
or Oy 0z

Cpacrn=-c+n(-52)

In a barotropic fluid, we let the vorticity be approximated by Cg and the wind by (ug, vg).
Dh ow
E(Cg"i'f) = (Cg+f)%

Integrate vertically from z; to 2s:

22 29 8
/Z l)l;(Cg—i—f)dz:/ (cg+f)6—7“:dz

WGt ) = (G + D) () ()]
where h = h(z,y,t); w= %j

=Z2— %

DZQ D,Zl th
nw(z) —wn) = pF = pr =
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Since h%(cg + )= (¢ + f) [w(z2) —w(z1)] = (¢ + f)th

Dt
N R R
DM (In(Cy + )) ~ 2 (inh) = 0
%’; <Cg;f> =0 (4.26)

which is the potential vorticity conservation theorem for a barotropic fluid.
The quantity conserved following the motion in (4.26) is the Rossby potential vorticity.

Note the following:

2 (G + ) ~ (k) =0

Therefore, 5
E(ID(CQ + f) —1In h) =0

.D(m@+f>:0

T ;
From calculus: D, In[f(z)] = J;/((;))
D G+ [ 1 D [+ f

Exercise: By considering the essence of potential vorticity (a measure of the constant ratio of the absolute
vorticity to the effective depth of the vortex), an air column at 60°S with initial relative vorticity equal to
zero, stretches from sea-level to a fixed tropopause level of 10 km in height. If the air column moves until it
is over a mountain range 2.5 km high at 45°S, what is its 1) absolute vorticity and 2) relative vorticity as it
passes the mountain top?

jon: <7 <C+f> <<+f> |
Solution: = constant => | >—- _ (ST T and Gy = O (given)
a H initial H final e
finitial = 2Q2sin(—60°) = —1.263 X 1041
final = 29 sin(—45°) = —1.031 x 1074571

S (CF final = mfinitial
_10-25
10
=-9473 x 10 °s7!

(—1.263 x 107%)
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o Cinal = —9.473 x 107° 57 —(=1.031 x 10~ *s7 1)
=837 x 107 657!

The barotropic vorticity equation

0
@23; hCH ) = (C+ Do

If the flow is purely horizontal, as is the case for barotropic flow in a fluid of constant depth, the divergence
term vanishes since w = 0.

As before, let vorticity be approximated by (g:

D
Dot =0

which states that absolute vorticity is conserved following the horizontal motion.

More generally, absolute vorticity is conserved for any fluid layer in which the divergence of the horizontal
wind vanishes, without the requirement that the flow be geostrophic.

For horizontal motion that is nondivergent the flow can be represented by a stream function v (z,y) such

i o

_(% ou

C—%—@

BN AN AL
~5: (o) o ()
% 0%

0x? + Oy?
=V

D
Not a requirement for flow to be geostrophic: FZ C+f)=0

Lo¢ o¢  oC of  Of  Of _
“ar T Ty Tar Tar ey T

IV ) T T =0 V= Fx T

O v = T, V(T + ) (4.28)

= The local tendency of relative vorticity is given by the advection of absolute vorticity.

Because the flow in the mid-troposphere is often nearly nondivergent on the synoptic scale, (4.28) provides
a good model for short-term forecasts of the synoptic-scale 500 hPa flow field.
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Bjerknes-Holmboe theory

As an introduction to the notion of mid-latitude developing baroclinic systems, we introduce a theory of
relating the horizontal distribution of divergence and convergence to a pattern of high and low pressure
systems. Highs will move towards regions of convergence (rising pressure), and lows towards regions of
divergence (falling pressure). This theory is commonly known as the Bjerknes-Holmboe theory. Here we
discuss it only from a qualitative point of view.

Since the divergence of the geostrophic wind (V}) is zero (for constant f), and the divergence of the gradient
wind (V) is not zero, we will examine the pattern of divergence of idealistic pressure fields for gradient flow.
Our weather pattern has

1. Sinusoidal 500hPa contours extending from west to east,

2. Circular concentric isobars at the surface.

The curvature effect

We have already shown that V,, > V' for cyclonic flow, and V; < V for anticyclonic flow. Therefore, owing
to this curvature effect, we expect a distribution of wind speeds as shown in this figure (the arrows represent
the gradient wind).

air is departing faster than entering

air is departing slower than entering

Such a pattern would lead to falling pressure east of the troughs and rising pressure east of the ridge. The
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expectation is for the pressure system to move eastward because the lows (highs) move towards regions of
falling (rising) pressure. Moreover, for a given fixed amplitude of such systems, short wavelengths and high
wind speeds, the curvature effect results in an eastward moving wave.

The latitude effect

Assume that all other parameters are kept constant, then the geostrophic and gradient wind speeds decrease
with increasing (equatorward) latitude. To demonstrate this statement, consider the gradient wind equation

1 /00 V2
v (5 w)
Apply scale analysis to R2 o~ W = 10~*ms~2, the centrifugal force.
Since a typical parameter value for o 1073 ms~2, the centrifugal force is about a tenth of the pressure
gradient force. This result implies that V' >~ —}gi = V4, which further implies that both the gradient and

geostrophic wind increase or decrease similarly for a variable Coriolis parameter. Consider the following
table of approximate gradient wind speeds with increasing latitude in the Southern Hemisphere

Latitude | Approximate gradient wind speed (ms~1)
—30 13.7
—45 9.7
—60 7.9

From the gradient wind relationship and the table above, wind speed decreases with increasing latitude.

For low wind speeds and long wavelengths, the curvature term may be small, resulting in the wave moving
westward as determined by the latitude effect. This effect is enforced when the wave amplitude is large.

Next, consider the case of equally spaced, concentric, circular isobars of a surface low and high pressure sys-
tem in the Southern Hemisphere, which results in the curvature effect to be the same everywhere. However,
the latitude effect will produce higher winds on the equatorward side.
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div conv

conv

div

The result of the latitude effect is convergence with rising pressure to the east (west) of the low (high) pres-
sure and divergence with falling pressure to the west (east). Such systems are expected to move westward.

Trough line

L

The idealized model
b}
A=
a0
=
2
&
<}
A=
&0
e
N Ao
L N
Upper level diAV conv
|\asceiljrl_d1ng
motion
Lower level conv div

descending motion

Level of non-divergence

For the usual short-wave systems in which the curvature effect dominates the latitude effect, divergence is
found east of the trough line and convergence ahead of the ridge line. East of the centre of the surface
low, low-level convergence is found with divergence aloft, resulting in ascending motion. The opposite is
found east of the ridge line where upper-level convergence is associated with low-level divergence east of

the surface high, resulting in descending motion.

Consider the level of non-divergence shown in the figure. This is a level of transition from the positive to
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negative divergence, and vice versa. If this level is low in altitude, the high altitude pattern will predominate,
and the system will move eastward. If this level is high in altitude, the low altitude pattern will predominate,
and the system will move westward.

We have introduced here a classic theory qualitatively of the motion of pressure systems in mid-latitudes.
Although this theory may reveal considerable quantitative agreement with synoptic experience, also over the
Southern Hemisphere, we will develop and discuss quantitatively a set of equations that are less complicated
than the full set of primitive equations of motion in order to describe extra-tropical weather systems. This
set of equations represent the so-called quasi-geostrophic approximation. Why the theory is called quasi-
geostrophic? It is because if the winds in mid-latitude systems were perfectly geostrophic, such winds
never cross the isobars, and could thus not cause convergence into the low pressure system and therefore
no vertical velocity. Since we know from observations that vertical motion does exist and are important for
causing clouds and rain development in cyclones, the upward motion cannot be geostrophic. By including
this ageostrophic flow into the set of equations that are otherwise totally geostrophic, the equations are said
to be quasi-geostrophic, meaning partially geostrophic.
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The quasi-geostrophic approximation

To show that for motions that are hydrostatic and nearly geostrophic, the 3-dimensional flow field is deter-
mined approximately by the isobaric distribution of geopotential [®(z, y, p, t)].

The use of the isobaric coordinate system simplifies the development of approximate prognostic and diag-
nostic equations.

Scale analysis in isobaric coordinates

DV . - .
Horizontal momentum equation D‘t/ fExV ==V (3.2) also (6.1)
0P RT
Hydrostatic equation — =—a=—— (3.27) also (6.2)
op p
- . - o Ow
Continuity equation V- V+ B = 0 (3.5) also (6.3)
p
. . 0 4 = J
Thermodynamic energy equation g +V-VI|T - Sw=— (3.6) also (6.4)
Cp
Total derivative in (3.2):
D 0 S o 0 Dp
— = V. — = — 6.5
Dt (6t>p+< V)ﬁ”ap [w Dt] ©)
Olné

From (3.6): S, = -T , static stability parameter [Sp ~5x107*KPa"! in mid-troposphere]

dp
The above set of equations still contain several terms that are of secondary significance for mid-latitude
synoptic-scale systems. They can be simplified further by

1) horizontal flow is nearly geostrophic
2) the magnitude of the ratio of vertical velocity to horizontal velocity is of the order 1073,

Separate the horizontal velocity into geostrophic and ageostrophic parts:
kEx Vo V,=V -V, (6.7)
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Regarding fj: It is assumed that the meridional length scale (L) is small compared to the radius of the Earth
so that the geostrophic wind (6.7) may be defined using a constant reference latitude value of the Coriolis
parameter.

For the systems of interest

1

a

179 V,| or ~ O(Ro), thatis the same order of magnitude as the Rossby number

>

i

@

<R0 = v ~ 0.1 from Page 41 of Holton 4)
foL

Momentum can then be approximated to O(Ro) by its geostrophic value, and the rate of change of momen-
tum (or temperature) following the horizontal motion can be approximated to the same order by the rate of
change following the geostrophic wind.

In equation (6.5):
1) V can be replaced by Vg

2) the vertical advection which arises only from the ageostrophic flow can be neglected.

l

DV Dyl
" Dt Dt
where D 5 9 5 5
' -
—_ = V== — — 6.8
Dt ot ot T T gy (6.8)
Note: Newton’s second law; a form of the momentum equation:
DU - o T .
— =-20xU—-~-Vp+g+F, (2.3)
Dt p

The dynamical effect of the variation of the Coriolis parameter with latitude needs to be retained in the
Coriolis force term in the momentum equation. This variation can be approximated using a Taylor series:

d
f=fo+ <dg];> (y + yo) + higher order terms
ol

5= (f) .y = 0at d
Y b0

This approximation is referred to as the: mid-latitude S—plane approximation

f=1Jfo+By (6.9)

fo is the Coriolis parameter computed at a characteristic latitude, ¢g; the variable y measures the meridional

distance from this latitude.
df
-
dy b0

d :
= I (2Q2sin @) 4,
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From the figure below:

oy = ado
L1
by ado
a

1d )
SB= EdTZ)QQ sin @) g,
282 cos ¢g
o a
The ratio of the terms on the right of (6.9):
By BL  2Qcosgo I 1
fo fo a 2Q) sin gbo
L —45°
= C(_)S %0 ~ O(Ro) < 1 Note: M = —1 and L is small compared to the radius of the Earth, a
sin ¢pa sin(—45°)

.. fo > Py, which justifies letting the Coriolis parameter be a constant fj

in the geostrophic approximation and using (6.9)

DV - o -
6.1): — + fkxV 4+V® = 0 (the acceleration following the motion, the Coriolis force and the pressure

gradient force are balanced)
Consider
FExV 4+ Vo = (fo+ By)k x (Vy +V,) + Vo
:fOEx%—kﬂygx%+fOExVa+6yExVa—fOEx
:fOExVa+6yEx17g+ﬁyExVa

S

Neglect the ageostrophic wind compared to the geostrophic wind in the term proportional to Sy:

Atmospheric waves influenced by the beta (3) term are characterized as planetary waves (also called Rossby
waves). These waves experience the curvature of a revolving planet through meridional changes in the
Coriolis parameter. The so-called beta effect may be considered to be small when a synoptic-scale storm
moves across only a small range of latitudes during its lifetime.

S FEXV YV~ fok x Vo + Byk x V, (6.10)
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The horizontal momentum equation i.t.o. geostrophic flow then becomes:

D,V I S
gtg:—fokxva—ﬁykx%

and each of these terms is O(Ro) compared to the pressure gradient force, and the neglected terms are
O(Ro?) or smaller.

f, » Py and |Fg| » |V, |

Bi”'xﬁfﬂ 'y |Valmﬁlvg|
DoVy e T (6.7): £V, =k xV®
Dt __ft; X ﬂ_ﬁ:" X g B I
(11 == “ VD = —f k xV
m-f;kx(ﬁvg)—ﬁfakxlfg i

1 since k x(k xV®)
== E(L’E‘ ng)

1 =
= ——(-vo)
10
= —Va
10
Next,ﬁ-Vrﬁ-(Vg+VG):ﬁ.%+ VARTA
Since Vg = ;E X V& is non-divergent, e ‘79 =0
0

Ox oy
> o Ow Oug  Ovg | Ow

(6.12) means that w is determined only by the ageostrophic part of the wind field.

0 -~ = J
The thermodynamic energy equation (6.4): <8t +V. V) T - Spw =

Cp
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However, the horizontal advection can be approximated by the geostrophic value

8 s —d J
* — . _— _ —
..<5t+[/g V)] Spw—cp

The vertical advection is not neglected and forms part of the adiabatic heating and cooling term. This term
must be retained because the static stability is usually large enough on the synoptic scale so that the adiabatic
heating/cooling due to vertical motion is of the same order as the horizontal temperature advection.

Simplifying the adiabatic heating and cooling term: Divide the total temperature field, T3¢, into a basic state
(standard atmosphere) portion that depends only on pressure, Tp(p), plus a deviation from the basic state,
T(x,y,p,t).

Deviation from the basic state

e N—
Ttot(xvyapat) = TO(p) + T(I7y7p7t)
——"
Basic state
Static stability parameter in the isobaric system
T 00
=__2 3.7
P 0 Op 3.7)
Olnf Olné
Sy, =-T =—
P B " ap
dTi oT
because dipo > ’ a

o is the potential temperature that corresponds to the basic state temperature 7, which is only a function
of p [Ty = To(p)].

. (911190 . dln@o

Op dp
dIn 8y dlnfy /p R
5 O dp O dp (R) <p)
B _RT0d1n90 <£>
~p dp \R
o RT0d1n00
o= ——
p dp
ap
S, ==
PR
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(@ n9) B (5)- (B3

0 - 0P RJ KJ
G+ 9)(5) ==ra="5 I

The quasi-geostrophic equations form a complete set in the dependent variables @, Vg, V,, and w.

R} (6.13b)
Cp

V, = Lixdo (6.7)
fo
D,V, I S
;)tg = —fok x Vo — Byk x Vj, (6.11)
du, Ov, Ow
& 12
oz + y + Op 0 (6.12)
0 - = o0 kJ
9 : . I 6.13b
<5t+vg v>< 319) T (60.130)
The quasi-geostrophic vorticity equation
k\/j
. 1 - =
V,= —kxV® (6.7)

_0e. 0
az” oy
o o
2 fovg = o foug = ~ay (6.14)
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Geostrophic vorticity

i J ok
T
— k. e
S vV or Oy 0
ug vy 0
_ i i (v _ Ok
N Ox y
Ovg _ Ouy
ox dy
oD (L1O0Y o (1 ( 0%
0 0\ fo O oy \fo \ Oy
1 (0?00 1,
-1 <6332+5y2> ~ £V 6.15)

This equation can be used to determine (4(x, y) from a known field ®(z, y).

It can also be solved by inverting the Laplacian operator to determine ® from a known distribution of (g,
provided that suitable conditions on ® are specified on the boundaries of the region in question.

Vorticity is a useful forecast diagnostic: if the evolution of the vorticity can be predicted, then inversion of
(6.15) yields the evolution of the geopotential field, from which it is possible to determine the geostrophic
wind and temperature distributions.

Note: The Laplacian of a function tends to be a maximum where the function itself is a minimum...

1
@:%v%

It will be shown later in the course that V2® o —®.

In Northern Hemisphere:

1
f—V2<I> x —® since fo >0
0

SoCg o =P

—> positive vorticity implies low values of geopotential, and vice versa.
Atridge @ is a maximum, thus ¢, < 0

At trough @ is a minimum, thus ¢, > 0

In Southern Hemisphere:
1_, .
—V*“® x ® since f <0

fo
LG @
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= positive vorticity implies high values of geopotential, and vice versa.
At ridge ® is a maximum, thus ¢, > 0

At trough ® is a minimum, thus ¢, < 0

The quasi-geostrophic vorticity equation can be obtained from the quasi-geostrophic momentum equation

(6.11):
D V — — — —
gtg = —fok x V, — Byk x V,
Dg - - - - - = - 2
Ft(ugz +vg7) = — fok X (ugt + v47) — Byk X (ugi + vgy)
= — fouaf — fo(—vad) — Byugf — By(—vgi)
D
" FZUQ = fova + ﬁyvg
D
& Hivg = —fouq — Byug
D
g Hiug — fova — Byvg =0
Dy
& Ftvg + foua + Byug =0
0 0
6.17) — —(6.16) :
5617 = 7 (6.10)
0 (Oug Oug Ouyg B
2y ( En + ug e + vy By fovg ﬁyv9> =0
=0
0211,g n i 02'11,9 n %% . % L v,
Ayt 9 9zdy " By By By 00y
op oy Ovg
= — B == —By—= =20
—~
=1
and o (0 9 9
Vg Vg Vg
[ 229 79 79 u =0
oz ( ot Tlagy Uiy, T +ﬁyug>
=0
o, | L P 0y o, Ao O
Oxot “99z2 T o oy Yy 0z
op oy Ouyg
+ Oxyug—{_ﬁ Oz ug + By ox =0
<~

(6.16)

(6.17)

ey

2
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821)9 82ug 8209 82ug 8211 82

000t~ oy0t T 02 " “amay T amay " oy +f0 +f0
Oug Ovy  Oug Oug  Ovg Ovg  Ovg Oug
Or dx dy Or %67 S 9y oy

0B 0 Jug avg
+ o Yug + 8yyvg+ﬁvg+ﬁya + By

8 ov ou o (0v ou 8 ov ou Ooug,
i (=) s (=) oy (= ) 0 (5
N Jug <8vg B 8u9> N vy (81}9 Oug>
Or \ Ox y Oy \ Ox oy
+ “Bterms” =0

Ky (O O

Ox oy
8ug vy
o < x oy >

dug 0
+0—|—0+Bv9+6y<1;g+2q> =

=0

But the divergence of the geostrophic wind vanishes:

-

V-V,=0
~Oug  Ovy
" Ox + oy

[ g_{_ Q_F 2 Co=—Ff 81%”_}.% — Bo
ot " "ar T8y )T T o T Ty g

=0

Take note
Dyf _ Of 8f af _
~~
=0 70
:0+Vg'§f:6vg
0(y Oug (%a o
8t+V VCg— fo( 8y Vy-Vf
3ua 3% ow
F 12 = ——
rom (6.12): (‘9y 8p
%y 0\ g

ava
Jy

)

(6.18)

(6.19)
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In words: The local rate of change of geostrophic vorticity is given by the sum of the advection of the
absolute vorticity by the geostrophic wind plus the concentration or dilution of vorticity by stretching or
shrinking of fluid columns (the divergence effect).

—

Vorticity tendency due to vorticity advection: — % V(¢ + f)
= —=Vy- V(g = By
X_/;] . ﬁgg : geostrophic advection of relative vorticity
Bvy : geostrophic advection of planetary vorticity
For disturbances in the westerlies, these two effects tend to have opposite signs.

Consider the figure for an idealized 500hPa flow in the Northern Hemisphere.

|
|
|
|

|
|
|
| - |
| | |
I 1 |
i i |
H | H
| i
| I I
| ! I
;I'I:o l I ll gqfo
' I
i Cq >0 1
W — ; : : E
|
| V'VWhe<D | Ng:Vis20 JI
| | :
| I | ¢ | _y, 4i
| Tay0 ;| T
SR S
1 I

In region I, upstream of the 500hPa trough, the geostrophic wind is directed from the relative vorticity
minimum at the ridge towards the relative vorticity maximum at the trough.

LV, V>0 = —V,-V(, <0
At the same time v, < 0 in region I because it is directed southwards.

Take note that 5 = 22 cos ¢o/a > 0 in both hemispheres.
S Bug <0 = —Pug >0
We now have in region I that the:

1) advection of relative vorticity tends to decrease the local vorticity

2) advection of planetary vorticity tends to increase the local vorticity.
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The same arguments can be applied for region II.

Therefore, advection of relative vorticity tends to move the vorticity pattern and hence the troughs and
ridges eastward (downstream). However, advection of planetary vorticity tends to move the troughs and
ridges westward against the advecting wind field.

The net effect of advection on the evolution of the vorticity pattern depends on which type of vorticity
advection dominates.

|
|
I
L

e

o
o

W Ll

p—— A —— =] —— = —— =

I a0
I
I

Consider the schematic of the 500hPa geopotential field in the Southern Hemisphere above.

The advection of the absolute vorticity by the geostrophic wind:

~Vy V(¢ + f) =~V - V¢ — Bug

Region I: Advection of relative vorticity is positive because we are going from ¢, < 0 at the trough to ¢, >
at the ridge.
SV V>0 = —V,-V(, <0

We have shown that 3 > 0. However, in the region v, points southwards. Therefore, v4 < 0.

By <0 = —Buy >0

Region II: —Vg . ﬁcg > 0, because advection of relative vorticity is negative and —/3v, < 0 because v, > 0.

Consider an idealised geopotential distribution on a mid-latitude 3-plane of the form
O(x,y) = ©o — foUy + foAsinkz cosly

®, a constant zonal speed U, and amplitude A depend only on pressure. Wave numbers k and [ are defined
as k = 2w/L, and | = 2n/L,. L, and L, are respectively the wavelengths in the x and y directions. y
in the geopotential distribution equation is given by a(¢ — ¢g), with a the radius of the Earth and ¢ the
latitude at which fj is evaluated.

For ¢ — ¢o = 6°, y = 6.67 x 10°m
=3° y=334x10°m
=1° y=111x10°m
=10° y =111 x 10°m
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Therefore, for 10° displacement in y, y is approximately equal to the length scale, L, of 10° m

1
ug = 5 88 (Po — foUy + foAsin kx cosly)

=U — Asinkz(—Isinly) = U + lAsin kzsinly

10 1
vg = — P = — (fokAcoskxcosly) = kAcos kx cosly

foOx o
1[0 02
= (L + % Vo
S fo (8962 + 8y2>
aa (fokA cos kx cosly) = — fok? Asin kz cos ly
62( foU — folAsinkzsinly) = — fol2 Asin kz cos ly
1
.. Cg - %
= —(k* +1*)Asin kx cosly

(—fok® — fol?) Asinkz cosly

Advection of relative vorticity:

—‘79 : ﬁg“g = - (uﬁ%— vgf) . (é?z—i- ;; ) Cq
9, 9

Hg ox Vs y
= —uy(— (k% + 1%) Ak cos kx cos ly) — vy(—(k* + 12) Al sin ka(— sin ly))
= —ug(—(k* + 1*)vg) — vy ((K* + %) (ug — U))
= ugug(k* +1%) — ugvg (k* + 12) + v, U (K* +1?)
= v,U(k* +1?) = Ak cos ka cos lyU (k* + 1?)
= kU (k* +1*)Acos kx cos ly

Advection of planetary vorticity:

df

@ = —vyf8 = —BAkcoskxcosly [B = 2Qcospg/al

Advection of absolute vorticity:
—1_/;] . 6(@ + f) = kU (k* 4+ 1?) A cos kx cos ly — Ak cos kx cos ly
= kAcos kx cosly(U(k* +1?) — )

2 2
k= L—W, l= L—W with L, and L, the wavelengths in the = and y directions, respectively.
T Yy
Consider | = & x 10~"m™! for fixed L, wavelengths. However, we want to determine the effect of L, on

the advection of both relative and planetary vorticity, and so wavenumber k varies with a range of L, (i.e.,
1000 km to 12000 km). We therefore need to evaluate U (k? + [?) against 3 as shown in the figure below.
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Relative vs Planetery Vorticity Advection

Uk? + 1?) x 107"

X10 1
beta = df/dy at 45 degrees Y 0.4195 ||

2 4 6 8 10 12
L in 1000 km

Take note that the term representing the advection of relative vorticity (U (k% + 12)) at L, = 3000 km is
about ten times larger than the value at L, = 10000 km. This result implies that relative vorticity advection
is multiple times larger than planetary vorticity advection at 3000 km where there is a clear exponential
inflection on the figure.

By considering a simplified version of an idealised geopotential distribution, a similar result is obtained.

®(z,y,p) = Po(p) — folUoysin <7;p> + foAsin kx
0

19 1 . (7D . Wp)
- Y% _~|(_tU V) @ p
“ fo Oy fo( fo Osm<p0>) Osm<po

10 1
vg = %%dﬁ) -5 (foAk cos kx) = Ak cos kx

g ! <88$ (foAk cos kx) + 8(2/ (—foUo sin (Z)))

o
1 2 . 2 :

- f— (—foAk: sin kx) = —k“Asinkx
0

—‘_/; . ﬁcg = k*Upsin (Zf) Ak cos kx
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o=V V(G + f) = <k2U0 sin (”p> - /3> Ak cos kx

Po
= (k*Uy — B) Ak cos ka

when py = 1000hPa and p = 500hPa.

Here we also show the results of having different values of Uy, the constant zonal speed. Clearly, the strength
of a constant zonal wind will affect the wave lengths of short-wave systems, but will have a minimal affect
on the wavelengths of Rossby waves

Relative vs Planetery Vorticity Advection

40 !

U{) =5m/s
UG =10 m/s
U0 =20 m/s

———— hetg

2 -11
Uok x 10

beta = df/dy at 45 degrees

L, in 1000 km

Exercise 1: Suppose that on the 500hPa surface of the schematic above, the relative vorticity at a certain
location at 45°S latitude is increasing at a rate of 3 x 10~%s~! per 3 hours. The wind is from the northwest at
20m s~ ! and the relative vorticity increases towards the southeast at a rate of 4 x 1075 s~ per 100 km. Use
the quasi-geostrophic vorticity equation to estimate the horizontal divergence at this location on a S-plane.

Make use of the following assumptions:

1. The constant Coriolis parameter is equal to —10~*s~! in the Southern Hemisphere

2. [ is approximated by 10~ m~!s~!

L B
3. The following relationship is valid for natural coordinates: Vy - V(, ~ v%, where s is the distance
s
along the curve (500hPa contour)
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Solution:

0 S I
Bt = Wy Tt N+ (T V)
o =% g, 9
S VeV = T Vg - V(y vgay
_ 0% 9
=T Vs WY

o 3x10706s7t
=9 T " 9778 x 10710572
Bt~ (3 x 36005 X 5

¢y 4x 10 6g7!

= (2 —1 — 171072
vy — (20ms )<100000m> 8> 1077s

(20ms™1)? = u,® +v,%,  u, = v, (Pythagoras)

1
202\ 2
Ug =+ <2>

cvg=—1414ms™! (since v, < 0)
cvgf=—14.14ms (10" m s
= 1414 x 1071972

ot ds
= —(—107"s7H) T (2778 x 10710 + 8 x 10710 — 1.414 x 1071%) s
=9.364 x 107 %51, divergence

VeV =—f ! (8Cg+v%+vgﬂ>

Exercise 2: Consider the following expression for the geopotential field:

& = By(p) + cfo {—y [cos (Z) + 1} + k Lsink(z — ct)}

is a function of p alone, c is a constant speed, k£ a zonal wave number, and pg = 1000hPa.
Consider the following two assumptions:

1. Only consider the dominating vorticity advection (either planetary or relative) term applicable to short-
wave systems

2. Geostrophic relative vorticity only varies between trough and ridge axes in the z-direction

Use the quasi-geostrophic vorticity equation to show that the horizontal divergence field consistent with this
geopotential field can be expressed as:

(fo) "} (ck)? cos <7Tp> cos k(z — ct)

Pbo
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Solution: From Exercise 1: V - V = —fo~ (gt + V V) (Cg+ 1)

_ 109
YT T oy
g_foax
R VT
“= T
Y 0 Lo L
—foV~V:(8+V9-V>(Cg+f) O U0,V 47, 9

Cg - v 2‘.’ 2‘.‘ - hre g‘.‘ g‘.’
=5 + (ugi + vgg) (6 1+ j Cg + (ugi+vg7) 8:):Z+8y‘] f
8Cg ¢y ¢, 8f

ot Tl TV, Ty,

We are considering short-wave systems, which means planetary vorticity advection is dominated by relative
vorticity advection, thus vg/3 ~ 0.

Also according to idealized 500hPa geopotential field, (, only varies between trough and ridge axes in the

0
x-direction, therefore vy, —= S _ = 0.
Yy

9y 0
ot "9y

—f_1<a+ugaa)4

_foﬁ.{?

<L

<1
I

v2<1>
b= fo

— foly = (;; +§y22) (cfo{— [Cos (ZO> +1] +]1§sink:(x—ct)}>
2 (‘9 (cfo{ [cos (7;]09) n 1] + 7 sink(z - ct)}))

= 88x (cfgkk cos k(x — ct)>

= —cfoksink(x — ct)

8 (2 (o o (2) o+ ot}
5l (2) )
0
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foCg = —cfoksink(x — ct)
oGy = —cksink(z — ct)

109

= —foug = 86:; (cfo {—y [COS (Z)}) + 1} + %sink(x — ct)})

0

8t( cksink(x — ct))
= —ck(—ck cos k(z — ct))
= k2 cosk(z — ct)
d 0 .
%Cg = %(—ck sink(x — ct))
= —ck(kcosk(x — ct))

= —ck? cosk(z — ct)

R _J}O <c2k2 cos k(z — ct) + <c (Cos (ZO> + 1)) (—ck? cos k(z — ct))>
1

- (C%Q cos k(x — ct) + <ccos (7;0> + c) (—ck? cos k(z — ct))>

1
= 5 <02k2 cosk(x — ct) — 2k? cos <7rp> cosk(x — ct) — 2k? cos k(z — ct))
0 Po
2k2
= e cos <7rp) cosk(x — ct)
0

Exercise 3: Suppose that on the 500hPa surface the relative vorticity at a location just left of the ridge line
in the figure used in Exercise 1, at the 45°S latitude (where the Coriolis parameter can be considered to be a
constant value of —10~%s~! in the Southern Hemisphere) is increasing at a rate of 3.6 x 10~%s~! per hour.
The wind is, for all practical purposes, blowing directly from the west above the location (negligible north-
south component) at 20 m s~! and the relative vorticity increases toward the east at a rate of 4 x 1076 s~ per
100 km. Use the quasi-geostrophic vorticity equation to estimate the horizontal divergence at this location
on a B-plane. This is a short-wave system.

Solution:

%:_Vg'ﬁ(fg+f)+f08fw

0

(g7 ) (T 7)ot D)+ foy
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Since we can ignore advection of planetary vorticity,

an 8Cg an fO 8700

ot~ "ar T Yy
Since the wind at the location is blowing from the west, v, = 0
9¢y agg
o= e+ hog
&'J 1 (9 8Cg
=Jo < ot ",

%Ctg > 0 (increasing at a rate of 3.6 x 10~ 671

ug > 0 (wind from the west)

0
9% > 0 (vorticity increases per distance, and location is in Region I)

ox
Ow 4 _1\—1(3.6x1076s7! 1 4x1076s71
"aip:(_lo ) <1><60><6(Js +20ms 10°m
36 x 107
:_1O4S<36XO 572 48 x 107105 )

=—10" x (107757148 x 1071%s71)
=10 x (10 x 107"+ 8 x 1071%) s~

—

= —1.8 x 107°s™1, divergence since —6—w =V-
P

Quasi-geostrophic prediction

The geostrophic vorticity equation

(g S Ow
o = Vo VGt )+ fo o (6.19)
G = fOV2<I> (6.15)
9 ( V2o >:—17' -6( v2q>+f)+fo
Jo I Jo p
(b — —
—v2a =V, v< v2<1>+f) +fo
fo fo Ip
0P
Defining the geopotential tendency x = n
1 - = (1 ow
Vi =-V,-V <v2<1>+ ) + for 6.21
f[) X g fO f fO ap ( )
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. 1- o
Since V; = —k x V®, the right-hand side of (6.21) depends only on the dependent variables ® and w.
0

Next, we will obtain an analogous equation also dependent on these two variables ($ and w)

Consider the thermodynamic energy equation:

0 5 = 0P KJ
il il R = = 6.13b
(3t+v‘q >< 5p> T (6135
0 0P S 0P kJ
() 59 ()
L0 (0B _p (00w
op\ot) Y Op o P
ox 5 = /[0% KJ
ap Y v<3p> T
~ Joox _ _fop g (02N _ . ford
Multiply by fo/o: i UV:q \Y o fow =
Differentiate with respect to p:
0 ( foOx 0 [fon = /[0 Ow 0 (kJ RIydInéd
S fox) 9 g g ()] - e s L (B Sl 6.22
"0p<0 319) op O op fo@p fO@p op 7 p dp ©22)

The ageostrophic vertical motion, w, has equal and opposite effects on the left-hand sides in (6.21 fo 1V2x)

.9 (fodx
and (6.22. ap <0 8p)>

0 .
Vertical stretching [Tw > () ] forces a positive tendency in the geostrophic vorticity (6.21) and a negative
tendency of equal magnitude in the term on the left side in (6.22).

The left side of (6.22) can be interpreted as the local rate of change of a normalized static stability anomaly
(i.e., a measure of the departure of static stability from S, its standard atmosphere value).

To demonstrate this statement:

9 (foOx\_ 90
op\oOp) Op
9

Lo [1or
% sm)
B & (1\or 1 09T
o () % * 5,00 00
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0

Assume that S}, varies only slowly with height in the troposphere, thus S}, is nearly constant and ™ ( S];l) ~
P

0

~ =

0 (fodx\ . fooOT _ fo00T _ 9 (fooT
S, dp Ot S,0top ot

" op \o dp S0t 9p Sp Op
From page 5 of the notes:

Tioe=To+T {7} : basic state (standard atmosphere)}
ST =Thor — To

oT
Therefore — ~ local static stability anomaly

op

10T
oy " Local static stability anomaly divided by the standard atmosphere static stability
p OP

fo OT

Take note: - —— has the same units as vorticity, and is also a normalized static stability value.
p OP

When the tendency of the normalized static stability anomaly > 0:

0
ot \ 'S, Op

0 0
e @7?( < 0, the left side of (6.22)

Op \ o Op
An air column that moves adiabatically from a region of high static stability to a region of low static stability,
Ow/dp > 0.

1
Since (6.21) and (6.22) are analogous equations, the relative vorticity in (6.21), —V?y and the normalized

0
static stability anomaly in (6.22) are changed by equal and opposite amounts. The normalized static stability
anomaly is therefore referred to as the stretching vorticity.

Purely geostrophic motion (w = 0) is a solution to (6.21) and (6.22) only in a very special situations such as
barotropic flow (no pressure dependence) or zonally symmetric flow. More general purely geostrophic flows
cannot satisfy both these equations simultaneously as there are then two independent equations, and a single
unknown (®) so that the system is overdetermined. Thus, the role of the vertical motion distribution must
be to maintain consistency between the geopotential tendencies required by vorticity advection in (6.21) and
thermal advection in (6.22).
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Geopotential tendency

(6.21):
1 - o1 Oow
:v2:—v-v<v%+ >+ — 1
Assuming that the diabatic heating rate J = 0, (6.22) becomes:
0 ( fodx 0 |fon = /00 Ow
(2 - F 0y il I B At 2
0p<00p> 329[0‘/9 v dp fo@p @

(6.23) is often referred to as the geopotential tendency equation.

A. The local geopotential tendency
B. The distribution of vorticity advection
C. The thickness advection

If the distribution of ® is known at a given time, B and C may be regarded as known forcing functions and
(6.23) is a linear partial differential equation in the unknown .

Take note that the term A involves second derivatives in space (x,y) of the field y, and thus generally
proportional to — .

o . L .
X = — and we assume that the horizontal structure of ® (geopotential) in the extra-tropics can be repre-

sented by a sinusoidal function:

® = @(z,y,p,t) = Ap, t) B(z, y)

2
with B(z,y) = sin(kx) cos(ly); k = —W; l=—
L., L,

X = % (A(p, t) sin(kz) cos(ly))
o (fo® o

Term A: |V2 + — ( =~ | | applied to x:
dp \ o Op
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vy = ( o o ) [8‘4 sin (k) COS(ly)]

8z " oy?) | ot
9 2
— % (;ﬂ(sin(kx) cos(ly)) + aazﬂ(sin(klﬂ) COSUZ’J)))
5 2
= %/: <cos(ly)(,iﬂ2(sin(kx)) + sin(kx);gﬂ(cos(ly))>
*? 0 i
Y (sin(ka) = (kcos(ka)) = k2 sin(hr)
2
o (coslly)) = 5L (~tsin(ty)) = 1 cos(ty)

Vi = oA (cos(ly)(—k? sin(kx)) + sin(kx)(—1* cos(ly)))

ot
= %;1 sin(kz)) cos(ly)(—k* — 1%)
0A .
= —(K* + ZQ)E sin(kx)) cos(ly)

= (K 4+ 1*)x < —x

Since geopotential fields tend to lean westward with height in the mid-latitudes an upper troposphere ridge

often lies over or near the surface trough:

200hPa

po = 1000hPa
p = 200hPa

1000hPa

Figure 14: A full phase shift with height.

® = A(p,t)B(z,y); we dealt with the B(x, y) part on the previous page, and so we now consider

Wy

Alpt) = Q) cos ()

Po
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Regarding term A of the geopotential tendency equation, apply — 3 <fo ) to x:
D

Op

Lo () -[m (58] (= () %)
-5 (5 (o) (= (G2)
-5 [ (7 (G ()]

0
Assume that the standard atmosphere static stability parameter o, varies only slowly with height (i.e., —(e D= 0)

in the troposphere:

0P
Term A is thus generally proportional to —y (: )

Next, consider Term B:
— — 1 — = 1
—foVy -V (hv2@ + f> =—foVy V(¢ +f) [(6.15) (= v%}

Jo
L 3} P
— ¥y 96, - 1%, L7+ 515

o,y — folugi + vy - g;j;- (f # f())

L. of
= —foVy - V(s — foUg@
= geostrophic advection of relative vorticity +

geostrophic advection of planetary vorticity

Consider the schematic below of a 500hPa geopotential field in the Southern Hemisphere:
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H
i
|
{
|
1

Region I: Upstream of the 500hPa ridge, the geostrophic wind is directed from the relative vorticity mini-
mum at the trough towards the relative vorticity maximum at the ridge.

= Advection of relative vorticity is positive.
V-V >0
. foVy V¢, <0 inthe SH (fo < 0)
" —foVy V¢, >0  inthe SH

0
At the same time v, < 0 because it is directed southwards, and 8f = 8 = 2Qcos¢p/a > 0 (both
Y
hemispheres).
of
Sovgo— <0
Vg 3y
of .
fovga— >0 in the SH (fy < 0)
Y
of

—fovga—y <0 in the SH

For advection of relative vorticity:

[V2+i(€a>]xo<—x>0

Sox <0
_ 00

Ry
ot <

therefore the geopotential heights are falling between the trough and the ridge axis, downstream of the
trough axis.
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For advection of planetary vorticity:

of
dy <O]

|:_fO'Ug

—x <0

Sox >0

oo
>0

ot
which implies that the advection of planetary vorticity results in increasing geopotential heights.

Similarly for Region II:

—

—foV, -V, <0

in the SH

and

il -
7 WL BM]SOM SI9A0 LW IABM
1
‘0> ‘sajeulwop AJ1213J0A

ejaue|d JO UOIIBAPY

‘PIEMISED SIAOW DAEBM
‘0< m ‘saleulwop AJI21IOA
SAIIE[3] JO UONIBAPY

—

—

Advection of relative
bl

vorticity dominates, ﬂA 0, 1r

wave moves eastward.

-

—_

Advection of planeta

vorticity dominates, i >0 -

t
wave moves Eﬂm&e{mﬂ%

118



For a mid-latitude disturbance of given amplitude the absolute value of the relative vorticity increases for
decreasing wavelength.

Therefore for short wavelengths (< 3000km) the advection of relative vorticity tends to dominate, resulting
in the disturbance moving rapidly eastwards.

For long waves (> 10000km) the planetary vorticity advection tends to dominate, resulting in these long
planetary waves to be quasi-stationary.

Since ﬁCg and v, are zero at both trough and ridge axes, the vorticity advection term is zero:

Term B: — foV, - V¢, — fovgg‘;
v
=—foVy- 0 fo(o)@

=0

= Vorticity advection cannot change the strength of this type of disturbance at the levels where the
advection is occurring, but only acts to propagate the disturbance horizontally and (as shown in the next
section) to spread it vertically.

The mechanism for amplification or decay of mid-latitude synoptic systems is contained in Term C:

0 L o 09 20 [o o 00
-z _vag.v _92N_ fm 9 V, V(-—=—
Op o Op o Op Op
This term is called the differential thickness advection and it tends to be a maximum at trough and ridge
lines in a developing baroclinic wave.
— — a@ . . . . 8 d = a@
The term V-V | ——— | is proportional to the hydrostatic temperature advection, and — |V, - V 3
p

dp Op
is proportional to the rate of change of the temperature advection with height, or the differential temperature advection.

Consider below an idealized schematic representation of a developing baroclinic disturbance:

o
@ @ @
= - =
2 8 v
. E 5 R
s e O 83
@ -4} o
c 0 U ] oW
o 0 ca w

0 < = £ (=]

=9 - 2 =

o9 = >

w Q & °

w

o [~

9 L= -

- = o]

=

-

m

v

w

-

M

w

In order to determine the rate of change of the temperature advection with height (or pressure) at least two
levels in the vertical must be used. Here two layers are considered: 1000— 500hPa layer (lower troposphere),
and the 500— 300hPa layer (upper troposphere).

119



The figure above demonstrates that a developing baroclinic disturbance is characterized by the westward tilt
with height of the pressure system (the thick solid contours are to the west of the thin contours).

1. The tilting results in strong cold advection behind the cold front and strong warm advection ahead of
the warm front.

2. In the upper troposphere, the tilt of the pressure system is small.

These statements are demonstrated in the figure below.

D_
’ [-]
250
[}
o
&=
o
= S00f
o
8
o
B0
1000
-\ E—a

Figure 15: West-east cross section through a developing baroclinic wave. Solid lines are trough and ridge
axes; dashed lines are axes of temperature extrema; the chain of open circle denotes the tropopause.

In the upper troposphere the tilt of the pressure system with height in small. The result is that the thick-
ness pattern and the geopotential pattern become approximately parallel, which leads to thermal advection
becoming small there. Term C is thus concentrated in the lower troposphere.

For the case of the lower troposphere, we want to determine the sign and the magnitude of the Term C. The
horizontal thermal advection for this part of the troposphere (1000— 500hPa layer) is given by:

> = 0P
W9 (-%)

~ - 0P
where V is the geostrophic wind at the 1000hPa level, and V <—a> is a vector that is perpendicular to
p
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the 1000— 500hPa thickness lines. See diagram B on page 124. This vector points towards the warm sector
of the low pressure system, and is shown in B for two positions (the two arrows).

This angle > 90°, area of
This angle < 90°, strong warm advection

area of strong cold advection

cos @ > 01if 8 < 90°, behind cold front
cos @ < 01if 6 > 90°, ahead of warm front

Behind cold front (below 500hPa trough):

S = o
Thermal advection =V, - V <_?9> > 0, cold advection
p

Ahead of warm front (below 500hPa ridge):

- o

Thermal advection = ‘_/;] -V (8) < 0, warm advection
P

Recalling the discussion above that for a developing system the thermal advection is much smaller in the
upper troposphere than in the lower troposphere, thermal advection (both cold and warm) decreases with
height. So does tropospheric pressure.

L o~/ 9%
" 9 ( gV (—8>> >0 below 500hPa trough

0 (o = 09
and — < gV <—>> < 0 below 500hPa ridge

Since —:
&22 [%ﬁ<_6<1>>} <0 atridge
o dp Op > (0 attrough
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( 20 [4 = ( 00
At the ridge: fla— [Vg -V (— 5 )] < 0 (warm advection)
o op p
=X <0 *)
x>0
0P o o
\ 5 > (0 (geopotential increases with time)
( 20 [+ = 0@
At the trough: fla— [ gV <_8>] > 0 (cold advection)
o op P
x>0 (+)
% <0
0 . o
{ o < 0 (geopotential decreases with time)

(*) The effect of warm advection below the 500hPa ridge is to build the ridge.
(+) The effect of cold advection below the 500hPa trough is to deepen the trough.

—> The differential temperature or thickness advection intensifies the upper level troughs and ridges in a
developing baroclinic system.

The advection of cold air into the air column below the 500hPa trough will reduce the thickness of that
column, and hence will lower the height of the 500hPa surface unless there is a compensating rise in the
surface pressure. Warm advection into the air column below the 500hPa ridge will have the opposite effect.

The traditional omega equation

The vorticity equation (6.19):
9%y

- = Ow
ot —_Vg'V(Cg“‘f)‘f'foafp

(g and 1_/;] are both defined in terms of ®(z, y, p, t):

1 — 1 - —
(g=—V?® and V,=—kxV®
Jo fo
Therefore the vorticity equation (6.19) can be used to diagnose w (vertical velocity field) provided that the

fields of both ® and 8—? are known.

® : primary product of operational weather analysis

5 : can only be crudely approximated from observations by taking differences over 12 hours, since

upper level analyses are generally available only twice per day.

Despite this limitation, the vorticity equation method of estimating w is usually more accurate than the
continuity equation method discussed in WKD352 (the kinematic method). However, neither of these two
methods of estimating w uses the information available in the thermodynamic energy equation. Here we
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will develop the so-called omega equation for estimating the vertical motion by utilizing both the vorticity
equation and the thermodynamic equation.

Thermodynamic energy equation (6.13b):

v <_aq>) = V2 [Vg v (a@” + oV + gVQJ

ot op dp
o (0P - = (0D K
29 (0P o2 ] OPN| o2, Bo2
2 (Yl o ()] v e
- = (0P
.~.v2a—x =-V? [Vg -V 8)} oV - 2y (6.32)
Ip p p
Rewriting the geostrophic vorticity equation
1 A | Ow
—Vix=-V,-V <V2c1>+ > + fom- 6.21
Differentiate (6.21) with respect to p
o (1 05 =/1 0w
— VQ):—[ -v<v2q>+ )%
o (57) = a5 B ¥ (70 +7)] + s
8 2 a d = 1 2 2820.}
.2 — . V3P - 6.
vy (VX) = —og [Vg V<fov +f>}+fo W (633)

2 L 1 L [0}
(0255 o9 )t |V (e )| 92 79 ()] + 5
0
_ 9 o2y 02X
- Op (V X) Op

p
2f0 fo 5 S 2 Clorlp e (L92)| L Ay
<V + . 8;02) 08p [V V<f0V <I>+f>] JV {Vg V< p V<J (6.34)
2 42
. 2 fO 0
Term A : <V —l——a ap2>
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Term C : —VQ [V V( 8@))}
dp

K . : . . S
Term D : ——V?2J, but as with the geopotential tendency equation we set J = 0; .J is the diabatic heat rate.
op

The resulting omega equation:

8 re o 1 ole =/ 0®
(vl im) o= it o[ (5]

The omega equation above involves only derivatives in space (not time). This equation is thus a diagnostic
equation for the field of omega (w) in terms of the instantaneous geopotential (P) field.

Remember the operator in Term A of the tendency equation? It is <V2 + . <fo8> ) , and is very
P\ 0 Op

similar to the operator of Term A of the omega equation.

The forcing in the omega equation tends to be a maximum in the mid-troposhpere (500hPa), and w is
required to be zero at the surface and at the top of the troposphere. Therefore, for a qualitative discussion it
is permissible to assume that w has sinusoidal behaviour in both the horizontal and vertical:

w = Wpsin (Wp) sin(kx) sin(ly)
Po
' fo? 0? 0? fo? (7 . .
. <V2 + 787])2 w = W + @ + — o % W() Sin pfo Sln(kl') Sln(ly)

2

- (%2 sin(kz) [Wo sin <7;f> Sin(ly)}

88 22 sin(ly) [WO sin <;§> sin(kx)}

f2
a@p

— _K?sin(ka) [Wo sin <;§> sin(ly)}
— Psin(ly) [Wo sin <Z§> sin(kx)}
o <7T>2sin <Z§> (W sin(kz) sin(ly)]

Po

= 0 Siln 20 SIN( KT ) S1IN y pu 20
k2+12+1(f°77)2 w
g \ Do

. (Z) [Wo sin(kz) sin(ly)]
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.. Term A is proportional to —w

For synoptic-scale motions w = —pgw
WX —wW

. w < 0 implies upward vertical motion.

Since w < 0 implies upward motion, and

(Vz—i—fgw)woc—w

" (V2 + j282> w o< w, the vertical velocity

—> Upward motion is forced where the right-hand side of the omega equation is positive and downward
motion is forced where it is negative.

The omega equation with negligible diabatic heating:
2 fii fO ¥ =, 2 13 = 0P
(v 32) _Uﬁp[g v(cngf)}Jr o [Vg v< 3p>]
fo O

Term B: > op [V -V (Cg+ f )} , the differential vorticity advection.

This term is proportional to the rate of increase with height, or with pressure, of the advection of absolute
vorticity. To discuss the role of this term we consider an idealized developing baroclinic system. Moreover,
we consider a short-wave system where relative vorticity advection is larger than the planetary vorticity

advection. The figure below shows schematically the geopotential contours at 500hPa and 1000hPa for
such a system.

500hPa contours

H: centre of the surface high pressure system
L: centre of the surface low pressure system

At the centres of the surface high and surface low ﬁCg and ‘79 must be very small: Previously it was
discussed that, since V(, and V, are zero at both trough and ridge axes, the vorticity advection term is zero
at the axes. However, since the H and L centres are not located exactly on the 500hPa trough/ridge axis, V(,

and ‘_/’g are only very small (not zero) and so vorticity advection must be very small, that is ‘_/;7 -V (Cg+ f)
must be very small.
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Cg >0 = Cg>0
@ S =
Vg -Vn <o O Vg -Vn>0
8 .. _ &, a
o %(Vq vn)>o Haip(vg~vn)<o E
5004 (7 %) <0B 4, (7 %) -0
5 i s~
. 2.
i o
- =)

2,
o)
)
500hPa \ A \ En3 \
I
I
I

1000hPa

Vg -Vn~0
n= Cg +f

Southern Hemisphere

At point A, % . 677 < 0 since the flow is going from a ridge where ¢, > 0 towards a trough where ¢, < 0.

From the 500hPa level towards the surface where the high is (Vg . 677 ~ O), there is thus an increase in

‘79 . 677 along the vertical pressure axis. Therefore

l

681)( g-ﬁn)>0

o

1

g 617) < 0 above the surface high

At point B, ‘7; . 67] > 0 since the flow is going from a trough where (, < 0 towards a ridge where ¢, > 0.

From the 500hPa level towards the surface where the low is <17g . 677 ~ 0), there is thus a decrease in

Y_/;] . ﬁn along the vertical pressure axis. Therefore

Op
9 /o =
h o ( g n) > (0 above the surface low
o Op
. fo? 92 .
Considering that V2 4+ e w X w, and that Term B > 0 above point L, w > 0, that means
g Op

ascending motion.
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1 L o od
Since Term B < (0 above point H, w < 0, that means subsiding motion. Now for Term C: i v {th -V (_Oﬂ s
g P

and remembering that

O 0P
VgV <_8> > 0 for cold advection
D

and

5 o 0P
VgV <_8> < 0 for warm advection
p

Consider the diagram at the top of Page 126: East of the surface low, in the warm front zone, the warm
advection tends to be a maximum and west of the surface low, behind the cold front, the cold advection
tends to be a maximum.

5 = 0P
East of surface low: Warm advection, V, - V <—> <0

However, we have shown already (twice!) that VY x -Y

- East of surface low ~ V? ‘79

<11

>0

<11

vV, >0

%\%’%\%

1
‘o
w > 0 and maximum

),
).
oy
).

<h

l
/\/\ /’\/\\

%\%%\%ﬁ

West of surface low V2 Vg -

<h

V2|V, - <0

1
‘o

w < 0 and minimum

Sinking motion
The vertical motions forced by the (Term C)
horizontal thermal advection are:

Term B, subsiding
motion

W
Term B, ascending /

motion Upward motion
(Term C)

Bonus homework: Write a short essay (not more than one page) on the so-called Dines compensation.
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The Sutcliffe form of the omega equation

A problem with the traditional omega equation is that there exists significant cancellation between the two
terms on the right hand side of this form of the equation. Here we are presenting an alternative approximate
form of the omega equation that can be applied in synoptic analysis in the Southern Hemisphere.

First, employ the chain rule of differentiation for the two terms on the right hand side of the traditional
omega equation.

The omega equation:

<V2+fo>w—f°a [17 ﬁ(cg+f)]+ VQ{V ﬁ( 8(1))}

o Op? o Op Op
B C
Apply the chain rule of differentiation on Term B:

f 8V ( 9 ) ( 10V2® 0 f)
-V Voo + + V — + 5
Ip Jo / fo Op  Op
f 6V 9 1o = [0V

) —Vy - 6.35
o .V 0 V +f]|+ Vs \Y N (6.35a)

Also for Term C:

, L O (0D , 0 (0D L (V2D
g ()G () e () e

NOTE: The last terms in (6.35a) and (6.35b) are equal and opposite, therefore they cancel.

. <V2 + fo> w = Term B + Term C

o Op?
f av, 9 )
) B1
Op v<fov +f B
1[,., .0 (0D , L0 (0D
J[W w) o () + (7 5 (5] e

Scale analysis of these two expanded terms can help to compare the relative sizes of the two terms in order
to reduce them.
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Note: R=287JK lkg™!
1Pa=1Nm2
1J=1Nm

oV,

apg V(G+f)

fo

Term B1: — f
o

Z = 2
ap V<f0V <I>+f>

81_/:(, N 10ms™! B 1ms—!

Op 10 x 102Pa 102N m—2
=1072N"tm?s7!
=102kg 'mts?m3s!

=10"2kg ' m?s

(Cg +f)~= ( 107° — 0_4) g1

~ 10 Sm~1(107) s
— 10710 mfl Sfl

—4 -1
.'.Blwm%[lo kg~ m?s] [1070m s

1
=-10" kg tms!

L (o) 2 (92 4 (72 2 (22
Term Cl: . [(V “9) O <3p> + (V Ug) 0y (310)]

0%  RT 102JK 'kg ' (10%K)

9p  p 1000 x 102 Pa
10* Nmkg™! 3 1
= qPNmz 0 ke

. 1N
.C U7

1
o

1
= —107 ¥ kg tms?
o

<1U1 (107 m? kg_1)> ~ % (10°m) * 10m s 107! m* kg !
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. B1~ 100 x C1

2 2
— (v2+f§ap>w fo 8p9 V(¢ +f)

g

The remaining term on the right of this equation represents the advection of absolute vorticity by the thermal

fo®

wind. The left hand side, <V2 + 82> w, is proportional to —w. When w < 0 upward vertical motion

is implied, and the left hand side is proportlonal to the vertical velocity. Therefore, upward motion is forced

where — fo [ 8p (Cg + f) Bp

> 0, and downward motion is forced where — Jo [ (Cg + 1)

Consider an idealized schematic for a developing synoptic-scale system in the Southern Hemisphere mid-
latitudes.

w>0

Isotherm: level of constant thickness

Vr : thermal wind, directed along the
isotherms with cold air to the right

LN
c'o‘co I %\%
|
~— I \‘/ — —
RS Vg Vig <0
X ]
E Y
> >

Vg Vg >0

Cg <O ¢ >0 ¢y <0

Take note that the 500 hPa contours lead the 1000 hPa contours due to the westward tilt of the system. The
result is that the 500 hPa geopotential field lead the isotherm pattern on the figure. The thermal wind, V7, is
parallel to the isotherms, and so the term on the right that represents the advection of absolute vorticity by
the thermal wind can be estimated from the change of absolute vorticity along the isotherms.

Keep in mind that we are working here with short-wavelength synoptic-scale systems where relative vor-
ticity advection dominates planetary vorticity advection. Consider the region marked I on the figure of the
idealized system. In that region a surface low pressure system is located, and above this surface low at the

500 hPa level the relative vorticity advection is a positive maximum since <V§ . ﬁcg) . > 0. This
500 hPa
positive advection term is over the surface low pressure center and subsequently contributes to spin-up of

the cyclone because the wind is blowing higher positive vorticity into the area of the surface low. However,

~ 0 because (ﬁ@) ~ 0.

on the vertical axis of this surface low pressure (‘75] - 6@) P
1000 hPa

1000 hPa
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0 0 (4 = 0 (4 =
Apply the operator " to the absolute vorticity advection term. We get o (V V(¢ +f )) ~ e (Vg . VCg>
p P

for the short-wavelength system considered here.

5(@.@@):8@.@%@.%(%)

Op Ip
ov, - .
_ Bipg -V, since (4 = Cg(x7y)
We can write
av, 5(V, - V¢y)
w VT

_ (Vi - Vé)1000mpa — (Vg - Vg)s00nPa
1000 hPa —500 hPa
0 — positi 1
~ pf)?l ive value
positive value

—

oV, =
— —pg-VCg<0

For short-wave systems:

ov, -
ooV, =

fo

In region I where — vy -V (Cg + [f) | has now been demonstrated to be a positive value, upward motion

ap
is forced. Using 51m11ar arguments for the region over the surface high pressure system, downward motion is
forced. Therefore, upward (downward) motion is forced east (west) of the 500 hPa trough above the surface
low (high) pressure system.

Revisiting the idealized schematic for a developing system, upward motion occurs where relative vorticity
increases moving left to right along an isotherm, and downward motion occurs where relative vorticity
decreases moving left to right along an isotherm. Notwithstanding the increase in relative vorticity when
moving along the isotherm, in the Southern Hemisphere cyclonic storms are associated with negative relative
vorticity. Moreover, since (; oc ® in the Southern Hemisphere the negative vorticity is associated with
negative geopotential deviations in region I, which results in the 1000 — 500 hPa thickness decreasing there
leading to a developing trough.

S oo
Cold advection occurs behind the cold front, i.e. V, -V (_8) > 0, and warm advection ahead of the
D
- oo
warm front, i.e. V, -V <_8> < 0. As a result, the horizontal temperature advection is small above
P
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the centre of the surface low in region 1. Therefore, in order to cool the atmosphere—as required by the
thickness tendency—is by adiabatic (no heat or mass exchange with the environment) cooling through the
vertical motion field. As a result, in the presence of differential vorticity advection, the vertical motion
maintains a field in which temperature and thickness are proportional (remember that from the thermal wind

bo

equation we have seen that &1 — &9 = R(T) In ) ). Because of this proportionality, the vertical motion
o

maintains the temperature field, which is determined by the geopotential field.

The Q-vector

Objective: To better appreciate the essential role of the divergent ageostrophic motion in quasi-geostrophic
flow.

Here we examine separately the rates of change, following the geostrophic wind, of the vertical shear of the
geostrophic wind and of the horizontal temperature gradient.

The approximate horizontal momentum equation:

D,V, S o L
lg)tg = —fok x V, — Byk x V, (6.11)
Quasi-geostrophic momentum equations:
Dyu
(6.16) : l%tg — fova — Byvyg =0 (6.38)
D
(6.17) : 51)9 + fouq + Byug =0 (6.39)

Quasi-geostrophic thermodynamic energy equation

0 - = op J
(at+vg.v>T— (R)w_cp (6.13a)
D, 0 - =
Do VeV
DT op B i
Dt (R)‘“_ o (6.40)
vy R (0T
— = ——= | = 3.28
Pop =7 (ax )p 28
ou R (0T
and p—2 = = <) (3.29)
Pap ~ 7 \oy »
On mid-latitude 5-plane:
oug ROT ov ROT
9 _ -7 d -9 _ 77
0 Op p Oy and  fo 0 p Ox
Vector form: .
fOE X % = E§T (Bonus homework)
op p
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Obtaining equation for the evolution of the thermal wind components:

Dgug
Dt

fo ((6 38)) = foaap < — fova — Byvg) =0

AT 200
"foap |:<8t+ugax+vgay> :| fO fﬂyap—o

B2 () 2 (1,2 2 (o 2] el
“fO[ap(at>+a< ax>+8p<”gay>] fo foBy

.-.fogQZi GG ot + GG ggpgg f 2% - Iy -
‘.'foa = 82 +fo 9322 L 881;9 881;9 +f0881;)g Dug f028va ~ ﬁyafug
~Jo [Gt + gaa + gﬁa] 66:;: fo [861;9801;9 801;99631;9} fo gava o ﬁyavg _
=5 <f038@;g> —h [%1;9 e %fé)azg] " fOQav“ + o 6y8”9 (6.43)
Similarly:
Dt <f“%U§]> -l [852 %qf - Zf%ﬂ f02au” ~ foBy 8““’ (6.43b)
Bonus homework: Derive (6.43b)
Reminder:
s T i bt K[t st

However, the divergence of the geostrophic wind vanishes: V- 179 =0

Oug  Ovg Oug Ovg
" Ox + oy — Ox oy

8T8ug 8T8ug] B R [8T< 8vg> 8T0ug]

Oy Or  Ox 0Oy oy dy dxr Jy
{OT Ovg n OT Juy ]
dy 0y  Ox Oy
= —Qz
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aug oT ng oT

Q2 = — +

]

p oy ox oy Oy
_ R (Duy; 0u\ (0T O
 p \ Oy 8y‘] N 8y
R 0 > - d- 0~
= —Ea—y (ugz —|—vgj> . <8xl + 8yj> T
RO~ =
-2y .vr 4
pang \Y (6.45a)
For
al%_al% __E OT 9vg , T (Oug
oy ox  Ox Oy | 0y O oz \ Oz
_ R [0u, 0T | Ovg 0T
ox dr = Oz Oy
= Q1
0 __E Ouy 0T Ovg OT
! Or Ox  Ox Oy
R 0 - 0- 0~
_ RO . A\ (97, 9\ 1
p Ox (ugz + Ug]) <6:EZ * 8y‘7>
__ oy V VT (6.45b)
p Ox
Consider the thermodynamic energy equation
D, 7" op i
TR s (6.40)
0 o [0 0 0 op Ow 1 oJ
—((6.40)) : — | — — —|T=
57 (640) : 5 {a T, +%8y] R oz o 0r
_0°T Ouy 0T o 0T Ovg OT . o*T opow 19J
C0xot | Or 0z | Y9s2 | Ox Oy | Y910y R O cp Oz
‘82T+ 82l++ 82T Oug OT | Ovy OT +07p87w 19J
“oxdt T o2 T T ozay 9z 0z ' 9z dy) R Ox ' ¢, 0
0 n 0 . 0\ or 6ug oT 81)9 oT L oP opow  109J
at "oz g@y oxr or dr | Oz 6y R Oz Cp Oz
Multiply throughout by E:
‘ ROT\ = R (Ouy 0T vy 0T +087w+£@
'Dt pox)  p\dzxdxr Oz dy 0xr  pc, Ox
R (Oug OT  Oug OT ow kdJ R
N — = — 4
D <81‘ dr ' Oz 8y)+08$+p0x [K CJ (6.462)
ROT R (Oug OT  Oug OT ow kOJ
Y A 6.46b
Dt <p3y> p<5y dx Oy Oy )+08y p Oy (6400)
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Bonus homework: Derive (6.46b). Hint: Start by (%((6.40))

Revisiting (6.43a), and remembering

Oug _ 9y Ouy _ ROT Ovg _ _ROT
or Oy’ fo dp p Oy and ~ fo op  pox
Oug\ _ [ Qg Oty , vy O] 200 O
(fo )— Jo D on + oy Oy + fo o + foBy ap
_ RO Ouy 0T Oug| 200 v
 p |0y 0r Oz 8y] Jo Op + JobBy Op
__R[OT (0n) OTOw] g0 0,
op 3y( 8y) 3%’3.@] /o +fﬁy3p
B R T vy 62% 90U, vy
[3y3y+8x8y} o p+fﬂy dp
9 0Ug 0
= Qo+ fo* G+ Doy (647)
and for (6 46b):
ROT Oug 0T Qv OT Oow KOJ ow KOJ
MR 7 4
(p 3y> (ay dx Oy Oy > "oy "oy Q2+08 p Oy (€49
Dy (1 00\ _ . [Og vy | vy Ovg] 25% _ 3%
__E_al%_ai% _f28u“_f5%
o |0y Oz Oz Oy 0 Op Op
_ R [OQug OT | vy OT 20U Ouy
T p | 0z bz + Ox ay] fo Op JoBy Op
Oug 0
= Qi — o~ fobyg! (6.49)
and for (6.46a)
ROTY\ Oug 0T 81)9 oT ow KkOJ Oow KkOJ
Dt (p &U)_ <8x dxr ' dx dy ) &rjL &U—Q1+ 6:U+p3:r (6:50)

D, 0 ~
We set out to examine separately the rates of change < Dt) of the vertical shear < 5 v, ) of the geostrophic
D

wind and of the horizontal temperature gradient (VT). We subsequently derived two sets of equations
describing these relationships. The first set of equations, in Qg, is:

D ou ov
(6.47) : Fi ( 0(9pg> =—Q2+ fo - + fo By g (shear)
(6.48) : Dt (? 8;;) =Q2+ Ug(; + ;gj (temperature gradient)
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(6.48) — (6.47):

ot (ray) ~ o 5oy~ o (i) + @ G — vt | =

ROT Oug ow KkOJ 50V, vy
Dt<p8y_f0 >_2Q2_08 Y + fo ap-i-foﬁyap—o
Take note that
oug ROT
— = —— (6.41a)
“op  p oy
ROT . dug _
p 0y Op
ow kOJ 20, Ovg
90, — pes Y% _
Q2 3y poy Jo ap + foBy ap 0
ow 50V, Ovg Kk OJ
Uay - fo ap — foBy ap 2Q2 0 Oy (6.51)
(6.50) + (6.49):
foavg ROT Q1+f2a 8ug Ql—aaﬂ—fai:o
p Ox or pox
Take note that
fog (%g _ _ftor (6.41b)
p Ox
foﬁvg R@T _0
P ox
Kk OJ Oug 8u Oow
R e (T R
e 56—‘] (652
p Ox
0
%((6.52)).
o o, AN
e ~fo’ ( dp ) fogy@x ( p ) dxr  p Ox? &)
0
—((6.51)):
8y((65 ))
32 2 0 (Ova vy 81)9 B 8@2 k02T
3y — fo <3 > foﬁya <8 > fO/B - @_573/2 (B)
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(A)+(B):

0%w 0%w Oug 9 0 [0y, Ouyg
“oa2 T 7oy fo((?p)fo 3y< ) Toby g, <0p>
0 81)9 8119 B 8Q1 Q> K 82J K 9%J

0 [ 0Ou ov ou
Loo2 209 a\ 29 a g
soViw — fo 8x<0p) fo 0y<8p> foﬁy <8p>

- foﬁy2 (fwg) - f()ﬂ% =—2V.Q— gVZJ

dy \ Jp dp
We have:
1) The divergence of the geostrophic wind vanishes:
V-V, =0
COug  Ovg
. + oy 0
L Oug 9
" oxr Oy
8ua 8va Ow
2) (6.12 =——
) (6.12): ay ap
0 8ua 8 ou ov ov
oViw — fo? - foﬁy 7g+7g —foB5 > I
op (%' or
=—2V.-Q— fVQJ
coViw — fo22 0w =-2V-Q+ foﬁ% — 7V2J
Op Op
5 0w 0
Vit [ty = =2V G foB L — VR
= the Q-vector form of the omega equation.
From (6.45a,b):
G =(Q1.Q2)
—(-B0y 91 B0y gr
p Oz pay "’

(6.53)

(6.54)

Outside regions of active precipitation, diabatic heating is due primarily to net radiative heating, which is
weak in the troposphere. Therefore, the Laplacian of the diabatic heating can be neglected. Also, the term
related to the beta () effect is generally small for synoptic scale motion, and is subsequently also neglected.

The resulting Q vector form of the omega equation is

O*w .
w+f02—:—2v-Q
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Next we will discuss @ as a forcing function of the omega equation.

Previously it was demonstrated that <V2 + f082> WX —Ww

82
Multiplying throughout with o (o > 0): <0V2 + f0282> WX —w
p

So when < fol=— 5 + UV2> w > 0, we have ascending (upward) motion (w < 0)

<1 <L
Q1 &
ANV
o o

.. Negative divergence of (), i.e. convergence of Q, leads to ascending motion.

Similarly, when ( fol=— 5+ 0V2> w < 0, we have descending (downward) motion (w > 0)

—2V-Q <0
S V-@>0
.. Divergence of Cj leads to descending motion.
500 hPa o + Q(arrows)

+ 120 Hours until 2022/6/8/00 event

20°S

30°

2]

40°S -

50°S

60°S

Figure 1q: Omega
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500 hPa -2v-Q + Q(arrows)
+ 120 Hours until 2022/6/8/00 event

20°S

30

(]

40°

]

50°S

60°S

Figure 2q: Divergence

Figures 1q and 2q respectively show the omega (negative for upward motion) and convergence (negative di-
vergence) of the Q-vector fields as observed on 2022-06-08. The units are 10~'® m/kg/s for the divergence
and 10~'* m/kg/s for the Q-vectors. Shown in the diagrams are the values multiplied by 10'® (divergence)
and 10'* (vectors). Converging (diverging) Q-vectors show where upward (ascending) motion is found and
is for the most part in agreement with the omega fields.

Vg start  (Cgld

V, b
end ~
_ O

Q

Isotherm

Consider an idealized developing synoptic-scale system in the Southern Hemisphere mid-latitudes at the
500hPa level. The Q-vector direction and magnitude can be estimated by referring the motion to a Cartesian
coordinate system. In this coordinate system, the x-axis is parallel to the local isotherm and the y-axis is
perpendicular to the isotherm. Since warm air is to the left of an observer moving along an isotherm,
temperature increases in the positive y-direction in the Southern Hemisphere. In this configuration, the
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Q-vector may be simplified:

0, — R [2u 0T 0w, 0T
p | Ox Ox ox Oy
= —];%;]aaz since Z—Z = 0 (z-axis parallel to isotherm)
Qp = 1| 2ug 0T Ovy OT
p L0y 0z Oy Oy
_ Ry 0T
p Oy 9y
_ R u, 0T Oug | vy _
p Ox Oy 0 oy
=~ ROT (Ovy~ Oug-
== Q= pay(&nz 8:U>
consider — k x <%ugf+ 5;%;) — —kx %‘;9
auga, (%gq
=T T
= ROT - 0V,
Q__p oy <_k 83:)

The Q-vector can be obtained by considering the vectorial change of % along the isotherm. Consider
two cases, A and B, of an observer moving along an isotherm. For each case, draw an arrow describing
the geostrophic wind vector observed at the start of each movement. Draw a second arrow showing the
geostrophic wind vector at the end of each movement. Next, draw the vector difference from the head of the
start vector to the head of the end vector. The Q-vector direction points 90° to the left (anti-clockwise) from
the geostrophic difference vector in the Southern Hemisphere as dictated by the reduced Q-vector equation
above. The resulting vector, multiplied by 0T /dy, provides its magnitude.

Near the 500hPa low, the geostrophic wind change vector produces a Q-vector parallel to the thermal wind,
while near the high the Q-vector is anti-parallel to the thermal wind. The two Q-vectors thus converge in
the area between the trough and ridge lines where we have already shown upward motion to occur.

Ageostrophic flow

The characteristic horizontal scale of the geostrophic wind in the mid-latitude troposphere is about 10 to
20m s~ !, while the scale of the ageostrophic wind is an order of magnitude smaller, often only 1 —2ms~!.
Although the ageostrophic flow is only a small component of the wind field, the upward motion, omega
(w), is determined only by its ageostrophic part. Here we will further demonstrate the significance of the

ageostrophic wind components.
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Consider the following thermal wind relationship

Gug B R@T
“op  poy

Then the evolution of the thermal wind components leads to

Dy (494 _
Dt 08]) N

D, (ROT 8w Kk O0J
Zo (22 2
Dt <p 8y> Q2 + 8 + - 0y 2

avg

D

Assume that diabatic heating is small enough to disregard and consider the flow to be purely geostrophic
i.e. V, =0, and w = 0 because w is determined only by the ageostrophic part of the wind field

_(970‘) _ Oug n v,
op Oz y

Equations (1) and (2) are reduced to
Dy Oug\ Ovg
Dt<08p>——Q2+f05yap (3)

ROT
Dt (p ay>:Q2 4)

Scale analysis is subsequently performed in order to estimate the magnitudes of the various terms of equation
(3). First, consider the left-hand side of equation (3)

or (5 ) = 3 (0%) g (05) + e (050
ou U fOU2
<f0 g) L/Ufo = Top

8ug 8ug U f0U2
Ug 5 <f0 ) and Uga (fo ) ffO(Sp = Top

Consider the right-hand side of equation (3)

T T
Qp = — | Qug 0T | 00y OT |\ consider (3.28) and (3.29)
Oy Or 0Oy Oy

vy ROT 9T fpow,
8p f ox dr R 9p’

JQu _ROT 0T _ fpou,
ap f oy dy R Op
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) ~ Rfp | Ougdv, 0Ovy0uy
e R ]
| Oug Ovy  Ovy Ouy
Sit
Oug Ovg vy aug]

= (fo+ By) [ay ap By op

Assuming that the meridional displacement, , is at most equal to the length scale of 10% m, then

By ~ 107 m™ s x (105 m)

:10_58_1<<f0
Qo= fo | La Vg Oy Oy
Q2= Jo dy dp Oy dp
foU?
Lép

Scale analysis has therefore shown that the order of magnitude of the left-hand side of the equation and Q)2
is the same, which is

foU? 1074571 x(10ms~1)?

Lép  (105m) x 1000kgm—1s=2
—10 M kg ! m2s

y = |(f - fo)/beta]

X4
Y 0.4309

~ [

> L]

X49
Y 0.4622 J

021 8

0.1 8

35 40 45 50 55
Degrees South

Figure 16: Meridional displacement in absolute terms in the Southern Hemisphere.
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Since the meridional displacement y = 3~1(f — fo), the figure above shows that meridional displacements
between about 41°S and 49°S, y can be approximated by 10° m. As a result, scale analysis of the 3 term of
equation (3) results in

Oy, 107171107 m s x10°m x10ms™!

Op 1000 kg m—1s—2
=10"2kg tm?s7!

The S term is therefore an order of magnitude smaller than the rest of the terms and is subsequently disre-
garded. This result leads to

Do (fo%if) = -2

Dt
) __Dg 8ug
Q2= -5 (fo ap>

Dy (2ot

= — — , because of the the thermal wind relationship.
Dt \ p dy

However, the reduced form of equation (4) is

0, Da (ROT
" Dt\poy)’

which contradicts the scaled result for (J2. The implication is that in order to address this contradiction is
. . ou . oT ,
for either the vertical shear <8g or the temperature gradient e to vanish or be a constant. We can
P
therefore not ignore the ageostrophic wind terms, and so the ageostrophic circulation is required to keep the

flow in approximate thermal wind balance.

The role of ageostrophic circulation in vertical motion is implied through the determination of the omega
(w) motion field, since w is determined only by the ageostrophic part of the wind field

Oug N Ovg _Oiw
Ox oy  Op

However, the total ageostrophic flow field cannot be determined by the divergence alone, because

DyVy

i = —fok x V, — Byk x V,

By again neglecting the g effect for simplicity

D,V, S

= —fok xV,

Dt fO X Va
o 1- D,V
kxk x a:—%kx lg)tg
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The left-hand side is

- _(Valz‘i‘ Va?j)

-V,
. D,V,
'—Va:—*k g
' Jo Dt
AN ‘W V9T,
fo
1—' 8‘/ 1—* — — =
= —Fx S =k x V-V,
Jo Jo 7 7

The ageostrophic wind forcing therefore consists of two parts. The first term on the right represents the
isallobaric! wind, and the second term is called the advective part of the ageostrophic wind.

Consider the isallobaric term

1- 0 ~ 1~ 0 1- =
—kx =V, = —kx —|—kxV®d
fo mot 7 fy 3t<f0 >
= L ixrxv (22
fo t
:fg;;x;swx
0
1 - - 8)(—» 8X—»
- CExkx (R XX
fo? . X<31‘Z 5.@])
. 1 - (9)(—» aX—.»
= f02k X <a$j ayz)
1 ox- Ox-
:72 —71—7]
fo dx y
1 -
fo?

Therefore, the isallobaric wind is proportional to the gradient of the geostrophic tendency. Since fp? is
involved, there is no change of sign in crossing the equator. This isallobaric wind blows towards falling
geopotential in both hemispheres.

Next consider the term that is the advective part of the ageostrophic wind. At the synoptic scale, baro-
clinic waves grow in the mid-latitudes due to baroclinic instability (arising from vertical shear of the mean

'of equal or constant pressure change.
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flow and thermal wind). When such waves are part of the jet stream, the advective term is dominated by
zonal advection, since jet streams are quasi-horizontal with maximum winds embedded in the mid-latitudes
westerlies. Let @ denote the mean zonal flow, then

_ Lﬁg _87(1)_’_ 87(13_,
£ oz \ Oz ay’
1 .0 =

= The ageostrophic wind

Next, we will perform a scale analysis on this ageostrophic wind equation. First, do the scale analysis of the
isallobaric wind

10ms—! x (10 x 102 kgms—?2 m_Q)
108572 x (10 m)* x 1 kgm3
10 s73 1
BETISErre

145



Next, scale the term that is the advective part of the ageostrophic wind

1 .0

B
f02u8x
1 11
~ U250
#UTT0

__Ltu /1
S\

Udp

= ——— , which is the same as was found for the isallobaric wind.
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Figure 17: Mean zonal flow distribution at the two pressure levels indicated.

The scale analysis done here shows that both the isallobaric wind and the advective part are about 1 ms~1,

given both the typical horizontal wind speed and the mean zonal flow to be 10ms~!. However, profiles of
the time-mean zonal geostrophic wind, averaged over longitudes, show that for two isobaric levels, one at
850 hPa and the other at 300 hPa, that there is a strong jetstream at 300 hPa in the mid-latitudes.

Zonal mean winds of the 300 hPa jetstream are typically of the order of 30 to 40 m s~ in the mid-latitudes,
while at 850 hPa the zonal maximum wind is closer to the 10 m s~ value used in the scale analysis. There-
fore, at the 300 hPa jetstream the advective contribution to the ageostrophic wind dominates over the isal-
lobaric contribution. At both high and low latitudes, that is on the edges or flanks of mid-latitude baroclinic
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systems, zonal wind at the 300 hPa level are of similar strength and weak. Thus, at the flanks the two con-
tributions to the ageostrophic flow are similarly small so that the resulting ageostrophic wind is small. The
net effect is that at 300 hPa the ageostrophic motion is primarily zonal.

At the 850 hPa level, owing to the relatively weak zonal wind in the mid-latitudes, the advective part does
not dominate as it does at the 300 hPa level. Moreover, owing to the weak wind at 850 hPa at the flanks, the
advective contribution is nearly zero there. On the other hand, since the isallobaric wind is always directed
down the gradient of pressure tendency, it will cause a meridional component in both the northern and
southern flanks of the baroclinic wave, and a zonal component along the central axis of the wave. However,
along the zonal axis the isallobaric contribution may balance that of the advective contribution, with the
net result that the ageostrophic motion will only have a meridional component in the northern and southern
flanks at 850 hPa.

Vertical and horizontal motions in a developing short-wave baroclinic system
in the Southern Hemisphere — a summary

This chapter on the quasi-geostrophic theory started off by presenting a classic theory on the motion of mid-
latitude developing baroclinic systems in the Southern Hemisphere. In this theory the atmospheric level of
non-divergence (transition from positive to negative divergence, and vice versa) was introduced and it was
concluded that if this level is low enough in altitude that the system will move eastward. The eastward
movement of these systems fits into the theory of short-wave developing baroclinic systems discussed in
this chapter. The 500 hPa level is often assumed to be the level of non-divergence, and is about halfway
through the vertical depth of the mass of the atmosphere. Next, through the use of highly idealistic circula-
tion fields at the 500 hPa level the relative importance of the advections of relative and planetary vorticity
was investigated — relative vorticity advection dominates planetary vorticity advection for short-wave sys-
tems. Moreover, for fast-moving extratropical short-wave weather systems that are not rapidly amplifying or
decaying the local rate of change of geostrophic vorticity is represented only by the advection of geostrophic
vorticity. However, in the presence of developing systems this rate is also a function of the divergence effect,
which forms part of the ageostrophic flow.

Consider Figure X1 that shows a mean sea-level (i.e., 1000 hPa) pressure pattern represented by fine lines
and 500 hPa pattern by thick lines for the Southern Hemisphere. First we will consider vorticity advection
for short-wave systems at both the 1000 hPa and 500 hPa levels, by neglecting the effect of planetary
vorticity advection. The vertical lines on the figure respectively represent trough and ridge axes at 500 hPa
as well as at the surface. At the surface by the centres of both the low and the high pressure systems, the
geostrophic vorticity advection is close to zero. However, at the 500 hPa level above the surface low (high)
pressure system the advection of geostrophic vorticity is higher (lower) and positive (negative). Vorticity
advection is usually higher in absolute terms at 500 hPa than at the surface because the wind speeds tend
to increase with height, therefore 500 hPa winds near a trough will often be stronger than low-level winds.
Accordingly, there is a positive change in the vertical of the geostrophic vorticity advection, referred to
as differential vorticity advection, which is a negative value above the surface low owing to the decrease
in pressure with increasing height above the surface. However, in the Southern Hemisphere where the
Coriolis parameter is negative, multiplying the differential vorticity advection term with fj leads to a positive
differential vorticity advection term. Take note that rising air is implied by an increase with height of
cyclonic relative vorticity advection, which is the case above the surface low.
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The positive advection of relative vorticity at the 500 hPa level above the surface low pressure system has
implications for the horizontal displacement of mid-latitude disturbances. Consider Figure X2 as well as
the geopotential tendency equation. This equation consists of two terms on the right respectively represent-
ing vorticity advection (the dominant forcing term in the upper troposphere) and thickness or temperature
advection (largest in magnitude in the lower troposphere). Due to the advection of relative vorticity at
500 hPa above the surface low, geopotential heights are decreasing, while geopotential heights are increas-
ing at 500 hPa above the surface low. Vorticity advection at the 500 hPa level thus acts to propagate the
disturbance horizontally to spread it vertically. Regarding the temperature advection term of the tendency
equation, below the 500 hPa trough cold advection in association with the cold front occurs, while warm
advection in association with the warm front occurs below the 500 hPa ridge. The effect of cold advection
below the 500 hPa trough is to deepen the trough in the upper troposphere, while the effect of the warm
advection below the 500 hPa ridge is to build the ridge in the upper troposphere. What is the source of
this advection? Recalling the figure of a developing synoptic-scale system in the section that discussed the
Sutcliffe form of the omega equation, the 500 hPa contours lead the 1000 hPa contours due to the west-
ward tilt of the developing system. During this development the result is that the 500 hPa geopotential
field leads the isotherm pattern. While the angle between the geopotential height contours and the thickness
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contours increases, an increase in the horizontal temperature advection is the result. However, as the system
is allowed to further develop, the surface low pressure contours, the 500 hPa contours and the thickness
contours come into alignment with each other. This later stage of development results in the weakening of
the horizontal temperature advection and marks the end of the intensification phase in the lifecycle of the
short-wave baroclinic system.

The omega equation was used to determine where upward and downward motion in a developing system
may occur. Figure X3 shows the results from analyzing three versions of this equation, namely its traditional
form that consists of two terms on the right respectively representing differential vorticity advection and
thickness (temperature) advection, the reduced Sutcliffe form that only has one term on the right representing
the advection of vorticity by the thermal wind, and the Q-vector form. The differential vorticity advection
terms have shown that upward (downward) motion in the developing system occurs over the surface low
(high) pressure systems, and that the thickness advection forces upward (downward) motion at the 500 hPa
ridge (trough) axis ahead (behind) the warm (cold) front. Although the interpretations of these two physical
processes have apparent advantages as demonstrated here, in practice there is often a significant amount of
cancellation between them. For this reason an alternative, albeit an approximate form of the omega equation,
is often applied in synoptic analyses — hence the Sutcliffe version of the equation. This version showed that
upward (downward) motion is forced east (west) of the 500 hPa trough above the surface low (high) pressure
system. This finding is in agreement with the interpretation of the Q-vector form of the omega equation as
shown above.
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To summarize, temperature advection forces the strengthening of mid-tropospheric troughs and ridges, the
advection of relative vorticity acts to propagate the developing system horizontally, while differential rel-
ative vorticity advection forces rising (sinking) motion over surface low (high) pressure systems, as is the
advection of vorticity by the thermal wind.
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Linear perturbation theory

We wish to gain physical insight of atmospheric waves by employing simplified models. Here we introduce
the perturbation method to examine atmospheric waves and then to gain further insight into the development
of synoptic wave disturbances in terms of their origin and propagation.

Variables are divided into two parts consisting of a basic state portion and a perturbation portion. The basic
state portion is independent of time and longitude. Recall the total derivative of the z-component of the

eastward velocity, u:

Du  Ou ou ou ou
= U+ V— tw—

Dt~ ot Ox oy 0z

u—— 1is the zonal part of advective acceleration and is non-linear. We want to expand this acceleration by

ox

expanding the complete velocity field, u(z,t), into a time and longitude-average zonal velocity, u, and u/,
the deviation from that average:
uw(z,t) =u+u'(z,t).

The acceleration term then becomes:

0 0
ua—z = (H—i—u’)%(ﬂ—i-u’)
_Ou +78u’ N ,0u N ,0u’
=U—+U—+u——+u——
ox ox ox ox
ou’ ou’
=g + o' L since s independent of longitude.
ox ox
/ u/ /
However, | —| < 1, therefore |u| > ||, which leads to ﬂa— > v 52 | Therefore, terms that involve
x x

products of the perturbations may be neglected.

In the case of purely zonal flows:

0 o'
— (27 ,: 'm / 7 —
Dt(u—l—u) 8t(u+u)+u8x
_ou o
ot u@x’

which is the original non-linear differential equation reduced to a linear differential equation. For such equa-
tions with constant coefficients (i.e., @), the solutions are of a sinusoidal nature. In fact, when considering a
section of an atmospheric wave along a latitude circle, this flow is equivalent to a sinusoidal shape.
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A Fourier series represents a periodic function as a sum of sine and cosine waves. Consider the Fourier
series
f(z) = Asin(kx) + B cos(kx),

where A and B are real coefficients. The figure below shows the f(x) results for the phase angles as shown.

f(x) = Asin(kx)+Bcos(kx)
1F 4
o\ |

04r 8

0.2 5

_900
0— _1800 —
270°

amplitude

-4 -2 0 2 4 6
phase in radians

The figure shows a propagating wave as oscillations for various phase angles that propagates in the positive
direction. Atmospheric wave motions also are oscillations of variables such as pressure that propagate in
space and time.
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Shallow water gravity waves

In fluid dynamics, gravity waves are generated in a fluid or at the interface between two media, for example
the atmosphere and the ocean or between cold and warm air layers. When a fluid element is displaced on
such an interface, gravity attempts to restore the parcel towards equilibrium resulting in oscillations about
the equilibrium state.

wave length

warm air

dense cold air

wind direction s

The restoring force is in the vertical, even in the case of horizontally propagating oscillations, such as in the
presence of wind.

To mimic such as a mechanism consider a fluid in a channel. The back-and-forth oscillation of a lever or
paddle. The net result is a sinusoidal disturbance which moves towards the right along the wind direction as
shown in the figure above. Consider the example where the wavelengths of the waves are much greater then
the depth of the fluid. This configuration leads to the vertical velocities to be small so that the hydrostatic
approximation is valid:

Consider a two-layer fluid system as shown in the figure below. The density in each of the two layers is

0 (0p
tant, theref — ==
constant, therefore -~ ( 8x> 0
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Assume that there is no horizontal pressure gradient in the upper layer, so that the pressure, p, at points C
and D are equal. For the pressure at points A and B we have, respectively,
p+0p2 = p+ p2gdz
and
p+0op1 =p+ p1goz
where the hydrostatic equation was used once more and where the positive sign of both terms is a conse-

quence of the pressure change and the height change acting in opposite directions.

Consider h, the depth of the lower layer. The change of & is equivalent to the change in height, therefore
0z ~ dh.

oh
.0z = —0x.
.0z o T
Therefore
oh
p+0ps =p+ ngaffh’
T
and

oh
p+op1t =p+ P75 ow.
s

The pressure gradient in the lower layer, and taking the limit dz — 0:

dp lim (p+0p1) — (p+ dp2)

oz dx—0 ox
oh
g 6*(01 — p2)dx
= lim L
ox—0 ox

oh
= 90p_, With 0p = p1 = p2 (p1 > p2)

With two dimensional motion in the x-, z-plane, the momentum equation for the lower layer is reduced to:

Du 19p 10p .

Dr = —;% —;% since v =
ou ou ou 1 oh
o Y Ve T, (95%)

ou ou Ou  gopOh

8t+ ar Yoz p1 Ox
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Jv O

The continuity equation Ou T
1mui uatr -
Yeation e T oy T oz

ou ow
%= 9. (since v = 0)

By integrating this equation vertically from the lower boundary (¢ = 0) to the interface between the two
layers (z = h), leads to

= 0 1s reduced to

ou " )
= —— [ dz (ifitis assumed that u # u(z))
ax 0
ou
h) — w(0) = —h 2"
w(h) ~ w(0) = 3"
. . . L . Dh
For a flat lower boundary w(0) = 0; w(h) is the rate at which the interface height is changing: w(h) = or
Dh_oh oh  on oo
Dt ~or T Yow T Wa: (V=

8h oh
=5 + ua— since the change of height at any point is constant
T

on . oh o

T Ot ox Ox
oh 0 . . . _
T + F(hu) = 0 (according to the chain rule of differentiation)

We have subsequently obtained a closed set of equations in the variables » and h:

du, ou ou_ gipon
ot oz 0z p1 Oz

and

Next, we expand these two variables in terms of their basic state and perturbation portions:
u=u+u, h=H+HW,
where u is a constant basic state zonal velocity, and H is the mean depth of the lower layer.

0 op 0
u+u)+(ﬂ+u’)%(ﬂ+u)+0+gp—f%(ﬂ+h’)

assuming that u # wu(z). Using the linear perturbation method

815(

o’

a(u+u/) au

ot
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/
(T+u) = (ﬂ—ku’)a—u = ua—u +u,3u

0
_ /
(@ + ) Ox Ox or

oz
/

= ﬂa— since products of perturbations may be neglected
x

and op 0 dp On'
gop n _ 99p Oh
H .
p1 396( )= p1 Oz
Cou o gdp 8h’
oh 0
For Fn + %(hu) =0: ; "
H+ R
o) =5
and
0 0 p
() = - [+ B+ )]
0
= [Hu-i—Hu —l—uh’-i—uh]
= 68 (Hu') + a—(uh') since Hu is a constant value and u’h’ is a product of perturbations.
x x
o/ on’
= Hi u—
Ox o Ox

ot P T 70
(0  _0Y,, o'
0 .
Apply the operator H 7 to equation (1):
x
o ou 0%u'  Hgop O°K
H——+ Hu = 3
Ox 3t+ u8x2+ p1 Oz 0 )
o _0 .
Then apply the operator | — + u—— | equation (2):
ot ox
ot "oz ) o T \ae o) "o ot ox o )
82h’+ 0 8h’+ﬂgiﬁ+ﬂ282h’+ 2%+H 0*u’' _0
o2 "otor ot o oz ' 0w Ot 822
0N 0 on' 5 O%h' 0 ou o0*u’
——+7u H——+ Hu = 4
o Voo T o P oo T ez 70 @
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Subtract equation (3) from equation (4):

2n! 00N L8N  Hgbpd®n'

o~ 2 =
ot? + "ot oz o oz p1 Ox?
0 d\? Hgop O*K
. 7 . h/ _ —
"<8t+u8x> o 0a2 0

which is a form of the standard wave equation with a solution representing a sinusoidal wave propagation in
x. Such a solution can also be represented by an exponential function:

B = Aeik(x—ct)

and only the real part has physical significance. A is a Fourier coefficient and c is the phase speed that we
want to obtain.
2 52 2

preliprem and 2 and keeping in mind that

0? a (0 -
Zw=="(Z(Aa ik(x—ct)
a2 ot (81& < ¢ )

= % (Aeik@—ct)(—mc))

_ (_ikC)ZAeik(xfct)

— —Ak2c2ekE=ct) gince i2 = —1

Apply the following operators to the exponential function:

D, (eg(i)) - eg(z)g'(l«)

0? r_ 9 tk(z—ct)(;
oo = o (4e (i)

= Aike* =) (—ikc)

_ Ak,chik(z—ct)

9? / 0 ik(z—ct)(;
Sl = o (e (ik))
:A(ik)Qeik(z—ct)

— _Aerik(r—ct)

Therefore,
—AR22ekE—ct) | om AR2ceik(a—ct) | 72 <_Ak26ik(x—ct)) _ Hgdp <_Ak2€ik(m—ct)) —0
P1

Hgdp
P1

o=+ Uuc —u + 0
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Solving for a quadratic equation in c:

—(~2q) + <(—2u)2 4 <u2 - H95p>)1/2

P1
2

CcC =

1/2
—u+ <H95p>
P1

In the case of the upper layer air and the lower layer is water:

§p = p1 — pa ~ (1000 — 1) kgm? at 15°C
~ 1000 kg m®
_dp 1000
“pr 1000

Therefore, the phase speed ¢ simplifies to w + (H g)l/ 2, (H g)l/ 2 is called the shallow water wave speed.

1)
In the case of two atmospheric layers, o> 10~2. Therefore, the phase speed ¢ ~ u 4 (1071 H )1/ 2 if the
P1

1/2
gravitational acceleration is taken as 10 m s~2. The shallow water wave speed then becomes <10> .

Shallow water wave speed for an ocean depth of 3 km the speed is ~ 170 ms~!, while the shallow water
wave speed in the atmosphere at the height of the 700 hPa level, i.e. 3km above sea level, the speed is

~ 17ms~!. Long waves on the ocean surface travel very rapidly, while wave speeds for atmospheric waves
travel at about one tenth the speed of ocean waves.
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Rossby waves

The barotropic Rossby wave is an absolute vorticity conserving motion that exists due to the variations of
the Coriolis parameter. Waves need to have a restoring force associated with them, and for Rossby waves
that is the S-effect. The Coriolis force varies as you go north and south away from a reference latitude. This
movement has a response on relative vorticity, causing deviating fluid parcels to be redirected back towards
the reference latitude.

<0

(>0 -7 (>0

Figure 18: Solid wavy line shows the original perturbation position of a chain of fluid parcels. Dashed line
shows westward displacement of the pattern to be explained later in this section.

Consider a closed chain of fluid parcels initially aligned along a constant circle of latitude. The absolute
vorticity, which is the sum total of relative vorticity and the Coriolis parameter, or planetary vorticity, is
conserved in large-scale Rossby waves. At time #(, absolute vorticity is zero, and at a later time ¢1, dy is the
meridional displacement of a fluid parcel away from the initial circle of latitude. As a result, at time ¢;

(C—i_f)tl = (0+f)to
S = fro — fro = —(fr, — fro) = —6f

af 0 f = Bdy, therefore (;, = —[dy.

Si = —,

ince 3 a
[ is always positive and dy is negative (positive) for a parcel displacement to the north (south) of the refer-
ence latitude. Therefore, the perturbation vorticity will be positive (negative) for a southward (northward)
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displacement.

The horizontal distribution of geopotential at the 500 hPa level and the associated relative vorticity field
are shown in Figure 19 for two wavelengths and for two mean zonal flows. The figure is for Southern
Hemisphere cases. Take note how the positive vorticity field corresponds with the 500 hPa ridges, and the
negative vorticity field with the 500 hPa troughs.
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Figure 19: Geopotential heights at 500 hPa in units of m, and relative vorticity in units of 1075s~!. The
top panels show the results for a 6000 km wavelength, and the bottom panels show results for a 10000 km
wavelength. The mean zonal flow for both cases is 20 ms 1.

The fluid parcels oscillate back and forth about their initial circle of latitude. Next, we want to complete the
speed of wave propagation by considering dy to be represented as a sinusoidal meridional displacement:

dy = asinlk(z — ct)],

where a is the maximum displacement of the fluid parcels, c the wave speed, and & the zonal wave number.

There is no zonal component so u =
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Meridional speed:

D D .
v= D—ydy =Dy (asinf[k(x — ct)])
= —kca cos[k(x — ct)]
Relative vorticity:
ov Ou 0
(= 9z oy oz (—kca coslk(z — ct)])

= K casin[k(z — ct)].

Attq:

k?casin[k(z — ct)] = —Basin[k(z — ct)]

s
k2

Therefore, the phase speed is westward relative to the mean flow.

C.c= < 0.

Next we want to further investigate barotropic Rossby waves by finding solutions of the barotropic vorticity
equation by applying the perturbation method. The Rossby wave is an absolute vorticity conserving motion.
In purely horizontal flow in a fluid of constant depth (the divergence term vanishes) the barotropic vorticity
equation is

D

— (g + f)=0.

= G+ 1)
Since absolute vorticity is conserved owing to the vanishing of the divergence of the horizontal wind, the
flow is not required to be geostrophic. Therefore,

0 0 0
R = — =0
(8t+u8x +’Uay>C+ﬂv
We next apply the perturbation method and assume that the motion is a result of a constant basic state zonal

velocity plus a small horizontal perturbation, u = w + v/, and a meridional perturbation as a result of the
o' o

fluid parcels oscillating back and forth about a latitude circle. Therefore, v = v’ and ¢ = T wi ¢
x Y
The perturbation stream function is defined according to
oY’ oY’
r_ _i and o' )
dy Ox

o (o o (o 0? 0?
e _— _ — _— = _ 4 = VQ !
Then ¢* = ox <8x> y < oy 22 * oy? 4 v
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Expanding on the barotropic vorticity equation

ﬁ a7 /g /2 2 11 I
<at+(u+u)ax+v6y>v¢ + pv' = 0.

Ignoring products of perturbation terms leads to

o _0 9 oy

As before, we seek a solution of the form
w/ — Re [\Pei(kx+lyfut):|

where k and [ are wave numbers respectively in the zonal and meridional directions, v is the angular fre-
quency, and ¥ an amplitude coefficient.

Consider the terms of the perturbation barotropic vorticity equation separately:

First
0.y O (ka+ly—vt) s i(ka-+ly—vt)
_ WRT Yy—v 7 1KkT Yy—v
V= 92 <\I/e ) + 0 (\Ile )
— (i) 2\ otk tly—vt) -\ 2\y 4 (kz+ly—vt)
(ik)*We + (il)* e
— (12 2 i(kx+ly—vt)
(k= 4+ 1%)We
Then
gtv2wl _ iV(kz + lQ)qlei(kx+ly—Vt)
and 9
aafv%p’ = —iku(k? + 1?)Weilkotly—rt)
T
and

o ik AUk +y—vt)
ox

The perturbation barotropic vorticity equation then reduces to:

v(k* + %) —ak(k* +1*) + kB =0

',V:Ek‘—i
(k2 +12)
. v
Smcec—%,
(k2 +12)

For the case of the mean wind, @, vanishing and the meridional wave number, /, tending to zero,

c:—g<07
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as before, always westward relative to the mean zonal flow.

The Rossby wave phase speed varies with k, and the wave is therefore dispersive. A zonal wave number can
typically be defined as k = 27s/ L, with s (the planetary wave number) an integer number of waves around
a latitude circle. For a typical mid-latitude synoptic-scale disturbance with [ ~ k (similar meridional and
zonal scales) and a zonal wavelength of about 6000 km

_ p B 1%

C_UZ_2T<:2:_2 ors\2  87ls?
L

—107" m~ts71(6 x 10m)?
8m2s2

which is the Rossby wave speed relative to the zonal flow. The Rossby wave phase speed therefore depends
inversely on the square of the number of waves around a latitude circle, the phase speeds decrease rapidly
with decreasing wavelength.

Take note that since the mean zonal wind is generally westerly, synoptic-scale Rossby waves usually move
eastward if the zonal wind is stronger than the Rossby wave speed. However, the Rossby waves move
eastward at a phase speed relative to the ground that is somewhat less than the mean zonal wind speed.

For longer wavelengths, say L ~ 8 x 10° m, the westward Rossby wave speed may be large enough so that

resulting inw = — ms~ .

the resulting disturbance is stationary. This implies that ©w = 3
S

2k2’

Since Rossby waves are dispersive (these waves may have different wavelengths that propagate at different
phase speeds) the resulting downstream development of new disturbances is of interest to weather forecast-
ing and consequently need to be discussed further. The group velocity, the velocity at which the observable

. . v
disturbance propagates, is ¢y, = —- for the zonal case. Therefore,

Ok
Ok (k2 +12)

“v g )

Consider the quotient rule of differentiation that states

a < f@)) 4 U@)a@) — 5 0(0) S

g(z) (9(x))*

Therefore,

0 [ k ]:lx(k2+l2)—2k><k
(

ok | (k2 +12) (k2 +12)?
2 —k?
GCESRE
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_ 12— k2
" Cgr = U — ,87(1{;2 FWEIE

For stationary waves (uw = 0) and with diminishing meridional wave number [,
ng = ? > 0,

therefore always has an eastward zonal component relative to the Earth. Since the wave energy propagates
at the group velocity, Rossby wave energy propagation is downstream.
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A two-layer model to understand baroclinic
instability

Quasi-geostrophic theory accounts for the observed relationships between vorticity, temperature and vertical
velocity in mid-latitude synoptic-scale systems. Lacking, however, is quantitative information on the origin,
growth rates and propagating speeds. In this section we want to analyse the role of relative vorticity in the
development of these systems. For this purpose we will introduce the concept of dynamic instability. This
type of instability deals with waves in a moving fluid system such as the atmosphere.

Barotropic instability arises from vorticity distributions in a non-divergent, two dimensional flow — this
instability is associated with horizontal shear. Such instabilities grow by converting kinetic energy from the
mean flow between the air current and a perturbation. A necessary condition for barotropic instability is that
the vorticity field has both positive and negative signs in the domain, as we have seen in the discussion on
Rossby waves.

0 0
250 --memmmmmmmoeos L S 1
©
< 500 2
Y3
5O oo 3
1000 4

Baroclinic instability is associated with vertical shear arising from the existence of a meridional temperature
gradient of a synoptic-scale disturbance. Such a system converts potential energy of the basic flow into
kinetic energy of an induced perturbation.

In our analyses to follow on baroclinic instability we again assume that a small perturbation consisting of
a small Fourier wave mode of the form e**(*—<%) is introduced into the flow as explained through linear
perturbation theory. First, we discuss a simple model that can incorporate baroclinic processes as shown in

the figure above.

The atmosphere is represented by surfaces at the top of the troposphere (0 hPa; although at this pressure
level we are actually at the stratosphere), middle troposphere (500 hPa) and at the surface (1000 hPa). Take
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note that although the South African land surface is mostly at approximately 850 hPa, the mid-latitude
systems most often affecting our weather are located on the surface at sea-level.

The quasi-geostrophic vorticity equation is applied at the 750 hPa and 250 hPa levels. The thermodynamic

o
energy equation is applied at the 500 hPa level. We also define a geostrophic streamfunction, ¢ = —, and

0
apply it at the same level where the vorticity equation is applied.

— 1 — — 1

Recall the definition of the geostrophic wind V, = —k x V@, and geostrophic vorticity (;, = f—V2<I>, and
0 0

rewrite them in terms of the geostrophic streamfunction:

- 1

Vw:ff/gxﬁ(fow) - %:Exﬁﬂ)
0
L oo 2
Cg:%v (f(ﬂ/}) — Cg:v 7/’
Consider the geostrophic vorticity equation
9

I ow
ot - g'V(Cg+f)+f087p
0

9 v = v, (v 0w
n g (V) = Vi V(P4 )+ oy

Take note that @ is still the geostrophic wind, but in terms of a streamfunction.

Consider

Vi, - V(Y3 + f)

Vi - V(V2) 4 (ugi + vgj )y - <xz—|— j) f

=V, - V(V3) + Bu,

S 109

=Vy V(Vﬂ/))Jrﬁfo&E

7 2 oY

= Vo V(V@Z))—i—ﬁ%

0 o 2 So2 oy Ow
— VUV V() + By = fog

Atlevels 1 (250 hPa) and 3 (750 hPa), the equation above at each level respectively is expressed as
8 2 s = 2 8w1 8(4)
el Vi - Bl e
mv P14+ V1 -V(V2Y) + 8 Oz fo ),
and 9 - 3
I 2 7 (V2 9vs _ 4 (¥
gV Y3+ Vs V(ViUs) + 5 f0<8p>3'

The divergence term on the right-hand side of these equations can be estimated using finite difference ap-

proximations:
<8w> Wy — Wy <8w> Wy — Wo
— | = and ( — ) = .
p )4 op p )5 op
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In each case, p = 500 hPa. We assume that there is no upward motion on the top of the two-layer model,
so that wg = 0, and also assume that w4 ~ 0 and the surface boundary of the lower layer. So, at levels 1 and
3 the two equations become

0

> = o1 fo
- 2 . 2 - - = =
Otv P+ Vi -V(V ¢1)+ﬁam 5pw2
and

2 3 O3 Jo
— Vi3 + V3 - V(V? - =5 w
5V Vst Vs (VZs3) + 8 o o2
Next, we consider the thermodynamic energy equation at 500 hPa where the geostrophic wind is again
represented by V.

0 _ 0P RJ
(59) ()2

0
Cpp
if it is assumed that the diabatic heating term, J, can be neglected.

0

0 — 0
ET <6p(f01/))> =—Vy -V (%(folb)) +ow
S0 (o 2 =0V o

We will next, as before, use a finite difference approximation to evaluate

(W) _Ys—th
op) ~  op

dp

9 (3= 7 e (Vs—t o
S =—-Vy-V - —w.
ot < op v op fo
Since this form of the thermodynamic energy equation is applied at level 2 (500 hPa), the equation becomes:
0 (Y3 —t > o (V3= o
el -V, V - =
ot < o ’ v ) R
0 - = o)
L5 (o1 —3) = —Va - ¥ (1 — 9h3) + o

fo
With the first term on the right the advection of the 250 - 750 hPa thickness by the geostrophic wind at
500 hPa.

To summarise, we have developed a set of prediction equations in the variables /1, ¥3 and wa:

Do, & So2 M fo
av Yy ==V -V(V*Y1) — 5% + %wz
(ftv2w3 _‘7:; . 6(v2w3) - Baﬂ}:s fO

78'% — %WQ.
0 - o 1)
a(%—%):—‘/&'v(%—%)‘Fﬂwz

Jo
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Next, we apply linear perturbation analysis to this set of equations, but first we need to define streamfunc-
tions that consist of basic state parts and perturbations. We select

Y1 = —Ury + ¢y (x,t) and o3 = —Usy + Y5(x, t).

Since - -
ﬁwIEX@ﬁ:—*ay; —aﬁ

o oY

ud, = _78]; and ?}w = 781‘

oy, = Uy and uy, = Us.
Therefore, the zonal velocities at levels 1 and 3 respectively are U; and Us.

O _ O¢5
B)

For vy, we have vy, = 3 and vy, =
x

. Therefore the perturbation parts also represent meridional
velocities.

We also include a vertical velocity component represented by wo = wh(x, t).

We will next substitute the perturbation equations into the set of three prediction equations. First consider
the vorticity equation at level 1:

0

5 o 0
OV = ViS04 Doy,
~——— %’_/R,L o
Term A Term B Term C Term D
Term A:
0 o [ 02 0?2
avzq/)l =9 (83:2 + ay2> (—Ul?/ + ¢/1)
9 (Y
ot \ ox?
Term B:
. . / a_’ 82 82
o . 2 - _ 1 N z -~ -~ !
Aveen == (6 52) - (537 57) (i + ) ¥
9 9%y
N _Ula? oz
Term C: 5 B
g9 _ 0%
b or p ox
Term D:
b, oy
op 2 op 2
0 821#’1 0 8211)3 oy fo
:>3t<8m2> ' 9r 022 _68334_%&)2
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9 vy L0 fo
(at Uis ) o TP T 5pt2
And similarly for level 3:
9 827/)3 8¢’3 fO /
(aﬁU‘fa > o TP T o2
Revisiting the thermodynamic energy equation at level 2:
0 - = o
or W1 =) = Vo ¥ (0~ ds) 7
0 Term B
Term A Term C
Term A: 9 9
v N _ Y Y
8t (wl ¢3) at (wl 77b3)
Term B: o o0
N S G e S o0
Va2 V(1 —o3) = < ay ! + 5, J) V(1 —v3),

since V:b =k x 61/). 1 is the 500 hPa streamfunction and not a predicted field in this model. Therefore,

1)1 has to be obtained by linearly interpolating between the 250 hPa and 750 hPa levels:

1#2:%(1#14-1#3)-

Therefore
oY 10
37; = 20y (—U1y+¢i - U3?J+¢é)
1
—§(U1 +Us)
= _Umv
1
the vertically averaged mean zonal wind, with U,,, = 5(U1 + Us).
Consider
o 10
071'2 = 5*( Uy + _U3y+¢é)

0
_ 1[0y, ovh
2\ Oz ox

Next consider

< > —Ury + ¢} + Usy — 13)

aa(m ¢3)? + (U1 + U)]

= % (¢1 _¢3) P — QUTja
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1
with Ur = §(U1 — Us), the vertically averaged mean thermal wind.

Term B then becomes:

o, ol e 2\ oy oYy oYy | Ovy
B (Um” ( 9z ' Bz > ) < (¥ - ¢3)2_2UT‘7> = Un ( 9z Oz >+UT < du ax)

Term C:

Then put all the terms together again to produce

R Y Ay R Ly 9y 9y adp
ot (V1 —v5) = Um(@x Ox +Ur or  Ox * 2

0 0 op
" (81& + Um@:ﬂ) (V) — ) — (¢1 + ) = d pw2

We also want to express the vorticity equation in terms of U,,, and Ur:

1 1
Up + Ur = §(U1 +U3)+§(U1 - Us) =U,
Uy —Upr =Us

The vorticity equation at level 1 then becomes

0 827/11 8¢1 o fO /
[(% (Un +UT)8 ] 52 th5, = op
and at level 3: )
g é 0 1/}1/% 3% fO /
[aﬁ(Um UT)ax] o2 TP T Tt

In order to eliminate w) between these two vorticity equations, we define barotropic perturbations by ¢, =

1 1
i(wi + %) and baroclinic perturbations by ¢ = 5(1//1 — ).

Adding the two vorticity equations together leads to

S0 | v ) 204 ;fﬁﬂ%—wa a;‘”?’ B W+ ) =0
_ §t8822¢m+U aa 68221/1m+UTa <8;¢T>+ﬂ o = 0
[;+Umaa] 36221”’”” w’”*UTa <a;;b2T> =0

170



Subtracting the two vorticity equations leads to

9 0%y 0 821/11 0 82w3 0 0%l p fo ,
gt o T UntUnlg 5 ~gige ~ Un—Unlg 50 +05; (% va) = 5y
. 9 o o f / 0 82¢T
at& 2¢T+ T z O me—i_ﬁ ¢T p +Um% 6.ZU2
8+U 0 62¢ + U 82¢m+ﬁizp _ Jo
ot "oz 02 T T oz 922 oz T op 2
Recall that we have derived an equation that can be used to eliminate w):
9 K aép
fo 0 6
C o — 9

Now we can eliminate w):

0 07 o2 0
ot ™ O

2
+Un 82¢T +Uro- 882¢m+5 Yr = 2f0 [<8t+ ma>¢T—UT wm]

0 15, 2 2 0 0?2 2
[mwma](am f“w)w s+ Up <82wm fowm)

We have managed to derive two equations that respectively govern the evolution of the barotropic (vertically
averaged) perturbation vorticity

9 9 82 9 82

and the evolution of the baroclinic (thermal) perturbation vorticity

B) o1 [ 62 ) o ([ 0? 2
[at-i-U &E] ( 5T — 2A ¢T>—|—5 wT—i-UTa <8$2¢m+2)\ 1/’m>—07
3
where)\ZZKZT

As we have done before, we assume that wave-like solutions exist in the form
Y = Aezk(a;—ct)’ v = Bezk(a:—ct)
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First, we will apply the relevant differential operators to v,,, and V.

aatwm = (—ik:c)Aeik(z*ct)
gt¢T _ (_ikC)Beik(x—ct)
aﬁwm _ (ik)Aeik(m—ct)
i
%¢T _ (ik)Beik(x—ct)
0? ;
me _ (Z‘k>2Aezk(azfct)
X
0? ;
WwT — (ik)QBezk(xfct)
T
2
e = (k) At
X dx
2
D0 = (kB
T dx
2 .
o b = (k) ) At
X
2 .
ot = (—ike) (R B
X

The barotropic perturbation equation is reduced to

(—ike)(ik)2 A+ Up(ik)> A + B(ik) A+ Ur(ik)*B = 0
ik [ck*A — Upk? A+ BA] —ik*UrB =0
ik [(c = Un)k?* + 8] A= ik’UrB =0

The baroclinic perturbation equation is reduced to

(—ike)(ik)?B — 20%(—ikc)B + Uy (ik)2 B — 202U, (ik) B + B(ik) B + U (ik®) A + 2X2Ur(ik) A = 0
ik [ck®B + 20*cB — k*Up B — 2X°Up, B + BB] + ik [—-k*Ur A + 2X*UrA] =0
ik [(c — Un)(K* 4+ 2X%) + 8] B — ikUp(k* = 2)02)A =0
We obtain a pair of simulations linear algebraic equations for the coefficients A and B (after dividing
throughout by ¢k):
[((c—Un)k*+ B8] A—K*UrB =0
—Up(k* —2)\)A+ [(c — Up) (K> +2)3*) + 8] B=0

For this set of equations, non-trivial solutions will exist only if the determinant of the coefficients A and B
is zero.

(C — Um)k’z + 6 —k‘QUT
=0
—Up(k% —2X2)  (c— Upn)(k® +2)2) + B
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(e = Un)k* + B)((c — Up)(k* + 2)%) + B) — K*UF(k* — 20?) = 0
KPR 20 (e — Un) 2 4+ 28(K2 + X2 (e — Up) + B2 + U2E2 (K2 —2X2) =0

Here is another relationship in which the phase speed, ¢, is dependent on the zonal wave number, k, thus

making it a dispersion relationship. To solve this quadratic relationship we have

c—U, =

—26(k% + X2) & [ (28(K% + X2))* — 4 (2 (? + 2X2)) (87 + URR2(2X2 - #2)) | 2

2k2 (K2 + 2)2)
B(k2 + A2) [62)\4 — UZEME? 4 202)(202 — k2)]Y/?

CK2(K2 4 2)2) kA (k2 4 2)2)2
2 2
_ _lm + 51/2
with
5 PN URK' (B2 4+ 2X%)(20° — %)

k4 (k2 + 2)2)2
B URRN k)
k(K2 +2X2)2 k2 +2)2

The proposed wave-like forms are solutions to the system that governs the evolution of the barotropic and
baroclinic vortices, on condition that the phase speed, ¢ has the above solution. At first glance of this
solution, the phase speed has an imaginary component if § < 0, consequently leading to the perturbations
amplifying exponentially. However, in the special case of U = 0 (the basic state zonal wind vanishes and
U1 = Us as aresult) and the mean flow is barotropic (the mean thermal wind at the two levels is the same),

,82)\4
0 > 0 since m must be positive.
Two phase speeds, c; and ¢y respectively, are obtained as a result of Uy = 0.
Bk + 2?) 1/2
_p,,— BN sy
“ 22+ 200
and ( ) 2)
B(k* + A 1/2
Uy — 0§l
2= Un = 155 200
U Bk? + \2) B2\ 1/2
PO T RR2 1 262) O\ RA(R2 + 202)2
U _/BkQ_B)‘2+B)‘2
m k2(k2 + 2)2?)
= Um - ﬁ(kQ + 2)‘2)_la
with

B(k% + \2)

— -2
EEETye Rk

CQZUm—
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The solution for ¢ should look familiar since it is the dispersion relationship for a barotropic Rossby wave.
Revisiting the pair of simultaneous equations for the coefficients of the wave-like solutions for, respectively,
the barotropic and baroclinic perturbations and substituting the phase speed, ¢, by U,,, — 8k ~2 results in

—Ur(k* —2)\°)A+ [(Up, — B2 = Up) (K> + 23*) + 8] B=0
Since Up = 0, —26A\°’B =0
.B=0
Since B = 0, 17 = 0 so that the perturbation is indeed barotropic in structure (0] = 1%).

When using the phase speed ¢y (for an internal baroclinic Rossby wave), we get

(U — B> +202) 71 —Upn)k? + 8] A — K*UrB =0
Since Ur = 0, (Bk*(k* +2X*) "1+ 8)A =0
LA=0

Since A = 0, 1,, = 0 so that the perturbation is baroclinic in structure even though the mean flow is
barotropic (Upr = 0). In fact, for the case of phase speed c1, 1] ~ —1)%, which means that the perturbation
fields at, respectively, the 250 and 750 hPa levels are 180° out of phase.

By using typical parameters for average mid-latitude tropospheric conditions (o ~ 2x1076 N=2mbs2 A2 ~
2 x 10712 m~2) we calculate the phase speeds for, respectively, baroclinic Rossby waves (c2) and barotropic
Rossby waves (c1). We assume that the mean zonal wind, U,,,, is equal to 15 ms~!. From the figure below
it is clear that the calculated phase speeds are always less than U,,, so that both the barotropic and baro-
clinic disturbances move westward relative to the mean wind. Furthermore, for a barotropic disturbance
long wavelengths cause the phase speeds to be strong westward — a scenario that is not found in nature.

Two Layer Model: Phase Speeds

15

10

U =15m/s
m

Phase Speed (m/s)
n

-15
-20
25 1 Baroclinic Rossby Wave
Barotropic Rossby Wave
_30 1 1 1 1 1 1 1 L
1000 2000 3000 4000 5000 6000 7000 8000 9000 10000

Lx (km)
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In order to gain further insight into the effect of varying zonal wavelengths (L,) on baroclinic (¢r) and
barotropic (1,,) perturbation streamfunctions, we again consider their respective wave-like solutions. Also,
we want to investigate the streamfunction perturbations of, respectively, the 250 hPa level ()] = ¥, + ¢7)
and at the 750 hPa level (¢5 = 1, — ¢r). The figure below shows the result for the three wavelengths
of, respectively, 3000 km, 6000 km and 9000 km. Only for the 6000 km wavelength the phase speed has an
imaginary component (¢ = 6.1 + 9.9ims~!), which leads to the perturbation amplifying exponentially. In
fact, for the unstable mode associated with the 6000 km wavelength, the perturbation amplitude increases
to four times the initial amplitude after about 40 hours. Take note that the barotropic and baroclinic stream-
functions are not synchronised as can be seen on the figure for this wavelength. However, at a wavelength of
9000 km these two streamfunctions are in phase, but the streamfunction perturbations are 180° out of phase

(i.e., | = —4, which means v,,, = 0) so that the perturbation has a baroclinic structure.
¥, (blue); . (red) 1, (blue); . (red) ., (blue); ¢ (red)
2 c=143mis 2l c=6.1+90ims 2 c=33ms
oy
e 1 1 1
=
g
20 0 0
2
E
g -1 -1 1
n
2 2 2
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The forcing of vertical motion in a quasi-geostrophic system as described by the two-level model can be
expressed in terms of the sum of the forcing by thermal advection (level 2) plus the differential vorticity
advection. By the latter is meant that the evaluation is done by the difference between the vorticity advection
at level 1 and that at level 3. Next we evaluate the forcing of vertical motion in terms of the divergence of
the Q-vector. Recall that

0w - o ov
Vw4 fi—— = -2V -Q+ fof =2
U op2 07 ap
with § = _E%.ﬁjﬁ_ E%ﬁjﬁ
p Ox p Oy
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First consider

w  (9w/dp)s — (9w/dp)

op? op
_ (w1 —wy)/0p — (wa —wo)/dp
op
= 22 since wy = =0
= —W 0 — w4 = U.

The left-hand side of the omega equation then becomes

9w 2w
2 2 2 2 2
V w+f087p2 :O'v w+f0 ((W)
— oV + A2oap? [~ 222
dp?
=0 (V?=2)\%) wy

0? . . L
=0 ( 92 —2)? ) wy since the perturbation function is independent on .
x

To transform the right-hand side of the omega equation we first consider the hydrostatic equation

RT 90 . Oy
D o
Do s - )
— 21 - )

Q1= —];88‘;2 v (—) g—(d}l 1)3) since the geostrophic wind is obtained at level 2 where w # 0
SQ1 = _({;8(9‘;2 . 6(1&1 —1)3), and for
 fodVe o
Q2 = 5p By V(1 —13)

The omega equation for the two-layer model becomes
2 2 _ _ov9. A
G(V — 2 )wg——ZV-Q,
if we assume that the S-effect is small enough to disregard.
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Recall that
Y1 = —Ury + ¢y (1)
Y3 = —Usy + ¢g(, t)
wy = wh(x, t)

_ fo [ Ova- Ot
Ql—_% <_6y + - By ) V(b1 — 13)

The perturbation streamfunction at level 2 is independent on y (912 /0y = 0, and Jvy/0x = OV, /0x)

Ol - 0 ,
Q1= — g; 8;22‘7 [(8 + )(% ¢3)}
fO 82¢2 /
- 5p 6332 ay(wl ¢3)
2
£
2
= ({088%2 (U —Us)
25f OUr¢h since Up = 1/2(Uy — Us) and ¢! = V2
For ()5:
oVy =
Q2——§;8; V(41 — )
fo O (05 =
_%a@ ( o ]) ‘V(i/)l Q/)3)

= 0 since v # 5(y)

0? = 2f0

(9 2\ . 4fo 3C2
<8m2 2)\> B U(SpU Ox

Consider an idealised pattern at the 500 hPa level of isobars and isotherms as well as ()-vectors (arrows) in
the Southern Hemisphere.

_ e _ ——isotherm
=t -~
T Cold isobar__-
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Recall that the @)-vector of the quasi-geostrophic model may be simpliﬁed to

p Oy O:U
At level 2:
= ROT (- O (Oy2-
@= p dy <kxf91‘(3f€j)>
RaTa%pg
Q=S
p Oy Ox
R@i ,
- poy?
Therefore,
2fop, o ROT,
Rép oT
U= ——o—
g 2p fo Oy

oT

In the Southern Hemisphere where fy < 0, Ur EN
Y

velocity tends to advect cold air equatorward west of the 500 hPa trough and warm air poleward east of the
500 hPa trough so that there is a tendency to produce a positive temperature gradient directed eastward at

the trough, the same direction as the ()-vector.

and therefore the shear of the perturbation meridional

We have already established that the omega equation for the two-layer model is o (V? — 2X%) wp = —2V-Q.

This equation reduces to
0 2 = (2fo
o <8a:2 2\ ) = -2V ( Ur(yi >

(07 2\, 4f 8<2
(& -22) ot - 20,

for baroclinically unstable waves.

As has been shown previously that a Laplacian of a function is the negative of that function, we have

82
o (83: 2)\2> wh o —wh o< wh

wo being the vertical component of velocity at level 2
|_4hy, 94
Cobp  Ox

For the Southern Hemisphere fy < 0, therefore, for upward motion (w/ > 0)

Wa
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On the 500 hPa trough axis in the Southern Hemisphere ¢} < 0, and at the 500 hPa ridge 5, > 0. Therefore,
the advection of perturbation vorticity in the region between the trough axis and ridge axis is positive, that
.06

is D > 0. Since Ur > 0 (the zonal wind at 250 hPa is in general larger than the zonal wind at 750 hPa)
z

G

ox

and this relationship is associated with w), > 0, hence upward or rising motion east of the 500 hPa trough.
Similarly, sinking motion is found east of the 500 hPa ridge.

Ur >0,

The earlier discussion on the tendency equation showed that below the 500 hPa ridge, ahead of the surface

trough, warm advection is found so that VZ -V < 0 in the lower troposphere. For the two-layer

dp
model, the lower troposphere is below level 2 (500 hPa) so that the temperature advection can be written as
> <= (RT - - 0T - oT —
Vo -V () which equals (ubi 4 v4j) - 5 j= véa—, where T is the average temperature of the lower
p Y Y

: or .
troposphere. Therefore, for warm advection east of the surface trough v5—— < 0 and for cold advection

dy

or
east of the surface ridge véa— > 0.
Y

Consider an east-west section of the two-layer model that shows backward tilting trough and ridge axes with
height as straight lines. For baroclinically unstable development, the ] field (250 hPa) lags the ¢} field

(750 hPa) by about one-quarter wavelength, similar to the solutions presented earlier for a wavelength of
6000 km.
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The thickness and vertical motion fields (w}) are in phase, and this thickness field is also in phase with the

temperature advection by the perturbation meridional wind | v} o ) Therefore, the temperature advection
Yy

acts to intensify the thickness filed, acting to increase the strength of the disturbance.

Rising air in the atmosphere must be balanced by equal sinking air. Therefore, mass convergence into a
given column of air must be balanced by a net mass divergence. For the two-layer model, this requirement
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implies that east of the ridge at 750 hPa divergence is a consequence of the sinking or subsiding air, and thus
at 250 hPa convergence occurs. East of the trough, convergence happens at 750 hPa with divergence aloft
at 250 hPa. Next we want to establish the role divergent circulation has on how vorticity changes over time
since extreme values of vorticity at the troughs and ridges act to increase the strength of the disturbance.

We have already developed a set of prediction equations in the variables 1, 13 and ws. First consider the
prediction equation for 1)y:

0
ot

(V2n) = Vi - 9 (V) — B2 + j;o

Applying perturbation analysis and ignoring (3 terms leads to

9 (U1 _ _u, 9 %Y @w,
ot \ Oz2 ax Ox? 5p 2

0 J
ad: Cl‘f‘*O/

This equation state that the vorticity tendency at 250 hPa is determined by the sum of vorticity advection
and the divergent circulation.

Consider the vorticity advection terms first. Between the ridge and trough axes, vorticity decreases in the
z-direction in the Southern Hemisphere. Therefore,

s
ox

agy
8

<0

> (0 since U; > 0.

/
Also, —Uga—c3 > () east of the ridge axis. However, since the mean zonal wind at 250 hPa is much stronger
i

than the mean zonal wind at 750 hPa, —U 15 % > 0 east of the ridge axis. Following similar arguments,
-U; ;l < 0and —Us 6C3 > ( east of the trough axis. This change of the vorticity advection with height,

z
i.e. differential vorticity advection, would lead to the upper level trough and ridge pattern to move faster
than the lower level pattern. The result is that the westward tilt of the trough-ridge pattern will be destroyed.

fO / fO

The divergent circulation part of the prediction equations at level 1 (250 hPa) is —wz = ——w) and
op

op
fo wh @wQ at level 3 (750 hPa).
5p op

In the area of sinking motion, east of the ridge, w/, < 0, and in the area of rising motion, east of the trough,

wh > 0. Therefore, east of the ridge at level 1, —g—owé < 0 in the Southern Hemisphere where fy < 0. Also
P

fo ,

Jo “—wh > 0; east of the trough at level 1, TS W2 > 0;
p

in the Southern Hemisphere, east of the ridge at level 3, 5
P

fo

east of the trough at level 3, 5—w§ < 0.
p
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The schematic below shows the vertical cross section for an unstable baroclinic wave in the two-layer model

o
that shows the different phases of vorticity change <(5§> .

250

500

750

1000

From the schematic it is clear that the contributions from the vorticity advection and the divergent circu-
lation at the lower level are working in unison, while at the upper level the two contributions oppose each
other. The result of this configuration is that the westward tilt of the trough-ridge pattern is maintained.
The maintenance of the tilt is thus due to the divergent secondary circulation. Moreover, this secondary
circulation tends to amplify the vorticity perturbations in the troughs and ridges at both levels, resulting in a
further growing of the disturbance.
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Examples of theoretical barotropic and
baroclinic waves

Next we further investigate Rossby waves properties by approximating them by simple sine and cosine
functions. In order to see the effect of phase speed and wave amplitude on barotropic Rossby waves, the
following equation is used to describe a meandering jet stream around a reference latitude of 50°S.

;L . T —ct
y = Asin {271’( I >},

that describes the displacement distance of the Rossby wave streamlines around a reference latitude, in this
case 50°S. We consider winds of 40 m/s in the jet and consider, respectively, long and short waves. The
former has a wave length (L,) of 8000 km and wave amplitude of 1200 km, while the latter’s wavelength is
3000 km and its amplitude is 800 km.

Barotropic Waves; U =40 m/s
2000 F I f f ] ] 5 s { = 0 hiOUFS
— t = 12 hours

1000
Lx = 8000 km

Aplitude = 1200 km
Phase speed = 16 m/s

km
o
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-2000 L | I | 1 1 I |
Q 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000
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Barotropic Waves; U =40 m/s
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Barotropic Waves; Long and Short Waves Superimposed
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2
Ll’ and the barotropic phase speed, c, is equal to 40 — g with 8 =
x

1.47 x 10" m~'s~!. The figure below shows the results for the two waves as well as the positioning of
these waves 12 hours later. Also shown in the bottom panel is the result of superimposing the long and short
waves. The short waves move along the long wave streamline. Such fast moving short waves cause rapid
changes in the weather, and weather forecasters need to be paying particular attention to them.

The wavenumber, k, is equal to

To mimic north-south displacement for a baroclinic wave, we have

;o T2\ . x—ct
y—Bcos(z>sm[27r< I )},

i
oop?’
which is a reminder that static stability, o, has an effect on baroclinic waves. Cold strongly stable air near
the poles restricts vertical movement of air, while warm, weakly stable air near the equator is less limiting in
the vertical. Notwithstanding these effects, we consider average mid-latitude tropospheric conditions with
A ~2x1072m2

and take into consideration that the phase speed, c, is equal to 40 — 3 (k2 + 2)\2) ~! Recall that \2 =

Take note that there is an additional cosine factor introduced into the barotropic Rossby wave stream flow
function

B cos <7T—Z) ,
z

with z = 11km (the tropospheric depth) and B, the wave amplitude, equal to 900 km. Here we used
6000 km as the wavelength. The cosine factor causes the meridional wave amplitude to be equal to 1 at
the surface (since ¢ = 0 and cos(0) = 1), and —1 at the top of the troposphere (since { = 11 km and
cos(m) = —1). The two resulting waves are subsequently 180° out of phase between top and bottom of the
troposphere. Although this out of phase result is an oversimplification, the figure gives some insight into
how baroclinic waves function. As with the barotropic wave example, waves are presented at an initial time
and at a later time. Here we show results after 3 hours. Clearly, one can see that an upper level trough (ridge)
is above a surface ridge (trough).
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The energetics of baroclinic waves

In baroclinic instability, warm air rises and moves poleward, while cold air sinks and moves equatorward.
This motion extracts available potential energy from the mean flow. As the instability grows exponentially,
the energy of the perturbation is not conserved, and both the kinetic energy and available potential energy
of the perturbation increase. Subsequently, it is necessary to determine the role of the potential energy (and
its conversion to kinetic energy) of the mean flow as an energy source.

Recall the set of perturbation equation derived before:

2,1,/ /
(37 + Vs ) o+ 9 = o

ot 0x? ox  Op
0 82¢3 81/13 fO /
(‘o‘t Er ) LT T
0 U, 0'(517 /
((% + > (7/11 ¢3) (% + @113) 7,

We use these equations to derive the energy equations for the system.

The first prediction equation is multiplied by —¢| to produce

02 o2 B fo
¢16t<31@1> Uit (81@1> 6 1/’1——1/;1;"';%

In order to manage the first term on the left, we apply the product rule
o, AN AN
(1/’1 ( ot >> ¢18x <ax < ot )) " ox 0z o
N ARl
1at 02 Oz Ot \ Oz
O\ _ UL\, oL 0 (9vf
¢18t<ax2>_ (wl (8t>>+8x8t<8x>

Integrate the resulting prediction equation over one wavelength of the perturbation in the zonal direction.
The zonally averaged terms, ( ), are presented by

L o,

where L is the wavelength of the perturbation.
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The integral of the prediction equation in ¢} is then

) AN RN oy iy fo, .
L/O [ <¢}1 <8t>>+8:p8t<8:p> %a (32) %5 w r=0

Consider the first term of the left
1 (o oy
—— d
L/O 0$<¢1 <6t>>x

This term is equal to zero because of the rule of integrals of a perfect differential. To better understand this
rule, consider a scalar function in the zonal direction, Q) = Q(z)

dQ = %de

for the zonal case.

The perfect differential for a differentiable function Q) is equal to dQ = ﬁQ - dr" with dr’ = dx in our case
of zonal flow, and V() is the gradient of () so that the gradient theorem states

/ifdQ:/ifﬁQ-dF:Q(f)—Q(i)

where ¢ and f represent endpoints of an integral path. This result means that the integral of a perfect
differential is independent of the integration path. Owing to this integral path independence, V x V@ = 0,
and according to Stoke’s theorem

fﬁ@-dﬁ://ﬁxﬁ@-da:o.

1 [E oy o (o 0%, oy fo _
'L/O ma::(m)‘ “/’16 <a ) S 7*”5* de =10
A,_A ,

A B C D

19 [(9P)\?
To evaluate Term A, first consider 291 < ¢1> , which is equal to

ot vt 0 (v
ox Oxr Ot \ Ox

oy 0 [ oY 0
, 81!)1 o < 81!)1 ), can be written as 261&( 8¢1> . This term represents the rate of
T T T

change of the perturbation kinetic energy per unit mass averaged over a wavelength.
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To evaluate Term B, consider the following expansion
g0 (DY) _ovh 0 (v, 0 (00
Loz \ oz or Ox 81: 1922 \ oz
o 02 oYy _ 0 ! ovi\\ _ o1 0%
1ox2 \ 0z )~ oz 181‘ Ox Or 0z2’
then evaluate the second term on the right by considering
10 (owi\* _ 10 [(941\ ()
20z \ Oz -2 693 oz oz
N GATE RN
B 896 ox ) Ox Ox Oz \ Ox

B 3% %P
Oz Ox2

Term B then becomes

82y G ah U 0 (8y)\*
~Uiig, <a 2) ~Uig, < 18x<8x>>+28x<8a€>

Both of the terms on the right are perfect differentials and therefore vanish. However, take note that the term

0 . : . . .
2 6 ( i ) is also a kinetic energy term and is also associated with the advection term. Therefore, the
x

ox
advection of kinetic energy vanishes when integrated over a wavelength.
0 0 era 0
For Term C, it is easily seen that ﬂwl V1 = —E—(zpl) therefore, —szl ¥1 = ga—(w’)

Since Term D cannot be further 51mphﬁed the predlctlon equation at level 1, that we can apprehend as a
permutation energy equation is thus

Similarly, at level 3

L0 (DAY g
20t\ Oz W25 =

Next, we consider the prediction equation in terms of Um and U by multiplying the equation through by
(1] — ¢%) and integrating over one wavelength.

Therefore,
]' L / / 8 ! ! / 5 /
L/o (1 — 1?3)&(101 —Y3) + Un (¢ — ¢3) (% Ys) =Ur () — 1/’3) (1/11 +45) — (Y] — wg)afpwz dz = 0.

-~

A B C D

: . 0
From Term A, integrating (¢} — wé)a(d}’l — 1V%) produces, as before, an energy term
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Similarly, Term B leads to

U 0
5,1~ (W1 —¥4)?,

which vanishes since it is a perfect differential. Terms C and D cannot be simplified further. Therefore, we
get the third energy perturbation equation

oo
TP — b =0

(1/)1 P5)? — Ur(¢) — ¢3) (¢/+¢3) %o

28t

The total perturbation kinetic energy is defined as
AR A
2 ox or

JdKT 19 8¢124_18 A
Cdt  20t\ Ox 20t \ Oz

K/

= @ QW"‘E Wy
=—£%w1w9
2fo——

= ——waT > ( for an increase in perturbation kinetic energy.
op

17 is the perturbation thickness for baroclinic flow. Therefore, the rate of change of perturbation kinetic
energy is proportional to the interrelationship between perturbation thickness and vertical motion.

Now we define the perturbation available potential energy as

’_7(1// Ph)2 with A2 = 1o
3 odp?
AP’ X 9 —,
At 2 éhfw — V)
5 -
= NUp (¢} — ¢3) (W"i'wg) ];Ogafp(% Y3 )wy
— XU (2ir) 5 (26) + 120

—4A2UTwT o + fo whipr

dP’ dK’
LS =\ —
i T¢T 1/1 i

2fo—— . : .
The term %wéw must, therefore, represent a conversion between perturbation potential and perturba-
p

tion kinetic energy. To further investigate the interrelationship between the vertical motion and thickness
variables, four cases are considered.

The four cases are:
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1. The vertical motion is upward and the thickness is greater than average.

2. The vertical motion is upward and the thickness is less than average.

3. The vertical motion is downward and the thickness is greater than average.
4. The vertical motion is downward and the thickness is less than average.

Take note that in the Northern Hemisphere where ¢/ > 0 (since both geopotential and fy are positive),
thickness is greater then average when (¢} — ¥3)xn > 0, and thickness is less than average when (¢} —
Ys)Nu < 0. Therefore, in the northern Hemisphere case for thickness to be greater than average when
Y] > 1% and for thickness in the Northern Hemisphere to be less than average )] < .

Recall that

Y1 =-Uy + 91

S =+ Uy = o + Ury.
fo
Since fo < 0 and y < 0 in the Southern Hemisphere, ¢/j < 0. Similarly, ¢)5 < 0 in the Southern
Hemisphere. As a result for thickness greater than average ¢/; < % and thus ¢)] — ¢4 < 0. Therefore
1 < 0 when thickness is greater than average in the Southern Hemisphere. For thickness less than average
in the Southern Hemisphere ¢)] > ¢4 and thus 9] — ¢4 > 0. Therefore 17 > 0 when thickness is less than
average in the Southern Hemisphere.

We can now evaluate the four cases for the Southern Hemisphere:

dK’ ,

Case 1. g ~ —(fo <0)(wy <0)(vbr <0) >0
dK’ ,

Case 2. 7 ~ —(fo < 0)(wy < 0)(¢byr >0) <0
dK’ ,

Case 3. pr ~ —(fo<0)(wy >0)(br <0)<O0
dK’ ,

Case 4. 7 ~ —(fo < 0)(wy > 0)(¢br > 0) >0

Therefore, perturbation potential energy is being converted to kinetic energy when on average the vertical
motion is positive (wh < 0) where thickness is greater than average (¢] — ¢4 < 0 in the Southern Hemi-
sphere), and vertical motion is negative (w, > 0) where thickness is less than average ()] — ¢4 > 0 in the
Southern Hemisphere).

The available potential energy and kinetic energy of a disturbance are able to grow simultaneously on con-

dition that
0 2fo———
W20y 20m 2o
ox op
which means that the potential energy generation needs to exceed the rate of potential energy conversion to
kinetic energy.

The potential energy generation term on the left hand side depends on the interrelationship between the
perturbation thickness (17) and the meridional velocity (0, /Ox, the change of the baroclinic perturbation
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in the zonal direction) at 500 hPa. If we suppose the barotropic and baroclinic parts, this disturbance can be
represented as such

Y = A cosk(x — ct) and
W = Apcosk(z + xg — ct),

with the role of the z( term to indicate the phase difference, we can investigate the relative positions of
the temperature and geopotential waves of the baroclinic disturbance. Take note that A,, and At represent
amplitudes of respectively the 500 hPa disturbance geopotential and thickness fields.

Appendix A explains how the following relationship is obtained

T 1 |
1/)T87 = §ATAmk Sln(kxo).

For the perturbation potential energy to increase, we thus have

2\2 A1 A, Urk sin(kxo) + 25?“57” > 0.

Since we have already discussed under which conditions the energy conversion term is positive (i.e. for
cases 1 and 4), 2\2Ar A, Urk sin(kxg) still needs to be evaluated. For the case of a mid-latitude westerly
thermal wind (Ur > 0), sin(kxo) must, therefore, be positive, and thus kxzy > 0. Moreover, for sin(kx)
to remain positive during one sinusoidal cycle, kxg < mw. Therefore, 0 < kzy < w. Take note that the
interrelationship, represented by the sinusoidal function has a maximum value at kzg = 7/2 (i.e. 90°)
which means that the phase of the perturbation thickness (temperature) wave lags the meridional velocity
(geopotential) wave by 90° at the 500 hPa level, i.e. a one-quarter cycle.

The phase shift description is shown schematically in the east-west section of the z-layer model that includes
the backward tilting of the trough and ridge axes shown below. In the ideal configuration of a one-quarter
cycle phase shift, the temperature wave lags the geopotential wave, resulting in a southward advection of
warm air by the geostrophic wind east of the 500 hPa trough, and a northward advection of cold air west
of the 500 hPa trough in the Southern Hemisphere. Both of these advections are maximised as a result of
the 90° phase shift, since sin(kx() has a positive maximum value at that phase. This maximisation results
in the cold advection to be strong below the 250 hPa trough and the warm advection to be strong below
the 250 hPa ridge. Therefore, based on our understanding of the geopotential tendency equation, the upper
level disturbance with westward tilting trough and ridge axes, will intensify.

East of the ridge, behind the trough, downward motion (w} > 0) and cold advection occurs. The latter is
associated with the thickness being less than average, which means that in the Southern Hemisphere ¢ > 0

f

_ 2f
there. Therefore, w17 > 0, and TOWQ@ZJT < 0 in the Southern Hemisphere (fy < 0), which is the second
p

term of the equation describing the time rate of change of the perturbation available potential energy. The
first term of this equation is positive between the phases of zero and 7. As a result, in this westward tilting
configuration we see that the sign of the two terms differs there.

: . 0 . : .
We can therefore conclude that horizontal temperature advection (¢T;bm increases available potential
x

energy of the perturbation, while the vertical circulation ((.«JéY,/JT) converts perturbation available energy to
! /

equals the negative of the w)1p term, resulting in > 0.

perturbation kinetic energy since 7
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500hPa perturbation geopotential field
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Take note that it is only the potential energy generation term that determines the growth of the total energy
since p 59
/ / 2 m
%(P + K') = 4\ UT¢T%-
We therefore see that with Ur > 0 and with the positive interrelationship between temperature and the
meridional velocity, the total energy of the perturbation increases. The conversion of the available potential
energy to kinetic energy is brought about by the vertical circulation and this conversion does not affect the

total energy of the perturbation.

The total energy of the perturbation is not conserved since both the potential and kinetic energy are increas-
ing as they extract energy from the mean state. As can be seen from the diagram, the vertical velocity is
in phase with the temperature field. However, if the vertical velocity becomes 90° out of phase with the
temperature in the life cycle of the disturbance, there is no longer a conversion of perturbation available
potential energy to perturbation kinetic energy and the disturbance is restored to a mean state.
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The global energy cycle

We showed that there is a positive interrelationship between vertical motion and temperature anomalies that
leads to the generation of kinetic energy of atmospheric flow. We split the energy of the flow (kinetic and
available potential) into energy associated with the mean zonal flow and into energy associated with the
eddies (i.e., deviations from the zonal mean). It is useful to examine the exchange of energy between the
eddies and the mean flow, but before we can do this we first develop the so-called Eulerian mean equations
in log-pressure coordinates. As up to this point in the book, the primary emphasis is on extra-tropical aspects
of the circulation.

The transformation from standard isobaric coordinates to a vertical coordinate based on the logarithm of

pressure, we begin by defining the vertical coordinate z* as —H In <p> with H as a standard scale height

Ps
and p; a standard reference pressure. The horizontal momentum equation is the same as that of the isobaric

system

—

D - — —
DV ks V4V =0,

Dt

with
D 0 L - .0
DotV VUGS

*

w* is the vertical velocity in the log-pressure coordinate system with w* = . Here, z* is considered

to be exactly equal to geometric height and the density, pg = po(z*). Next we derived the hydrostatic,
continuity and thermodynamic equations for the log-pressure coordinate system.

0P RT
The transformation of the hydrostatic equation, o is done in the following way. We get
D p

0P
— = —RT

p ap
)

Olnp H
0® RT

= —— when using the definition of z*

oz* H

To obtain the log-pressure form of the continuity equation we consider this equation in the isobaric system
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0 ov 0
as o + 9 + Sl 0, and define the vertical velocity w* = <—

H\ Dp
or Oy Op P

Dt

Ow 0 pw* 1 [ ow* LOp
%:ml_ﬂ>:_ﬂ&®*waJ
B ow* w*
HO Inp - H
_owt Wt
T 9z H

% apo ow*
oz* 0z
with ps the density at z* = 0. Therefore

0
Consider %(pow*) =w

The continuity equation in log-pressure coordinates then becomes

ou o0 10
or 0Oy pydz*

(pow™) = 0.

+ po——» and define the density profile of rhog(z*) as ps exp

H
— = ——w, therefore w = —

(

*

pw
H.

_Z
H

Next we obtain the thermodynamic energy equation in log-pressure coordinates by using the hydrostatic

i od RT
equation — = ——.
d 0z* H
H 0% . . .
We then get to replace 1" by R in the thermodynamic energy equation
z
0 L o\ H 0P J
~4V. S o=
<8t * V) R 0z* P Cp
0 L o\ 0P R JK R
=4V — — S, w— = — withx = —
: <8t+ V) o H-H MM

Consider the definition of the static stability parameter,

_RT 0T
=r
4 D
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R (kT poT\ |,
_H<HHp)
_ R (KT or N
_H<H_H81np>
R (kT 0T N
H<H+8z*>w

(547 9) g =
ot z

R (kT OT
with N2 = T (’;{ + 5 > a measure of the static stability of the environment.
z*

Form now on for the rest of this discussion, for convenience, the asterisk is dropped, but z still designates
the log-pressure vertical coordinate, and w the vertical velocity in this coordinate system.

Consider the momentum equation, but this time include the frictional force, F’;:

DV L
— kxV ¢ =F
Di + f X +V r
Du 0P
—_— = — =X d
D fo+ I , an
Dv Fot 0P
v =
Dt ox ’
with X and Y representing the zonal and meridional components of drag owing to small-scale eddies.
0® RT . . .
Since — , we can write the thermodynamic equation as
0z H
8+VVRT—|—R £+8T w_JR
ot H H\H 0z o
0 5 = 0 /<;T J
=+ V- T+ —w=—
. ( En + V+w b > + gV o
DT KT J

DT HY T

.. D 3 8

The continuity equation becomes
ou Ov 1 0

871‘4_373/—’_%&({)011}):0

The zonally averaged circulation is analysed here by studying the interaction of eddies with the mean flow.
The eddies are longitudinally varying disturbances and the mean flow is longitudinally averaged flow.
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A variable A is expanded as A = A + A’, with A the mean flow and A’ the eddies. Next we create
Eulerian mean equations by taking zonal averages of the equations in the log-pressure coordinate system by
expanding the material derivative for variable A in flux form. See Appendix B how the following form is
obtained:

DA 0 d - - 0
PO = <8t+v V—l—w&Z)A—i-A[V'(PoV)—i-az(pow)]

Expanding the RHS of this equation leads to

8 a rd 8 e 8 - 8 rd - e a
(815 (ui +vj) - <axz+ayj>)A+A [((%Z—i—j) -(pouz—i-povj)%-az(pow)]
A

y
04 (0
—Poat Po 8

Since pg # po(z,y,t) and A # A(z), the RHS becomes

0A 0 0 0
F0 G ) A ) + A ) + A (o)

0 0 0 0 0 0

5 = (poA) + Ua*(ﬂoA) oy —(poA) + A8 (pou) + Aa (pov) + @(Pko)
0 0 0 0

= ¢ (PoA) + - (podu) + a*y(POAU) + 5, (PoAw)

Consider the product of variables, e.g. Au next, and applying zonal averaging:

Au= (A

+ A (u+ )
+ A + Au + A
+ Au' + Alu+ A

Au
A

However, A’ = v/ = 0.
L Au = Au+ A and Aw = Aw + A’

503
Furthermore, Q = 0 so that

ox

DA o0, . o0, . 9.
pontza(PoA)+@(P0(AU+A’U'))+§(PO (Aw + A'w')) .

Next consider the continuity equation and use zonal means again:

0 — 9 / 9 — 7\ —
8x(u+u)+8y(v+v)+p08z(p0(w+w))_0
o 1o, .
0 1 0
Zo+ = (pow) =0
Y (pow)
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DA
Apply the chain rule of differentiation to the right hand side of the poﬁ equation:

+ 2 o)

ov 0A
0z

0 ow 8A
8t (poA) + po <Aa +78y >

o, _

L0y 0RO EE N BN Iy e
=5 (poA) + pov By + P~ + poA [ P (Pow)} + poA 5, By (poA™V") + 5% (poAw’)
0 -  _0 - _ 0 — 0 0 0 - 0 _
=5 (pOA) + va—y (poA) + wa (poA) — A8 (pow) + A(9 (pow) + a@ (poA’v’) + 7 (poA’w’)
D
D

R S S
/ (poA) + oy (poA™) + B (poAw’)

with o

D 0 o 0

Do oy T Var
Next we want to examine the exchange of energy between the eddies and the mean flow. Again, we con-
sider quasi-geostrophic flow in a mid-latitude S-plane. First, determine mean equations in the log-pressure
system. We have

Du 0P
—_— - =X
fox ox
We first evaluate
Du 0 0 0 0
- _ = (7 5 (77 5 (77 I W] Tl
D 8t(u)+vay(u)+waz(u)—l—ay(uv)—i—a (uw),
0
and since we are working in a mid-latitude S-plane, the Coriolis parameter is fy, M (u) = 0. Also,
Y
u # u(z).
Du 6u 9]

"Dt~ ot Ty W)
For the Coriolis force term fov = fo(v + v') = fov.

For the turbulent drag force X = (Y + X! ) =X.

0P a()
For the geopotential term — = 0 since L =0.
Ox oz
Ju 0 — _
A e W — for = X.
- +8y (uv) fov
The y-component of the momentum equation is
D 0P
= el Vg
e + fu+ 3y

Neglecting advection by the mean meridional circulation as well as vertical eddy fluxes in a mid-latitude
[B-plane

Dv .
F: =0 and fo(u+u') = fou
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. 9] 0P
The geopotential term — .
dy 9y dy

Y = 0 since we only include a turbulent drag force in the x-component of the momentum equation.

(@ +27) =

s fou+ =0.

dy

Next consider the thermodynamic energy equation:

0 oe o JH
<8t+v V)a—i- wN T

Again using the formula for pg i and considering the assumptions made above, the mean thermodynamic

equation becomes
0P
TN? =
(7))
0 (08 o [0V
"0t \ 0z oy \ 0z

We have neglected the advection by the mean meridional circulation, v—

+
g|
%
I

gw mﬁ“m;

0P\ . .
— |, in the above equation.
0z

Our mean set of equations in log-pressure coordinates is

Ju 0 _ =
a%—a—(u’v’)—va—X:

o (9%\ o [0V , Tk
g2y 2 wN? = 2,
at<az>+ay<az“)+w 7"

Next we derive a similar set of dynamical equations for the eddy motion. Again consider

%—fv Z(I) X

x
in the mid-latitude -plane with the Coriolis parameter fj. Since we are neglecting vertical eddy flow

D _9, 9 0
Dt ot “ar " Vay

ou a ,_871/

ot~ (BtY) =5

ou 0 ,_

u%:(u—ku’)%(u—ku’)
_0 0
:u%(u—i-u/)—i-u’%(u—i-u’)
_om oo o
T T TVt s
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. 0P . : . : .
Since — = 0 and since we are developing a linearised set of equations we neglect u

term.
ou _ou
ng = (6%—1/) aay (u+u/)
= 6@ ﬁa—u/ + v’@ + v’a—u/
oy Oy dy dy

. al ,0u
'Uay v — oy
% — aiul ﬁiul + UI@
Dt ot Ox oy
= ngﬂg u’+v’@
ot Ox oy
fo=fo([@+') = fo!
22 9P N o' 0%
or Or Or  Ox
X=X+X'=X
0 0 ,0u 8<I>’
—_ - =X’
— <6t+u6x> Ty T
0 ad\ , ouw\ , 09 ,
_ _ - =X
<8t +“ax> ! (f 8y> Ut o
The second momentum equation:
Do O
Dt “ oy
Dv_ 0 (v+v)+u CLEFCCI NN LR B (CLICR B
Dt~ ot Oor Ox Oor Ox dy Oy
o N _ov' o ,O0v’ . , 00
“or "Yor "% ar TV oy
Again neglecting non-linear terms:
Dv o'  _ov
Dt~ ot Yor
/
fu= fou, oe = ag, and Y = Y’ in eddy equation.
0 y
0P’ _y

— (2 m ) g +
ot u@xv ou! oy

!/

/ u :
—— as a non-linear

ox

/

oy’

ov

o, o
dy Oy

(
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The thermodynamic energy equation

o (o) _ 0 (0w
ot \ 9z /) ot \ 9z

- -0 o (0P D
VoV = axﬂa> Qa
:ua<8@+8@'>+ 0 (5, ) 5D (UF DY 0 (05 00
Ox \ 0z 0z 0 0 0 oy \ 0z 0z
el (2) e (52) e ()0 (2
Ox \ 0z Ox \ 0z 0 6

L 0D ,a 95\ 0 (0B

Jr  Jk

wN? = w'N? and T in eddy equation
_— g 9%’ +ﬂ£ 0%’ _1_1/2 @ —i—’LU,NQ—ﬁ
ot \ 0z Ox \ 0z Oy \ 0z - H
o _o\o® ,0 (6D ., K
N AL WAL N2y =
'<8t+u8x> 8z+v6y(8z>+ i’

As an eddy equation, the continuity equation becomes

o o 10 ,

Now that we have these two sets of equations, we examine the exchange of energy between the eddies and
the mean flow globally, by first defining a global average

>z;AmADAﬂ>mww,

with L the distance around a latitude circle and D the meridional extend of the mid-latitude S-plane. A
represents the horizontal area of the 3-plane, and so the global average has a length scale (m®/m? = m).

For any quantity W, the atmosphere is confined to a zonal channel in the mid-latitude S-plane with rigid
walls.

Note: X’ and Y are zonally varying components of drag owing to turbulence.

Aty ==+D,
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if ¥ vanishes there.

Also, ¥ remains constant in the zonal direction at y = +D), and so
owv
0.
(5:) -
If W vanishes at the bottom (z = 0) and at the top of the atmosphere (2 — o),
ov
0.
(5:)-

Revisiting the mean set of momentum equations in log-pressure coordinates, multiplying them respectively
with pou and pov, and adding the results:

ou 0 — -
(a,l; — fov + %(UIU/) — X> pou =0

oD
<f0u+ > pov =0
dy

ou 15) — 0P
pott g — fopou v +P0Uay( V') — pouX + fopoﬂﬁ%-POF@fy =0

1 0 2 Y - 0P
- - _ il X — =
Sarn 8t Pouay (u'v") + poti Pov oy

Consider 5 .
— (pouu/v') = Poﬂa*y(w) + poW(%

0 — —odu 0 _

" —poﬂafy(u’v’) = pou’v’a—z — a—y(poﬂu’v’)

and
—_0v 0P

0
ay (pov®) = po‘I’({Ty + povafy

L
. —Po 8y_p0 dy Oy

19 0T D N, T

—po=T° = — — —(pouuv’ X + po®
- QPO U = pou oy ay(Pouuv)+P0U + po

(P()@E)

0 L
oy~ oy M)

Assuming that 7 = 0 and w'v’ = 0 for y & D, after integrating the above equation we get the mean flow

kinetic energy
d poﬂZ ou 0v
—( — X )
i (5) = (75 )+ ) (5)

Consider the continuity equation:
0v N 10 (o) = 0
- N w) =0,
oy " po0z"°
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since —— = 0.
ox

Since B
o — . -0, 0%
g (®(pow)) = ‘I’%(Pow) + poll 5~

<po<1>gz> = <Powg§ - ;Z (‘P(Pow))>

Assuming that pow = 0 at z = 0, and z — oo, the result is

577\ _ [, 0%
PO oy " Powaz

Since the hydrostatic equation states that

—0v R, -
. <P0‘I’ay> =~ <;001UT>

In order to better understand the two terms above, we investigate their SI units. The units of the term on the

left hand side is .
(kgm?) (m?s~2) <ms )

m

The units of Newton’s second law of motion are
F =kgms 2,

where F' represents a force.

Therefore the units of the left hand side become Fm—2s~ L.

The term on the left hand side therefore represents a force per unit area per unit time. Moreover, take note
that @ at height z is the work required to raise a unit mass to height z and since ® ~ Jp, the left hand side
term represents work done in terms of vertical pressure changes.

The units of the term on the right hand side are the same as those of the term on the left hand side:

JK tkg!

m

kgm 3ms 'K
=Nmm 35!
=kgms ?m 257!

=Fm ?s!
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This right hand side term represents the interrelationship between the zonal-mean vertical mass flux pow
(units are kgm~2s~1), and the zonal-mean temperature, 7. For upward motion pgw > 0, and for warm air
rising powT > 0, since T (thickness) > 0. For downward motion pow < 0, and for sinking cold air T <0,
therefore pgw'T > 0. The right hand side term is thus positive if on average warm air is rising and cold air
is sinking so that there is a conversion from potential to kinetic energy.

Recalling that the perturbation available potential energy in the two layer model has the following form
z? (w/ 1/}/)2 _ fg (q)ll (bé)z
27T 20(6p)*\ fo  fo

_Jo P\ ?
- s (o)

Here we similarly define the zonal-mean available potential energy as proportional to squared thickness

changes divided by the static stability
p=L/ro 0o i
T2\ N2\ 9z

In order to obtain an expression for the rate of change of zonal-mean available potential energy, multiply the

0P
mean thermodynamic energy equation by pg <8) /N?
z

o (0D o [ 00 o JE| po 0P
at<a>+ay< az>“”NH]zvzaz—

po 0B 9 (8@) po OB O ( ,8(1)’) 9B py Tk OD
v + pow —

N2z 0t \ 02 0z

N2 9z 0y

Take note that

10 [(0%\*] 10 [(0) (0%
20t 0z 20t 0z 0z
_1[020 (0%) 029 (0%
21020t \ 0z z Ot \ 0z
_ 980 (9%
0z 0t z
— 2 —_ el —_ J— J—
o O 1 (ORNT L po 00 O 09T 0P po JEOP
2NZ ot <8z>]+N28z8y V| TP T N H o Y

After averaging over space, the zonal-mean available potential energy rate is

df o (08NN _ oo (09\\ 0B\ /o T50T
dt \ 2N? \ 0z N N2 0z dy P POy, N2 H 0z
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Recall the mean flow kinetic energy evolution

d /p@\ _ [ 0 e 502
dt< 5 >—<Pouvay + (pouX) + POt

where the third term on the right is equal and opposite to the second term on the right of the zonal-mean
available potential energy evolution equation. Therefore, this term represents a conversion between zonal
mean kinetic and potential energies.
Po j/ﬁi 66 . . . . — .
The term N2 9 represents the interrelationship between temperature (thickness, 0®/0z) and dia-
z
batic heating (.J), and describes the generation of zonal-mean potential energy by diabatic processes. The
) po 0P 0 09
erm ( ——— (v
NZ 9z oy 0z

vection or flux) and describes the conversion between zonal-mean and eddy potential energy. The term

) involves meridional (0/0y) and eddy heat flux (v/0®’/0z represents ad-

< pou’'v'— ) of the mean flow kinetic energy to zonal-mean kinetic energy.

y
Recall that the eddy momentum equations are

— /
DO ()
T oy or

and

o o\, ., 0d

multiply these equations respectively by pou’ and pgv’ and add the resulting equations.

a /
" (at * “a> v (f ) a) W't + pou' S = pou' X',
and
o _0 o’
Po (675 + uax) v + po fou'v' + pov’ oy = pov'Y’
Adding these two equations together results in
10 10 _ou”? _ O’ Ju o’ foNid
3% (pou'?) + 35 (pov") + pott 5. P05 +POU/U,87y + pou’ 5+ pov/ 5y~ pou’ X'+ pov'Y’
Consider
0’ o’
. /(p/ — / (bli
0x (u ) R * 0x
o’ 0 ou’
R 5 _ - (UICI)/) _ (plal
x x x
0’ 0 o’
Similarly, v’ =— (Vo) - d'—
imilarly, v'— ay (v ) 3y
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After applying zonal and global averaging

—2 —2 -
i pot! i pov’ *ﬁ a2 *é 2 ﬁ@ E P/ /
dt< 2 >+dt< > >+<p0“ax<“> +{(pogy (7)) + pout's . )+ po | gy (W) — 2

0 i 07

+ <P0 (&;(U@/) -0 By >> = (pou' X") + (pov'Y”)

o —
Since 8—( ) = 0 and assuming v'® = 0 for y = +D, we get
x

—2 2 —_— —
d w4 ——0u ,ou’ ,0v' _ T LN
dt<p0 5 >+<Pouvay Po ‘1>ax+‘1)8y = (po (WX"+0'Y"))

—2 =2
d u” o\ ,(ou O —0u ——
dt</002>—<p0<1> <8x+8y — pouva—y —|—<p0(uX +?}Y)>,

the eddy kinetic energy equation.

p Lo 0%
N2 0z

!/ / 2F /
[8 <8<I>>+8 (8@)+ ,8<I>+N2w,_nj,]p08q) 0

Recall the eddy thermodynamic energy equation and multiply it wit

o\ oz ) "or\az ) Y o H' | N2, ~

0

aveai\a: ) Tantan\ae ) T NTaya:t ar TP e T NeEY 0r
After applying zonal and global averaging

d | py (092 po 0°T [ 9% 0 por O\
dt<2N2<8z * N2 9ydz Y0z AP )T N2HJ 0z =0
cd oo (0NN [ 09T\ [ opo 07 (0¥ L[ por 09
“Tdt \ 2N2\ 0z N PO s, N2 9ydz 0z N2H™ 9z [’

the eddy potential energy equation.

po O <aq>’>2 poti O <a<1>'>2 po 0%°® 00 0P por 0% _

The first term on the right of the eddy kinetic energy equation when using the eddy continuity equation
ou' o' 10
[ == v — o[ —— = /
<P0 <8x + oy >> <po ( 0 07 (pow )>>
0
- (= /
(#5 (o))

5 o

55 (@ (pow')) = @' == (pow’) + (pow') 7~
o oo 0

L= (pow') = pow' 5~ = o= (¥ (pow'))

Consider
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B AN
after assuming that w’ = 0 at z = 0 <i.e. <p0 aaw’<1>’>> .
z

/

0z

energy equation, this term expresses the conversion between eddy kinetic and eddy potential energy.

Since the term { pow’ is equal to minus the first term on the right of the eddy available potential

0P 0 0P’
Consider the term — { 222~ < (v’ 5 > > of the zonal-mean available potential energy. This term is
z

N2 9z 0y
further analysed by considering

o [od" [ ,00 0’ [ ,00' n o® o [ ,00
— v = v ——|v .
dy | 0z 0z 0yoz 0z 0z Oy 0z
. . . . ov
Since the term on the left vanishes after applying zonal and global averaging because ( — =0 ) aty =

dy
+D, . .
L[ 020 [ O¥NN [ 0P (0
N2 9z 0y 0z N N2 9ydz 0z '
Therefore, the second term of the eddy potential energy equation is equal to minus the first term on the

right of the zonal-mean potential energy, and therefore is the conversion term between eddy and zonal-mean
available potential energy.

Next we summarise the four energy equations we derived above as follows:

§74 pou’
Mean kinetic energy <K = <2 >>

d u? ou —
£(8) - o)
= 2
— )
Mean available potential energy [ P = Fo_ 8—
2N2 \ 9z
d [ p (92\\ L AN R
dt \ 2N2 \ 9z N2 H 0z N2 0z 0y 0z
o’
Eddy kinetic energy | K’ = POy

d | o +v” —du S —
g\ T )T - POUU@ + (po (VX" 4+ 0'Y7))
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£0 W

Eddy available potential energy | P/ = IN? <8z>
dfm (00VN (mowo (9, [ g 5T

dt \ 2N2\ 0z N N2 0z 0y 82 N2H 0z

The term that represent energy transformations are

[PeK] =

[PreK'| =
=)

/ = &@i /,/8(1)/
[P .ﬂ - <N2 0z Oy (b 0z

The terms describing energy sources are

po JK 0P , pok 0P
= (P IROTN and R = /
R <N2 H az> and K= g’ 52

The terms describing energy sinks are

= (pouX) and & = (py (VX' +0v'Y"))

The four energy equations can then be simplified

%F: [K'e K| +2+

%F:— + R+ [P eP]
%K’: — [K' e K| +¢
%P’:— — [P e P|+ R

Note on notation: [A e B] means that there is an energy conversion from energy form A to energy form B.

The equation for the rate of change of total energy becomes

G K+ K +P+P)=e+R+e+R
=R+R+ g+¢
—— ~——

sources dissipation
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R

(energy source)

o Tk 0%
N2 H 0z

(diabatic heating,
including differential
solar heating)

P

o (08)?
N7 \ 92

(energy in terms of
differential thickness
(temperature))

</)() Wy, >

(upward mean
bouyancy fluxes)

<
(energy sink)

K

polt*
2

(energy resulting
from zonal mean flow)

< plﬂ7>
(dissipation by
zonal-mean friction)

Total eddy energy
(P'+K')

P

(involves meridional

! |
- :
' 1
! 1
' 1
! = —r '
V020 (00 .
T O\NZ 9z 0y 9z 1
' ‘
' 1
] eddy heat flux) '
'

'
: 1

R

(energy source)

Pok ]/(‘9@’
N2HY 9z

(generation of eddy
potential energy by
diabatic processes)

/ (energy i.t.o differential
eddy thickness)

()

(upward energy

' |
- :
H '
H '
' '
' —_— '
! 109" '
oW =~

! </ oW g, > :
! '
' '
' bouyancy fluxes) '
- :
'

—2 2
w4’
</J() o) >

(energy from eddy fluxes)

O : sources/sinks
D : reservoirs

'
'
'
'
'
'
'
72y 0T '
UV - 1
</)(l ()!/> ' ' : : conversions
(poleward fluxes) |
'
'
'

(energy sink)

(0 (@74 577)

(dissipation by eddy
horizontal friction)

For adiabatic processes (take note that synoptic-scale motions are approximately adiabatic outside regions
of active precipitation) the diabatic heat rates can be ignored with the result that R and R’ vanish. Moreover,
when there is no dissipation of kinetic into thermal energy as a result of turbulent drag force causing friction,

d _
then £ and &’ vanish. The result is that the total energy is conserved, i.e. — (K + K’ + P + P') = 0.

dt

d _ _
In the long-term pn (K 4+ K' + P + P') must vanish, so that R + R’ = —(g + ¢’). This equation implies

that the production of available potential energy through zonal-mean and eddy diabatic processes, must be
able to balance the sum of the mean and eddy kinetic energy dissipation.
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Explaining two specific integral

simplifications

Referring to Holton, James R.: Introduction to Dynamic Meteorology, 4th edition, 2004, Elsevier.

The equations (8.40), on page 248, call on us to evaluate the integral

L
/ cos k(x + xg — ct) sink(x — ct)dz,
0

and, as a consequence, also the integral

L is to be taken as the period of the sine and cosine wave expressions. Hence,

or

for some positive integer n.

Preliminaries

Pr.1

Compound angle identities:

L
/ [sin k(z — ct)]? da.
0

27
L=—
k
2mn
L=—
k"

( ) =sin B cos C + cos BsinC
sin(B — C') = sin B cos C' — cos Bsin C
( ) = cos BcosC' — sin Bsin C'
( ) = cos B cos C + sin Bsin C
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The following double angle identities are obtained from these, by setting C' = B:

sin2B = 2sin Bcos B
cos 2B = cos®> B — sin® B
=2cos’B—1
=1-2sin’B
because sin® B + cos®> B = 1.
Pr. 2

The analytic sine and cosine functions:

In order to be able to do calculus with wave functions, it was found to be necessary to introduce radian mea-
sure. The trigonometric concept ‘angle’ is modelled (or replaced) by a pure real variable that corresponds
to the arc length of a circular arc with radius = 1 unit, subtending the angle at its centre.

Since a circle with radius » = 1 has circumference P = 27, we obtain for the analytic R-R-functions sin
and cos:

sin(0) =0

LT
sm(—)zl

2
sinmt =20

3T
(27 =

sm( 2)
sin27 =0
cos(0) =1

T
Z)Y=0

s (3)
cosm = —1

3T
Z)l=0

s ()
cos2m =1

At the annoying cost of having to express the independent variable in terms of 7 in all applications that
involve waves, we obtain the happy results that

—sinz = cosx

dx

%sin k(x —v) = kcosk(z —v)
%cosx = —sinzx

%cos k(x —v) = —ksink(z — v)
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where k£ and v are independent of x.

Not only do integration and differential equations become humanly consumable, but many more satisfying
consequences follow, in particular, we get the power series expansions:

o w3 2P
i T
_q 2?2t
cosx = _5—1_1_.“

Pr.3

The zy graph of a simple wave:

v L ! -
y = Asin Z(z — v) / v+2\i/v+L

The analytic functions sin and cos have amplitude = 1, and period = 27. In order to model more general
waves by means of these functions, the equations y = sin z, y = cos x are easily adapted.

It is customary to introduce a parameter, say k, related to the period, L, such that

27r’ I 2T

L=2 = — —
k w, k 7 =

2
The adaptation y = Asin I(.I —v) = Asink(x — v) is shown in the sketch above, for a sine-based

application. For a cosine-based application, see the sketch below:

Y
A

r'd

y = Acos T (z —v)

cfk-----

2
In general the xy-graph of the equation y = A sin k(x — v) is a sine wave with period % and amplitude A,

L 2
with Ymax = A, Ymin = —A, and zeroes y = 0atx = v, v+ —, v £ L, - -, where L. = period = % The

parameters k, A and L are understood to be constants (independent of z).
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The same applies to the cosine equation y = A cos k(z — v), except that z = v, v + L, v £ 2L, -- -, now

L 3L
correspond to the points at which y = A, whilex = v £ 7Y + 50 give the points at which y = —A.

2
So given a simple wave with amplitude A, period L, and offset v, set k = g; then the xy-graph of the

wave is y = Asink(x — v) ory = A cos k(x — v) depending on the role of the parameter v.
Pr. 4
The essence of a periodic function:

When kL = 2, so that L is the period, then sin k(a + L) = sin k(a), and cos k(a + L) = cos k(a), for all
a-values.

This can be shown by means of the compound angle identities (Pr. 1), but it is actually obvious from the
graphs.

In the work that follows, we will actually have occasion to look at the related facts that cos 2k(L — ct) —
cos 2k(0 — ct) = 0, and sin 2k(L — ct) — sin 2k(0 — ct) = 0, the period being g for these wave functions.
Pr. 5

Two useful derivatives, with corresponding indefinite integrals:

Pr.5.1

If the parameters k, ¢, ¢ are independent of the variable x, then

% [cos 2k(z — ct)] = —2k sin 2k(z — ct)
= —4ksin 2k(x — ct) cos 2k(x — ct)

by Pr. 1.

Therefore
/ —4k [sin 2k(x — ct)] [cos 2k(x — ct)] dx = cos 2k(x — ct) + C

Furthermore, if kL = 2, then it follows that
L
/ sink(z — ct) cosk(x — ct)de =0
0

by Pr. 4.
Pr. 5.2

If the parameters k, c, ¢ are independent of the variable x, then

d
. [sin 2k(z — ct)] = 2k cos 2k(x — ct)
=2k [1 — 2sin® k(z — ct)] byPr. 1

= 2k — 4k sin? k(x — ct)
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Therefore
/ 2k — 4k sin® k(2 — ct)] dz = sin2k(z — ct) + C

Furthermore, if kL = 27, then it follows that
L
/ 2k — 4k sin® k(z — ct)dz = 0
0

by Pr. 4.

Holton’s integrals
By Pr. 1:

cos k(x + xo — ct) = cos [kxo + k(z — ct)]

= cos kxg cos k(x — ct) — sin kxg sin k(z — ct),
therefore, multiplying both sides with sin k(x — ct):

cos k(z 4 zg — ct)sink(z — ct) = cos kxg [sin k(x — ct) cos k(x — ct)] — sin kxg sin® k(z — ct)
We can now attempt the integral:
L L L
/ cosk(x 4+ xg — ct) sin k(x — ct)dx = cos kxg / sink(x — ct) cos k(x — ct)dx — sin kxg / sin? k(x — ct)dx
0 0 0
L
= —sin k:xo/ sin? k(x — ct)dz,
0

because the first term = 0 by Pr. 5.1.
This result agrees with (8.40) as given by Holton.
We continue with the second integral:

L 1 L
/ sin? k(z — ct)de = —— —4ksin® k(z — ct)dx
0 4k Jo
1t 1 [t
=% —2kdz — 4k/0 2k — 4k sin® k(z — ct)] dz
2k [
= — 1d 0 byPr.5.2
1% J, T+ y Pr.
1

§(L—0)

N |~

Again, we get it right, according to Holton!
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